5 Port Solenoid Valve
[ Metal Seal ]{Rubber Seal] c €

B Compact and.latnge flaw. cagacity.

\VA®I@2Z:10[0[0R Possible tadrive_nvinders untp __ @ 160
\WLOIStSIO 0[Ol Fossible to drive cylindersupto @ 180 e e aversge specie 200 s

VQC4000: 25 mm pitch
Q [/min (ANR)]: 1958*

VQC5000: 41 mm pitch
Q [I/min (ANR)]: 4350*

# 2-position single, rubber seal: 4/2 — 5/3 (A/B = R1/R2)

B Extensive range of
protocols available
soam  EthercATw CAN- o

f Ethenet/IP  2omae

ol
|

B Connector type
manifold

ETHERNET Sl 0 B0 I

Devicei'et (-1 ink POWERLINK

* EtherNet/IP™ and PROFINET are compatible with wireless systems

B Power saving

| Power consumption [W] | Maximum operating pressure [MPa]

Current product O . 5 (1.0) O . 7
@y VQC ‘ @E,é!! (0.95) .ﬂ u@

+ Low wattage type ( ): Standard

PRI R (8= 100 million cveles
g » y |\

| Ife + According to SMC life test conditions

mEnclosure P67 compliant \

+ Except F and P kits

Series VQC4000/5000

CAT.EUS11-108Aa-UK



] istics Note 1)
Model Vil pitCh Flow-rate characteristics
(Series) [mm] Metal seal Rubber seal
C [dm&/(s:bar)] b Cv_ |Q [l/min (ANR)] Nete2) | C [dm?®/(s-bar)] b Cv_ | Q [l/min (ANR)] Nete 2)
VQC4000 25 6.9 017 | 1.7 1625 7.3 0.38 | 2.0 1958
VQC5000 41 14 0.18 | 34 3316 17 031 | 4.7 4350

Note 1) Flow-rate characteristics: 2-position single, 4/2 — 5/3 (A/B — R1/R2)
Note 2) These values have been calculated according to ISO 6358 and indicate the flow rate under standard conditions with an inlet pressure of
0.6 MPa (relative pressure) and a pressure drop of 0.1 MPa.

B Applicable to EX600 (Input/Output) ‘serial transmission system
(Fieldbus system)

Compatible Protocols

(CLink 7] Devicei'et zIZZEE Ethervet/IP EtherCAT - gaagse’

I Reduction in wiring time with SPEEDCON (Phoenix Contact).
Just insert and make 1/2 rotation!

.

.....
..
cee.
.....

Handheld
Terminal

| Self diagnosis function

It is possible to ascertain the maintenance
period and identify the parts that require
maintenance, by an input/output open circuit
detection function and an input/output signal
ON/OFF counter function. Also, the monitor-
ing of input and output signals and the set-
ting of parameters can be performed with a
Handheld Terminal.

'Analogue Unit can be connected
with analogue input device or

analogue output device.

As well as a Digital (switch) Input/Output Unit, a
Unit applicable to analogue signal is provided,
and can be connected with various device for
control.

| Max. 9 Units M can be connected in any order.

The Input Unit to connect input device such as an auto switch, pressure
switch and flow switch, and the Output Unit to connect output device such
as a solenoid valve, relay and indicator light can be connected in any order.

Note) Except S| Unit

1 Z;SNC




5 Port Solenoid Valve

W E X260 (Output device for driving 5 port solenoid valves)

Compatible Protocols POWERLINK A a
. pact | |
‘%%W Device\'et CC-L ink 2 8 ‘_ ¥

i mm ;
;%’5%';5 Ether'et/IP  EthercATS L:J

\ Y .

-

Number of outputs =~ Each 32/16 digital output type available in the series

Output polarity Each negative common (PNP)/positive common (NPN) type available in the series

Enclosure IP67 (For Units with D-sub connector, and when connected with S0700 manifolds, it is IP40.)

Internal terminating ON/OFF switching is possible with an internal terminating resistor for communication.
resistor (Only for Units compatible with M12 PROFIBUS DP, CC-Link communication connectors)

B A wide variety of prepackaged wiring configurations
gzatrial transmission) :gfsub connector) E FFiItat ribbon cable) FTI (tarminal block box) Fl_i:ead wire) :(Ciitrcular connector)

25 core cable

IP40 enclosure IP67 enclosure IP67 enclosure IP67 enclosure
compliant compliant compliant compliant

® The six standard wiring packages bring a world of ease to wiring and maintenance work, while the protective enclosures of four of them conform to IP67 standards.

® The S kit is compatible with a combined I/O Unit. (Not applicable to Gateway Unit)

26 pins
20 pins

IP67 enclosure IP40 enclosure
compliant compliant

[ | CO nnector type man |f0|d Connector Wiring Diagram (Mixed wiring)
12 3 45 6
® The use of multi-pin connectors to replace wiring inside | oy jB ﬁ ﬁ c AT
manifold blocks provides flexibility when adding stations or 1—f J it *ZJ — o
changing manifold configuration. eV 3z / BIE / 3 3
e All kits use multi-pin connectors, so switching from the F kit s — |/ = o -
(D-sub connector) to the S kit (serial transmission) can be 2_, 6 6/ || 16 6[[[[6 6[[[[6 6
H H B : 7 7 7 7 7 7 7 7
done simply by changing the kit section. ; — 3l TTs s SINE 5
- X 9 |12 9llllo 9l lll9 9[|l]e 9
. ) 10— {10 10| [[ 10 10 |[ Lo 10{ || Lo 10
(R_efer to th_e connector wiring diagram.) J1o 108N 10 108810 - 108
Printed circuit board patterns be- | cowm. { 20 20| [[120 20 1120 20/ 1120 20
twee_en conr_1ectors are sh_n‘ted at every S LS Hig LI L
station. This allows for viable connec- Station 1 Station 2 Station 3 Station 4
I Il tlons_to_ take place without ne_cessarlly Double wiring Single wiring Double wiring Single wiring
- specifying whether the manifold sta-
Lor tion is double, single, or mixed wiring.
Connector
®m Connector entry direction can be
changed with a single push.  Fr iy
The connector entry direction can be changed from the top to the side by
simply pressing the manual release button.
It is not necessary to use the manual release button when switching from
the side to the top.
ZS\NC 2



Series VQC4000/5000

Sub-plate/Base Mounted: Variations

Flow rate
characteristics
Q [I/min (ANR)]

Serial transmission

(C\X_a lie;'XH) SI Unit series EX600 EX500 EX260 EX250 EX126
(412 - 5/3) PROFINET ° ° PS
" EtherCAT @ o o
. . g EtherNet/IP™ () () () ®
- te #2 E PROFIBUS DP ° Y Y PY
@ | DeviceNet™ [} [ ] (] ()
Sub-plate %_ CET d L L L
_ § AS-Interface [ )
g CANopen o
o g EtherNet POWERLINK )
— 2 | 3
k i--:,.}- (@] o serial wiring
w ' .‘ " %, % _’-.,_: - Gateway application . e .
e Yeglees | 5 | 5 S R gy R
2 Sl | 7 T g
Base mounted o RS, : > ﬁr’ '

e :
! g L
L L
i'#&
Serial Unit: e Serial Unit: Serial Unit: Serial Unit:
EX600 Syl Uifie EX260 EX250 EX126

IP67 compliant EX500 1P40 compliant IP67 compliant IP67 compliant
P67 compliant IP67 compliant

. VQC4LI00 | 1625 | 1492
Series

vVQC
4000

VQC4L101 | 1958 | 1767

; VQCS5[00 | 3316 | 2681
Series

VQC
5000

VQC5[]01 | 4350 | 3462

Rubber seal  Metal seal Rubberseal Metal seal

T
(3]
g VQC4[I00 | 1625 | 1492
[}
Series =
VQC [ [ [ [ ] [
4000 | Page 11 Page 11 Page 11 Page 11 Page 11
(3]
(%]
o VQC4[101 | 1958 | 1767
3 3
- =)
5 x
(=]
b=
2 T
& ]
i VQCS5LI00 | 3316 | 2681
=
Series
VQC [ [ ] [ ] [ [

5000 Page 47 Page 47 Page 47 Page 47 Page 47

VQCS5LI01 | 4350 | 3462

Rubber seal

O
2



5 Port Solenoid Valve

Fae | Pxe | Tee | Lo | M | Porsize
D-sub connector Flat ribbon cable Terminal block box | Electrical entry | Circular connector E%’: port |Cylinder port
D-sub connector Flat ribbon cable Terminal block box Lead wire Circular connector
Compatible with D-sub Compatible with flat (Terminal blocks) IP67 enclosure with IP67 enclosure with
(connector that complies) ribbon cable connec- use of multiple wire ( use of waterproof )
with MIL standard. tor that complies with Terminals are con- cable with sheath and multiple connector
MIL standard. centrated in compact | \waterproof connector
clusters within the ter-
minal block box.
1,3 2,4
(P.R) (A B)
26 pins/20 pins
IP67 compliant IP67 compliant IP67 compliant
1/4 1/4
3/8 3/8
(Re, NPT, NPTF, G) | (Rc, NPT, NPTF, G)
1/2 1/2
(Re, NPT, NPTF, G) | (Rc, NPT, NPTF, G)
C6 (for @ 6)
<SUP port> C8 (for @ 8)
12 C10 (for @ 10)
(Re, NPT, NPTF, G) | €12 (for ©12)
N7 (@ 1/4")
() [} () ) o N9 (@ 5/16")
Page 21 Page 23 Page 25 Page 27 Page 29 N11 (@ 3/8")
<EXH port> |1/
3/4 3/8
(Re, NPT, NPTF, G) | 1/4 (Bottom ported)
(Re, NPT, NPTF, G)
<SUP port>
D side 1/2
(Re, NPT, NPTF, G)
U side 3/8 38
(Re, NPT, NPTF, G) 12
® ® ® ® o 1/2 (Bottom ported)
Page 57 Page 59 Page 61 Page 63 Page 65 <EXH port>
. (Re, NPT, NPTF, G)
D side 1/2
(Re, NPT, NPTF, G)
U side 3/8

(Re, NPT, NPTF, G)

O




Cylinder Speed Chart

Bore size

Series CJ2
Pressure 0.5 MPa
Load ratio 50 %
Stroke 60 mm

Average speed
[mm/s]

Series CM2
Pressure 0.5 MPa
Load ratio 50 %
Stroke 300 mm

Series MB, CA2
Pressure 0.5 MPa
Load ratio 50 %
Stroke 500 mm

Series CS1, CS2
Pressure 0.5 MPa
Load ratio 50 %
Stroke 1000 mm

g6 | @10 | @16

@20 | @25

232

@40 | @40 | @50 | @63

2 80

@ 100

@125 | 140 | @ 160 | @ 180 | @ 200

250

1100

1000

900

800

' 1 Horizontal

B vertically upward | |

700

600

500

400
300
200
100

0

!

!

* Values at extension of a directly coupled cylinder when meter-out speed controllers are used with the needle full open.
* The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.
# The load ratio is obtained by the following formula: ((Load mass x 9.8)/Theoretical output) x 100 %

Conditions
Base mounted Series CJ2 Series CM2 | Series MB, CA2 | Series CS1, CS2
Tube x Length TO604 x 1 m T1075x1m T1209x1m
Speed controller AS3002F-06 AS4002F-10 AS4002F-12
Silencer AN40-04 | AN40-04

Conditions [Wit

h SGP (Steel Pipe)] _

Body ported Series MB, CA2 | Series CS1, CS2
Tube x Length SGP10AXx1m
Speed controller AS420-03
Silencer AN40-04

This chart is provided as guidelines only.
For performance under various conditions, use SMC's Model Selection
Software before making a judgment.

VQC5000

Bore size
Series MB, CA1 Series CS1
Average speed | Pressure 0.5 MPa Pressure 0.5 MPa
[mm/s] Load ratio 50 % Load ratio 50 %
Stroke 500 mm Stroke 1000 mm
@ 50 @ 63 @80 | @100 | @125 | @140 | @160 | @180 | @200 | & 250
i;gg [ 1| Vertically upward | |
900 I 1 Horizontal ||
800
700
600
500
400
300
200
100

+ Values at extension of a directly coupled cylinder when meter-out speed controllers are used with the needle full open.
* The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.
* The load ratio is obtained by the following formula: ((Load mass x 9.8)/Theoretical output) x 100 %

Conditions
Speed controller Silencer | SPG (Steel pipe) dia. x Length
AS420-04 AN40-04 10Ax1m
5

O
2



Sub_plate/Base MOUNTEA: VAITALIONS «c v e et e ettt ettt ettt ettt et e e e e e Page 3

Cy||ndel' Speed Chart ............................................................................................................................... Page 5

Series VQC4000

Plug_ln Slngle Unlt ....................................................................................................... Page 7
Plug_ln Unlt: Manlfold .................................................................................................... Page 11
S Kit (Serial transmission kit): EX600 [IP67]/ ......................................................... Page 15

EX500 [IP67]/EX260 [IP40/IP67]/
EX250 [IP67]/EX126 [IP67]

F Klt (D-SUb Connector klt) [|P40] ......................................................................... Page 21
P K|t (Flat I’IbeI’] Cable k|t) [|P40] ......................................................................... Page 23
T Klt (Terminal bIOCk bOX klt) [|P67] ...................................................................... Page 25
L Kit (Lead wire klt) [|P67] ................................................................................... Page 27
M Klt (CII’CU|aI’ COﬂneCtOf klt) [IP67] ...................................................................... Page 29
COHS'[I’UC'[iOI’l ................................................................................................................. Page 31
Exploded VleW Of Manlfold ............................................................................................ Page 32
SpeCIfIC PrOdUCt PrecaUtIOI’lS ........................................................................................ Page 37

Series VQC5000

PIUG-IN: SINGIE UNIL  +veeeeseeeee e Page 43
PIUG-iN UNit: MANIFOIA  -veeveeseeeseeeemee s Page 47

S Klt (Serlal transmlsslon klt) EXGOO [|P67]/ ......................................................... Page 51
EX500 [IP67]/EX260 [IP40/IP67]/
EX250 [IP67]/EX126 [IP67]/
F Kit (D_Sub connector k|t) [|P40] ......................................................................... Page 57
P Kit (F|at ribbon cable k|t) [|P40] ......................................................................... Page 59
T Kit (Termina| block box k|t) [|P67] ...................................................................... Page 61

L Kit (Lead wire k|’[) [|P67] ................................................................................... page 63

M Kit (Circular connector k|t) [|P67] ...................................................................... page 65

CONSITUCTION s vceertrteetsmtaeissiaetstioetuniaeissiaeiosioeianiaeiossastostostonsasiossasiossastoseneioasssoiassnstasencnes Page 67
Exploded VieW Of Manifold cccccvrrrmmm e e Page 68
Specific Product PreCaAULIONS  «+tccccereeerrosetettttttiuniiitteteiostttiomusiotesstssetttssossiosesssosesstssanssss Page 73

IE)ép;Iﬁﬂdaerﬂf;/IEW IcOnstruction I Manifold ISingIe Unit

Specific Product
Precautions

IConstruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l



Base Mounted

Plug-in: Single Unit

Series VQC4000 ce

Model
Flow-rate characteristics Response time [ms]
Series | Configuration Model Z(Z): 1- 4/2 (P > AB) 42> 5/3 (A/B > EAIEB) | g Lowtywartage V‘/[ig]ht
- - pe:
Clmisban)] b | Cv Q“'E"STJSNR” Clmysbar)) b | Cv Q["WO'I”E(QNR” 0.95W | 1y
. Metal seal | VQC4100 6.2 0.19| 15 1477 6.9 0.17 | 1.7 1625 20 22
5| Single 0.23
E= Rubber seal | VQC4101 7.2 043 | 2.1 2002 7.3 0.38 | 2.0 1958 25 27
8— Metal seal |VQC4200 6.2 019 | 15 1477 6.9 0.17 | 1.7 1625 12 16
« | Double 0.26
Rubber seal | VQC4201 7.2 043 | 2.1 2002 7.3 0.38 | 2.0 1858 15 17
Closed | Metal seal |VQC4300 59 [023| 15| 1438 6.3 |018| 1.6 | 1492 45 47 028
centre | Rubber seal | VQC4301 70 |034] 1.9 | 1827 6.4 |042]| 1.9 | 1767 50 52 '
VQC4000 3/8
Exhaust | Metal seal |VQC4400 6.2 |0.18]| 15 | 1469 6.9 |017| 1.7 | 1625 45 47
S 0.28
% centre | Rubber seal VQC4401 7.0 0.38| 1.9 1877 7.3 0.38 | 2.0 1958 50 52
c% Pressure| Metal seal |VQC4500 6.2 |0.18]| 1.6 | 1469 64 [018| 1.6 | 1516 45 47| o
centre | Rubber seal VQC4501 7.0 0.38| 1.9 1877 7.1 0.38 | 2.0 1904 50 52 '
Double | Metal seal |VQC4600 2.7 — | — | 584 3.7 — | — | 800 55 57 050
check | Rubber seal | VQC4601 2.8 — | = 606 3.9 — | = 844 62 64 ’

I
- .’.' . &
L W
g 1 F

]
"I.

Symbol

2-position singl
(A
4

St

5

e
)(B)
2

13

(R1)(P)R2)
2-position double (Metal)

(A
4

)(B)
2

EHs

5
(R1)(
2-position double

13
P)(R2)
(Rubber)

(ﬁ) (g)

ol

513
(R1)(P)(R2)

- il Plug-in unit
bom
-

3-position closed centre
(A)(B)

513
(R1)(P)(R2)
3-position exhaust centre
(A)(B)

AT T

513
(RI)XP)R2)

3-position pressure centre
(A)(B)

4 2

513
(R1)(P)R2)
3-position double check

®)
4 2

AT

513
(RL)P)R2)

Note 1) Cylinder port 3/8: Value for valve on sub-plate

Note 2) Based on JIS B 8375-1981. (Supply pressure: 0.5 MPa, with indicator light and surge voltage suppressor,
clean air. This will change depending on pressure and air quality.) The value when ON for the double type.
Note 3) Table: Without sub-plate, With sub-plate: Add 0.41 kg.

Note 4) These values have been calculated according to ISO 6358 and indicate the flow rate under standard
conditions with an inlet pressure of 0.6 MPa (relative pressure) and a pressure drop of 0.1 MPa.

Standard Specifi cations

Valve construction Metal seal Rubber seal
Fluid Air/Inert gas
Max. operating Standard (DC and AC) 1.0 MPa
. pressure Low wattage type (DC)
S . ~ |single 0.15 MPa \ 0.20 MPa
E mzs‘iﬂzra"ng Double 0.15 MPa
g 3-position 0.15 MPa \ 0.20 MPa
& Proof pressure 1.5 MPa
% Ambient and fl uid temperature -10 to 50 °C Note 1)
> Lubrication Not required
Manual override Push type/Locking type (Tool required)/Locking type (Manual)
Impact/Vibration resistance 150/30 m/s2 Note 2)
Enclosure Dust-tight (IP67 compatible) Note 3)
» | Coil rated voltage 12,24V DC
K é Allowable voltage fl uctuation +10 % of rated voltage
§ ; Coil insulation type Class B or equivalent
w §_ Power consumption 24V DC 0.95, (0.4 low voltage type)
oW 12V DC 0.95, (0.4 low voltage type)

Note 1) Use dry air to prevent condensation when operating at low temperatures.

Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction
and at the right angles to the main valve and armature in both energised and de-
energised states every once for each condition. (Values at the initial period)
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was
performed at both energised and de-energised states in the axial direction and at

the right angles to the

Note 3) Only applicable to S, T, L and M kits

main valve and armature. (Values at the initial period)



Plug-in: Single Unit  Series VQC4000

How to Order Valves C E

T oo (Hlofol]- LI

——e Thread type
— Rc z
. N | NPT -
Type of actuation T | NPTF =
=
2-position single 3-position closed centre 7]
POt o P ®® _ F G | -
3 ® Port size
513 13 Without sub-plate o
RD(P)(R2) (RD(P)(R2) - (For manifold) o
2-position double 3-position exhaust centre c
- p o p &® 02 1/4 g
g 4 03 3/8
s —
513 513
(RO(P)(R2) (RL)(P)(R2) ) . ifi . 5
2-position double 3-position pressure centre DPOftIng specifi_cations b=
g @6 @0 — Side ported =
a =
£ 5 B Bottom ported 2
[ S
RSB R2) ) ¢ O
3-position double check ® Manual override
Note) 6 é =)
—: Non-locking B: Locking type| C: Locking type > 9
push type (Tool required) (Manual) 3 S
513 . k=] s
(RL(P)(R2) (TOO| reqUWed) (') %“_
Note) For double check type, ] °
refer to the catalogue of | c—
the VQ4000/5000 series k5]
on website www.smc.eu é g
a5
£33
S e
8_0_
Bod -
ody & .
y ®| ight/Surge voltage suppressor
0: Plug-in — Yes
sub-plate Seal ® E | Without light, with surge voltage suppressor
0 Metal seal
1 | Rubber seal o Coil voltage
Function e 5 24V DC
6 12V DC

— Note 1) Standard (0.95 W)
Y Low wattage type (0.4 W)
R Note 2) External pilot

Note 1) When the power is energised continuously, refer to “Specific
Product Precautions 1” on page 37.

Note 2) For details about external pilot type, refer to the catalogue of
the VQ4000/5000 series on website www.smc.eu. In
addition, external pilot type cannot be combined with a
double check spacer.

Note 3) When multiple symbols are specified, indicate them
alphabetically.

How to Order Sub-plates C €

IConStruction I Manifold ISingIe Unit VQC5000 [

vQ4000-PW-[ [[02] |-0

Porting specifi cations i Thread type

Exploded View
of Manifold

— Side ported — Rc

B Bottom ported N NPT
Port size L L
02 1/4 F ¢ ! Replacement of pilot valve assembly
03 3/8 1 (Voltage)

Specific Product
Precautions

' - Refer to page 35 for pilot valve assembly
1 part numbers. ,
: - Refer to page 38 for replacement method. :

l



Series VQC4000

Dimensions: Plug-in Type

Conduit terminal

2-position single: VQC410 -9 O

|
&% — % ‘ £
! o | ! 1
5 .
! @/ 1 ! 1
| N ‘
£ | 3 | | @
e | ‘ A R
| m
| —— O .
‘ ~ 08 § ~ & o :r'
: ~ g o% § N r r :; o~ 8 ™
l — Soood —~
19.5 | 19.5 1/8"
" 21) | (21 External o1t Dot
6 112 1/8 (21) | (21) External pilot port
- PE. port 31 31
Electrical entry
1/4", 3/8"
2 156 1(P), 4(A), 2(B), 5(R1), 3(R2) port
50
23.5 | 235
@ooo0oo] Indicator light 158
5 N A < 90 50
'@' ‘ ol o 11 (12.5) 11 (12.5)
T T 1 N 2 oS 4(Alp?rt1 HZ(B) port
< A\ ‘ r{z — ‘ EJ - S - i
= o 1 I I I (s 1 P~ 1™
2x@5.6 1331135 = o8 3= NME
. 30 45 @ &
Mounting hole / ‘ i 7N
14", 3/8" O 8 ¢ @ o9
(5(R1), 3(R2) port: 1/4") Opos :“D' 30 45 2X@5.6
. Manual override Mounting hole
Bottom ported drawing (' ): Values for 3/8"
2-position double: VQC420 -? I 3-position double check: VQC460 -9 [J
3-position closed centre: VQC430 -0
3-position exhaust centre: VQC440 9-0 | |
3-position pressure centre: VQC450 9-00 T T
| |
| | | | -B
S - !
[ i ]
‘ ‘ G112
| ‘ | @ [ 0 9
D=0 2 ol b N oy o
2 <3 © — © H
| ey e RN D L HOD Y=l
E %ocogcg ! g “° Onnoog i &% ?N m
18" 19.5 [ 19.5 1/8" 18"
—termal ilot bort 19.5/19.5 1/4",3/8"
21 21 External pilot port .
G2  PEpot 20 (@) pilotp PE. port RN 1(P) 4(A).2(8) 5(R1).3(R2) port
Electrical entry 1/4", 3/8" 31 31
1(P), 4(A), 2(B), 5(RL), 3(R2) port
Indicator light 181
2 167 2 73
59 90 50
9 50 11 (12.5) 11 (12.5)
4(A) port 2(B) port
11(2.5) 11(25) Indicatorl(i )hf o
4(A) port 2(B) port g
L s 1
I [of &% r [gre = i
I a) = 1 1 9lw|wo
S i S S B I T pe @C@E@ 2o 332
| 7Sy a 1| S (w8 0§ & =@
| o |me o = =4 Gososont] 2 e
30 45 2x@56 Manual override 2x35.6

Manual override

Mounting hole

O
2

Mounting hole

[ Values for 3-position
(' ): Values for 3/8"




onopoud |ap onopoud [ap
pjojiuew ayayiads plojiuew ayayads
OOO.VOO> e|jobuis eyu plojiue au0IZn1IsoD 9p 0so(ds3 U0IZTEo3)g OoomOO> e|jobuis enu plojiue auoIZnNsoD jop osoids3 0IZITE0a14

10

)



Base Mounted

Plug-in Unit

Series VQC4000 ce

How to Order Manifold

VV5QC4 1-/08

02

TDO0

||

(2]

©

® E B <it

VV5QC41-/16

02

SDQ

- Kit

Series VQC4000

Base mounted plug-in

0 Stations
01 1 station
1.6 16 ste.itions

The minimum or maximum number of stations differs

depending on the electrical entry. (Refer to @)

Note) In the case of compatibility with the S kit/As-
Interface, the maximum number of solenoids is
as shown below, so please be careful of the
number of stations.

8 in/8 out: Maximum 8 solenoids
4 in/4 out: Maximum 4 solenoids

—

=0
[Dside] stations:-1--2--3--4.-5.- 6.-7--8--n [U side]

* Stations are counted from station 1 on the D-side.

9 Cylinder port size

Enter only for
EX600-compliant S kit

C6 With @ 6 One-touch fitting
C8 With @ 8 One-touch fitting
Cc10 With @ 10 One-touch fitting
C12 With @ 12 One-touch fitting
N7 For @ 1/4"
N9 For @ 5/16"
N11 For @ 3/8"
02 1/4
03 3/8
B Bottom ported 1/4
CM Mixed
9 Thread type
— Rc
F G
N NPT
T NPTF

@ Input block COM
(Enter only for S kit compliant with EX250.)

PNP sensor input
or without input block

N NPN sensor input

11

6 S| Unit output polarity

Enter only for

......... 0260060 S5m0

EX250 integrated-type (for 1/0) serial transmission system

1 Uni lari

SI Unit output polarity = N et™ | PROFIBUSDP | AS-nterface CANopen EtherNetIP™
Nil |+ COM — — — — —
N |- COM @) O @) O O

EX260 integrated-type (for output) serial transmission system

I Uni lari

St Unit output polarity | [PROFIBUS 0P| CC-Link | EtherCAT|PROFINET|EtherNetlP™ [enend VRN 10-Link
Nil [+ COM O O O O O O — —
N |[-COM O O O @) O @) O @)

EX500 Gateway Decentralized

Sl Unit output polarity System 2 (128 points)

EX500 Gateway Decentralized System (64 points)

EtherNet/IP™ | PROFINET DeviceNet™ PROFIBUS DP | EtherNet/IP™
Nil |+ COM — — O ©) ©)
N |[-COM O O O ©) ©)

EX600 integrated-type (for 1/0) serial transmission system (Fieldbus system)

S| Unit output polarity

DeviceNet™|PROFIBUS DP| CC-Link | EtherNet/IP™ | EtherCAT [PROFINET| compatible

EtherNet/IP™ | PROFINET i
compatie Wireless
wireless base |wireless base| rémote

Nil |+ COM O ©) ©)

©) ©) ©) O O O

N |-COM ©) ©) ©)

©) ©) O O O O

# Leave the box blank for without SI Unit (SDOLJ, SD60).

e End plate type
(Enter only for EX600-compliant S kit.)
Without end plate
M12 power supply connector, B-coded
718 inch power supply connector
M12 power supply connector INJOUT, A-coded, Pin arrangement 1
M12 power supply connector INJOUT, A-coded, Pin arrangement 2

Note) Without Sl Unit, the symbol is —.
= The pin layout for "4" and "5" pin connector is
different.

(SIENIRIINAR

0 I/0O Unit stations
(Enter only for EX600-compliant S kit.)

— None
1 1 station
9 9 stations

Note 1) Without SI Unit, the symbol is —.

Note 2) Sl Unit is not included in 1/0 Unit stations.

Note 3) When I/O Unit is selected, it is shipped
separately, and assembled by customer. Refer
to the attached operation manual for mounting
method.

Note 4) Refer to page 41 for details about the enclosure.

SvVC

O

@ Input block type
(Enter only for S kit compliant with EX250.)

Symbol Number of blocks
— Without S| Unit (SDO)
0 Without input block
1 With 1 input block
4.1 With 4 inp.)ut blocks
8 With 8 input blocks

@ Number of input blocks
(Enter only for S kit compliant with EX250.)

— Without input block

1 M12, 2 inputs

2 M12, 4 inputs

3 M8, 4 inputs
m Option

— None

K | Special wiring specifications (except for double wiring)

N With name plate (available for T kit only)

SNote)  Direct EXH outlet with built-in silencer

Note) The silencer is built into the R port passage of the end
plate and the silenced air is exhausted from the R port.
* When two or more symbols are specified, indicate
them alphabetically. Example: -KN5



puginunit. Series VQC4000

G Kit type/Electrical entry/Cable length

* Numbers in parentheses represent the maximum number of solenoids in the case of mixed single and double wiring. The total numbe r
of solenoids determines the maximum number of stations. When ordering mixed wiring, please add the option symbol “-K”.

Kit
(Serial transmission kit
(Fieldbus system)

1 EX600 integrated-
type (for 1/0))

Kit

(Serial transmission kit: EX500 gateway-type)

Kit

(Serial transmission kit:
EX260 integrated-type
(for output))

Sl Unit: EX260

IP40 compliant

Construction I Manifold ISingIe Unit VQC4000

Kit
(Serial transmission kit:

EX126 integrated-type (for output) )

Kit

(Flat ribbon cable kit)

IP40 compliant

Note) For a 20P flat ribbon cable, the cable assembly must be ordered separately.

PDOQ | Flat ribbon cable kit (26P) without cable
PD1 | Flat ribbon cable kit (26P) with 1.5 m cable 110 12 stations
S| Unit: EX126 IP67 compliant PD2 | Flat ribbon cable kit (26P) with 3.0 m cable (16 stations, 24 points)
PD3 | Flat ribbon cable kit (26P) with 5.0 m cable
. . 1to 8 stati . . . 1 to 8 stati
SDVB | Serial kit for CC-LINK ‘ (16 stat(i)onss igoggints) PDC |Flat ribbon cable kit (20P) without cable Note) 06 staons

(16 stations, 16 points)

Kit
(D-sub connector kit)

Kit

P67
compliant

FDO

D-sub connector kit (25P) without cable

FD1

11012 stafions

FD2

)
D-sub connector kit (25P) with 1.5 m cable
D-sub connector kit (25P) with 3.0 m cable

(16 statons, 24 points)

FD3

D-sub connector kit (25P) with 5.0 m cable

Kit

(Terminal block box kit)

Kit
(Lead wire kit)

P67
compliant

MDO)| Circular connector kit (26P) without cable

MD | Circular connector kit (26P) with 1.5 m cable | 11912 satons LDO | Lead wire kit, 0.6 m lead wire V012

MD2| Circular connector kit (26P) with 3.0 m cable |(16iaions, 4 pos) . ] tolosions  |LD1 | Lead wire kit, 1.5 m lead wire |5 i
Terminal block box kit . . sars, 24 pors)

MD3)| Circular connector kit (26P) with 5.0 m cable DO (6staons 20paits) || D2 | Lead wire kit, 3.0 m lead wire

+ The maximum number of solenoids displayed in parentheses is applied to the special wiring specification (Option “-K”).

Note 1) When using the Il Unit with 32 outputs use the GW Unit compatible with the EX500 Gateway Decentralised System 2 (128 points).
Note 2) When selecting SI Units with SDTC or SDTD specifications, there are limits to the supply current from the SI Unit to the input block or valve. For details, refer to the catalogue on the website www.smc.eu .
Note 3) When selecting D-sub S kit specifications only, IP40 is compatible. (All other SI Units are IP67 compliant.)
Note 4) For the SI Unit part no., refer to page 14.
Note 5) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.

ZSNC

12

Sl Unit: EX600 IP67 compliant
IP67 compliant -
Sl Unit: EX500  [symbol| ~ Protocol Number of | Communicaton Stations
. outputs connector
SDBO__[ Serial kit without SI Unit IR [SDOA|  Serial Kit without ST Unit 110 16 statons
SD60 DeviceNet™ —— - SQA ) 32 (16 stations, 24 points)
SDEN PROFIBUS-DP D Ser;)e(x)l :It without SI U?|t " SOB DeviceNet™ 16 M12 1o 8 stations (16 stations, 16 points) *
SD6V CC-LINK EX? . Ga::ewia:tsDecemra IS 1108 stations | SNA 32 V12 Lto 12 sations (16 statons, 24 points)
™ = Ty
SIDlezl= EtherNel/IPm ( por) 1to 12 stations | SDA2 ls)ysg ,\f t"? OPR gFIBU SDP 16 Outputs | (16 stations, |SNB 16 1108 stations (16 stations, 16 points) % =
SDBEA | EtherNetP™ (2 por) (16 stations, e ' 16 points)  [SNC] PROFIBUS DP ™57 110 12 staions (16 satons, 24pants) | | = ©
SD6D EtherCAT® 24 points) EtherNet/|P™ [oNC| D-sub Note2) ! fons 22
SD6F PROFINET - SND 16 110 8 stations (16 statons, 16 points) 2 S
SDBWE | EtherNeulP™ compatible wireless base ™ EXS00 Gateway Decentralised Note ) (1 t0 12 stations| S\/A ) 32 110 12 statons (16 sations, 24 points) o=
e SDA3 | system 2(128 points) 32 Outputs | (16 stations, [qyp| CC-Link M12 - ‘ S5
SD6WF | PROFINET compatible wireless base "*? y P p 24 points) SVB 16 10 8 stations (16 statons, 16 points) = S)
SD6WS | Wireless remote "9 PROFINET, EtherNet/IP™ points) SDA o |32 Mz e 12 aions (1 o 2o | |
Kit SDB EtherCAT 16 1108 stations (16 stations, 16 points) -
: ieai it : 1o 12 stations (16 stations, 24 points) S o
Serial transmission kit: EX250 integrated-type (for 1/O |SFA| 32
¢ 9 tvpe ) SFB PROFINET 16 M12 1108 stations (16 stations, 16 points) 8 _5
- as
SEA 32 1o 12 stations (16 stations, 24 points) o @
SEB EtherNet/IP™ 16 M12 1108 stations (16 stations, 16 points) S §
SGA| EtherNet 32 Mi2 110 12 stations (16 stations, 24 points) (% o
SGB| POWERLINK 16 1108 stations (16 stations, 16 points) | B ,
SDO Serial kit without SI Unit
SDQ DeviceNet™ 1to 12 stations
SDN PROFIBUS-DP (16 stations, 24 points)
SDV CC-LINK
SDTA AS-Interface, 8 infout, 31 slave modes, 2 power supply systems 1 to 4 stations (8 stations, 8 points)
SDTB AS-Interface, 4 infout, 31 slave modes, 2 power supply systems 10 2 stations (4 stations, 4 points)
SDTC Note 1) | AS-Interface, 8 infout, 31 slave modes, 1 power supply system 1104 stations (8 stations, 8 points)
SDTD Note 1) | AS-Interface, 4 infout, 31 slave modes, 1 power supply system 1to 2 stations (4 stations, 4 points)
Sl Unit: EX250 IP67 compliant SDY CANopen 110 12 stations
SDZEN EtherNet/IP™ (16 stations, 24 points)

IConstruction I Manifold ISingle Unit VQC5000

Exploded View
of Manifold

I

Specific Product
Precautions

l



Series VQC4000

How to Order Valves

VQC 4

0

1
o

0
®

5
©00

Series VQC4000 I é
0 Type of actuation 0 Seal type e Light/Surge voltage
- — suppressor
2-position single 3-position exhaust centre 0 Metal seal
(A‘% (ZB) (A‘% (2‘3) 1 Rubber seal — Yes
1 S 4 ﬁ%q l\H H/l % ) E Without light, with surge
T ? T 9 Function voltage suppressor
513 5'13 — Now 1)
ROP)R) RYPIR2) Standard (0.95 W) @ Manual override
— — Y Low wattage type (0.4 W)
2-position doub:e )(Nlet)al) 3-position pr(es)su(re)centre R Note 2) External pilot —: Non-locking
A) (B A) (B i
42, 42 Note 1) When the power is energised con- push type (Tool required)
5 tinuously, refer to “Specific Product
Precautions 1" on page 37.
513 513 Note 2) For details about external pilot type, s?ﬂ
5 (R1) (P)(R2) (R1)(P)(R2) refer to the catalogue of the I
2-position double (Rubber) 3-position double check chvogggoeio SﬁrIZZ;:;:eeWX?:;:ﬁ
A) (B A) (B N U '
( 4), (2 ) ( 3 (2 ) pilot type cannot be combined with a
6 double check spacer.
Note 3) When multiple symbols are speci- B: Locking type ‘
513 513 fied, indicate them alphabetically. (Tool required) ©
(R1)(P)(R2) (R1)(P)(R2) 9
3-position closed centre Coil VOltage
(Az (ZB) 5 24\ DC Note)
3 6 12V DC
Note) S kit is only available for 24 V DC.
51
(R1)(P)(R2)

How to Order Manifold Assembly

C: Locking type ‘
(Manual) 3

Example (VV5QC41-[1SD6[])

Digital Input Unit

Digital Output Unit

2-position single

EX600-DXPD EX600-DYPB VQC4100-51 (3 sets)
End plate Note) Sl Unit Note) 2-position double
EX600-ED2 EX600-SDN1A

Manifold Specifi cations

VQC4200-51 (2 sets)

-

v v V|avav

E%

2

#VQC4100-51-+---+vvvveennee 3 sets (2-posi
#VQC4200-51: v vvvevneenens 2 sets (2-pos
$EXB00-DXPD:wecvereereenens 1 set
*EXB600-DYPB:++tvvvveeveenns 1 set

VV5QC41-0502SD6Q2N2:--1 set (S kit 5-station manifold base part number)

1/0 Unit part number (Station 1)
1/0 Unit part number (Station 2)

* The asterisk denotes the symbol for assembly.
* Prefix it to the part numbers of the valve etc.

ition single part number)
ition double part number)

- The valve arrangement is numbered as the 1st station from the D side.

- Under the manifold part number, state the valves to be mounted, then the I/0 Units in
order from the 1st station as shown in the figure above. If the arrangement becomes
complicated, specify on a manifold specification sheet.

Note) Do not enter the SI Unit part number and the end plate part number together.

Piping specifications Note2) | Applicable 5-station
Series Base model Connection type Port Port size Note 1) Applicable solenoid weight
direction | 1,3 (P, R) 2,4 (A, B) stations valve [9]

B F kit: D-sub connector cé (Ior 2 6) F, L, M, P kit

WP kit: Flat ribbon cable P 1/2 c(ig Efg: g %) (1 to 16 StationS) 4150

BT kit: Terminal block box Side | (re, G, NPTINPTF, T kit VQC4[00-51 | - S kit
VQC4000 | VV5QC41-01010] e Ko (Re. G, )| 12 (for @12) |4 5 16 stations (Without Unit

WS kit: Serial transmission R: 3/4 1/4 (Rc,G,NPTINPTF) S kit VQCALI01-51 | . Not including

HL kit: Lead wire (Rc, G, NPT/INPTF) | 3/8 (Rc,i,/f\‘llPT/NPTF) 110 16 stations: EX250 valve weight.

B M kit: Circular connector Bottom (Rc,G,NPTINPTF) 110 16 stations: EX500

Note 1) One-touch fittings in inch sizes are also available.
Note 2) An optional specification for special wiring is available to increase the maximum number of stations.

ZSNC

13




puginunit. Series VQC4000

SI Unit Part Number Table 3
o
EX600 Integrated type (For Input/Output) EX126 Integrated type (For Output) 8
Sl Unit part no. Symbol| Applicable protocol Sl Unit part no. Page o
Symbol Applicable protocol : & — Page L pp " P P 9 >
Negative common (PNP) | Positve common (NPN) SDVB| CC-Link, Positive common (NPN) | EX126D-SMJ1 34
SD6Q)| DeviceNet™ EX600-SDN1A | EX600-SDN2A
SD6N | CC-Link EX600-SMJ1 EX600-SMJ2 EX500 Gateway Decentralised System 2 (128 points)
X X S| Unit part no. E
SD6V | PROFIBUS DP EX600-SPR1A | EX600-SPR2A Symbol| Applicable protocol 2 P Page 5
SD6ZE| EtherNet/IP™ (1 port) EX600-SEN1 | EX600-SEN2 Negative common (PNP) p
SD6EA| EtherNet/IP™ (2 port) EX600-SEN3 | EX600-SEN4 EtherNet/IP™ i)
SDA3 EX500-S103 33 £
SD6D| EtherCAT® EX600-SEC1 | EX600-SEC2 33 PROFINET | o)
SD6F| PROFINET EX600-SPN1 | EX600-SPN2 EX500 ) .
SDBWE| EtherNet/IP™, compatible wireless base ') | EX600-WEN1 | EX600-WEN2 GateVYay Decentralised System (64 p.omts) -
SDBWI| PROFINET, compaible ireless base ' | EX600-WPNL | EX600-WPN2 )| AR _ SO0Ek oo S S
SD6WS| Wireless remote No©) EX600-WSNL | EX600-WSN2 protocol Positive common (NPN) | Negative common (PNP) -E
Note) The wireless system is suitable for use only in a country where it is in accordance with DeviceNet™ >
the Radio Act and regulations of that country. SDA2| PROFIBUS DP EX500-Q001 EX500-Q101 33 —
EX260  Integrated type (For Output) EtherNet/|P™ s
Syl Applicable Nug}bef S| Unit part no. Communication Page EX250  Integrated type (For Input/Output) g
protocol | gypits |Negative common (PNP)| Posiive common (NPN)|  connector 2
SQA 32 |EX260-SDN1 | EX260-SDN2 Symbol Applicable protocol Sl Unit part no.| Page 5
DeviceNet™ @)
SQB eviceNet 16 |EX260-SDN3|EX260-SDN4 M12 SDQ | DeviceNet™, Negative common (PNP) | EX250-SDN1 [——
SNA 32 |EX260-SPR1 | EX260-SPR2 SDN | PROFIBUS DP, Negative common (PNP) EX250-SPR1 % -
SNB 16 | EX260-SPR3 | EX260-SPR4 SDV | CC-Link, Positive common (NPN) EX250-SMJ2 >3
PROFIBUS DP : o E
SNC 32 |EX260-SPR5 | EX260-SPR6 . SDTA AS—Interface, Negative common (PNP), EX250-SAS3 %(ECU
SND 16 |EX260-SPR7 | EX260-SPRS D-su (8in/8 out, 31 slave modes, 2 power supply systems) % b=
AS-Interface, Negative common (PNP), . nl
SVA CC-Link 32 |EX260-SMJ1 | EX260-SMJ2 M12 SDTB (41n/4 out, 31 slave modes, 2 power supply systems) EX250-SAS5 34 —
SVB 16 |EX260-SMJ3 | EX260-SMJ4 33 sSDTC AS-Interface, Negative common (PNP), EX250-SAS7 s .,
SDA EtherCAT® 32 |EX260-SEC1 | EX260-SEC2 M12 (8in/8 out, 31 slave modes, 1 power supply system) 8s
=
SDB 16 |EX260-SEC3 | EX260-SEC4 SDTD AS-Interface, Negative common (PNP), EX250-SASY £ §
SFA PROFINET 32 |EX260-SPN1 | EX260-SPN2 M12 (4 in/4 out, 31 slave modes, 1 power supply system) &
SFB 16 |EX260-SPN3 |EX260-SPN4 SDY | CANopen, Negative common (PNP) EX250-SCA1A i
SEA EtherNetIP™ 32 |EX260-SEN1 | EX260-SEN2 M12 SDZEN| EtherNet/IP™, Negative common (PNP) | EX250-SEN1
= 16 | EX260-SENS | EX260-SEN4 For details about the EX series refer to their catalogues on the website www.
SGA EtherNet | 32 | EX260-SPL1 _ M12 smc.eu and the Operation Manual. Please download the Operation Manual
SGB |POWERLINK| 16 |EX260-SPL3 — via SMC website, http://www.smc.eu
Manifold Options For details about options, refer to the catalogue of the VQ4000/5000 series on www.smc.eu.
Blanking plate assembly Individual SUP spacer Individual EXH spacer SUP/EXH block plate
VVQ4000-10A-1 VVQ4000-P-1- 82 VVQ4000-R-1- 82 VVQ4000-16A

<SUP block plate>

Restrictor spacer Double check spacer with residual pressure exhaust SUP stop valve spacer Interface regulator (P, A, B port regulation)
VVQ4000-20A-1 VVQ4000-25A-1 Note) VVQ4000-37A-1 ARBQ4000-00- §-1

IConstruction I Manifold ISingle Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l




Series VQC4000
VQC4000

Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System

IP67 compliant

VV5QC41
S kit (Serial transmission kit: EX600)
Power supply with M12 connector

(Stations) (V{2 D @D @M

3/4"
3(R) port

1/2"
1(P) port = =
S B & we
@ © I=V=W—V—VW-_ 1 W T T N T Y m% ol
- C T [P FE
ol 9 4L NSOGB el 5| &
g7 Tfe] o] o : NI
B R R — wall
1/8" o ;
External pilot port 27.9 —
18" 33.5
PE. port 37.5
45.2
1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
L2
5.5 47 m + 66 L1
Qutput connector
Digital Input Unit . .
B E— Digital Output Unit 65.5 65
Inout t Communication
~put connector connector Indicator light
Sl Unit —_—— B
Power connector Manual override =2
FE terminal *EZ{ v| fv|efv Fg?-ggﬂg? 8|v ¢ ﬁ
[}
B ] i
A 00" i 9 opooo Ui ® ® i} ® 1] (L] h
ol o O O®- JEIRIRIRIRIR IN: | ool @
U \Ehema: 1ol it 18 BE:
o o @ 1
s ) @ T BT OT O OO e O P 0 Q L)
@] [ <o) =
Jee) . (@ P T 0@ | || o ~ %
Marker groove § \r;} ::\ J \._Fﬁ S(
26 47 m 47 Val lat S
2 x M4 Mounting hole ave pate -
\Connector for Handheld Terminal
End plate
Dimensions [mm]
L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 209 234 259 284 309 334 359 384 409 434 459 484 509 534 559 584

Formula: L1 = 25n + 106, L2 = 25n + 184 * L2 is the dimension without 1/0 Unit. Add 47 mm for each additional I/0 Units. * “m” is number of I/O Units.

15

O

n: Stations (Maximum 16 stations)



puginunit. Series VQC4000
VQC4000

Kit (Serial transmission kit): For EX600 Integrated-type (1/O) Serial Transmission System IP67 compliant i S
o
<

VV5QC41 8)

S kit (Serial transmission kit: EX600) g

Power supply with 7/ 8 inch connector

314" =
3 o [258e]) G@ (D-2D- B @ B-®- D ®® £
o
@
£
| Y E—
LD_ W W W W W “ { 5 5
— . = = . .
- B | e8| &8 | &9 | &8 s
o I/ e B I W W o0 N s cu i o~ ke
o ol oo o ool o “‘-fi o tg g °
o U@ — DGR IO IO D 28 & E
< | | o i el e e -
g [olllellle Il e lousyayDIDIDIDIDIDIDI R -—+9,2 g
g ) © @ [ 0o [Me [ 6 [ 6a | 6o | 6 | 6ja I -
External pilot port 127.9] 2
>
1/8" 33.5 %
PE. port 37.5 S
45.2 @)
1/4", 3/8" =
C6, C8, C10, C12, N7, N9, N11 Lo
4(A), 2(B) port =2
16.5 L2 S8
o=
55 47 m + 86 L1 L%B
Communication —
connector 655 65 5,
Digital Output Unit 8s
Digital Input Unit Output connector Sl Unit M_ - E §
Input connector Manual override <_ﬂ E’,—E
d
Power connector *L} v| Av|e|v|s|v|a|v|e|v|slV = | —
5 /| @
D 88 odeoo v | v [w|®w|(w|v | ® o
P R SRR ol o - S
© 00 .
ah o, 10%l T i S
d 0.0 s ] ]
gﬁ%"@ t b b & T b b b & 0 C>)"
@ Gﬁ: 5 (= = > % | | > '0\0
Marker groov& @ E| T E:
26 47 m 47 \Valve plate S =
FE terminal \Connector for Handheld Terminal 2
End plate =
£
| W —
2 x M4 Mounting hole
o
o
c
c
=

Dimensions (mm]

L N 2 3 4 ) 6 7 8 9 10 11 12 13 14 15 16 ,5
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506 §
L2 209 234 259 284 309 334 359 384 409 434 459 484 509 534 559 584 g

Formula: L1 = 25n + 106, L2 = 25n + 184 * L2 is the dimension without I/O Unit. Add 47 mm for each additional I/O Units. * “m" is number of I/O Units. n: Stations (Maximum 16 stations) 8

.—

Exploded View
of Manifold

I

Specific Product
Precautions

l

SMC 16

O



Series VQC4000
1Sy Vqc4000

Kit (Serial transmission kit): For EX500 Gateway-type Serial Transmission System

VV5QC41
S kit (Serial transmission kit: EX500)

o) D@D @B D@®®
3/4"

3(R) port
1/2"
1(P) port
]

M12 8-pin socket @ @ m@l:ﬂ/
ij DG[? oo.o © 4 0 :
D) i m|wlo
sl ts E,‘”) QOO QJ RiNkdl
o|~8 7
oi (@) ® () )
< > — <
T DOOeiRT
mT N g
M12 8-pin plug / b o79| N
1/8" 33.5
External pilot port 37.5
1/4", 3/8" 45.2
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
L2
39.5 L1 6.5
Indicator light Manual override AR 655
&7 *trmrmrfmm o=t
L V| V|49V EI\:’/'EIV a\v | a|v ey
o
I O O O I I %
coen) > | | | OB| OBl O|B| B
e ™|l m
HAH AN 2|8
- U A R
‘ ol e | [ |[]] o
st/ 5 EEEN] =
L O O @ L J -
L L T
o
-
Dimensions [mm]
L 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 177 202 227 252 277 302 327 352 377 402 427 452 477 502 527 552

Formula: L1 = 25n + 106, L2 = 25n + 152 n: Stations (Maximum 16 stations)

17

O
2



S

VQC4000

Kit (Serial transmission kit): For EX260 Integrated-type (Output) Serial Transmission System

puginunit. Series VQC4000

IP40 compliant
IP67 compliant

VV5QC41
S kit (Serial transmission kit: EX260)

fffffffffffffffffffffffffffffffffffffffffffffffff

3 o
(Dsice] e D@ @ @ ® D ®-® 5| re S0
[Te}
ol =
3/4" M op
3(R) port
1/2"
JiPyport T
7 7
L] ® [ ® ]
BB EENE ‘
O T Y O - I,
: %‘nn‘nn‘nn‘nn‘nn‘nn‘nn‘n o '-“c‘—\li
~ 2 1 ] m| B| o
3 RO Rl © RECEiE
ol = ol 53 Ll ®
< : i (I}(I}(I}{I}{I} {I} z <
ﬂ_/ﬁmq EQID o] {m | R ] [ R w | R w | oo D*‘QHW
LO.T alo
1/8" 1/8" b 279 I
External pilot port PE. port U
1/4", 3/8" 375
C6, C8, C10, C12, N7, N9, N11 45.2
4(A), 2(B) port
L2
39.5 L1 6.5
Indicator light
P=25 65.5
Manual override
I I 2}
8| ®w |
o] 0 ]
™ ™
TUHEAUHT: }ﬂ Q|2
L o | -
N
@ | @ RN o
S1 unit [ HERE: =
T T I o
—
Dimensions [mm]
L n 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 177 202 227 252 277 302 327 352 377 402 427 452 477 502 527 552
n: Stations (Maximum 16 stations)
18

O

IE)E)F;IOMdaerﬂf:)/IEW IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConstruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l



Series VQC4000

S

VQC4000

Kit (Serial transmission kit): For EX250 Integrated-type (I/O) Serial Transmission System

IP67 compliant

VV5QC41

S kit

(Serial transmission kit: EX250)

[© side ] Statos) (D@ @@ ®-®-D-®® [Uside]

efielelelelele)

77.3

95.5

101.2

Q n
© = ™
Mﬁﬁﬁﬁmmﬁml ¢
LO | ©
‘—c o
- 79|
PE port 33.5
L/e* 37.5
External pilot port s 2
1/4", 3/8"
C6, CS C10, C12, N7, N9, N11
4(A), 2(B) port
L2
5.5 108 L1 6.5
Indicator light P =25 65.5 Manual override
T | Y
9 ORI T T
21,21 63 | o
) ® ® ® § ] )
o] b| | 6| P|B| O] O| O ol o
o |[Bl- [ M S8
S B | OO
0 = o m | ® | || o
g 5 g 3 T - puil A
7 K Ja—F
o
Input block -
Sl Unit
Dimensions [mm]
L 1 1 2 3 4 5) 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 230 255 280 305 330 855! 380 405 430 455 480 505 530 555} 580 605

Formula: L1 = 25n + 106, L2 = 25n + 205 (For one input block. Add 21 mm for each additional input block.) n: Stations (Maximum 16 stations)

19

O



VQC4000

Kit (Serial transmission kit): For EX126 Integrated-type (Output) Serial Transmission System

puginunit. Series VQC4000

IP67 compliant

VV5QC41
S kit (Serial transmission kit: EX126)

[ side | Gy @ - @ @-@-®-®-D-@ @
4XG 12 3
Conduit port 3(R) port
1/2"
(e}
~ 1(P) port
= = ® 'n R a a a a m
@ Ed Eid Eid
- al-al-m-m-m-m-m- o~
~ + ] T m R Emmm am EEIE a vl o
o M| WVl 2
3 e H s I -
w| ™ 1 O m m || )
0| N ()
< = <
‘ m_ ?mﬁa EOEIQE aja EEI@éEI aja EE@I*-C> 1
™ 33.5 T Nle
) ;/:" pa 79| &
" . port —
External pilot port 375
1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11 45.2
4(A), 2(B) port
Indicator light
Manual override
L2
79.5 J 6.5
72 P =25 65.5
2 x M5 Mounting hole 46
v | |v|a|v|a|v/]sa|v|alv|alv
i e
i
B | o |9 |9 |n|n| 3 0
51 1 D! ©1 ©1 O P! P |
™M
3 il F}, { Il 58 * 9
:au DL OO O 6 P mu % Y/ f
: e L “
” e 7 B 2
Sl Unit =] 55.5
Please use drip proof plug
assembly (AXT100-BO4A) with
unused conduit port (G 1/2).
Dimensions [mm]
L 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 217 242 267 292 317 342 367 392 417 442 467 492 517 542 567 592
Formula: L1 = 25n + 106, L2 = 25n + 192 n: Stations (Maximum 16 stations)
20

O

IE)E)F;IOMdaerﬂf:)/IEW IConstruction I Manifold ISingIe Unit VQC4000

Precautions

Specific Product

IConstruction I Manifold ISingle Unit VQC5000 [

Exploded View
of Manifold

I

Precautions

Specific Product

l



Series VQC4000

VQC4000

Kit (D-sub connector kit)

IP40 compliant

« Using our D-sub connector for electrical connections greatly reduces
labour, while it also minimises wiring and saves space.

» We use a D-sub connector (25P) that conforms to MIL standards and is
therefore widely compatible with many standard commercial models.

 Top or side entry for the connector can be changed freely, allowing for
changes even after mounting, to meet any changing needs for space.

Electrical Wiring Specifi cations

Connecto

r Cable

D-sub connector

O

)

ol
1o o5

150

o o
170

1o O
150 o7
200 o8
A0 g
20 ol0

230 oll

240 ol2 '/
ol3

250

# \When using a valve with no polarity, either positive

If alignment is not specified, the internal wiring is double
wiring (connected to SOL. a and SOL. b) regardless of

number of stations, valve and option types.

Connector terminal no.

Lead wire no. Polarity
Terminal |Lead wire Dot
=) () no. colour | marking
©) *)
-) (+) 1 Black None
=) +) 2 Brown None
) (+) 3 Red None
) (+) 4 Orange | None
) ) 5 Yellow None
) (:) 6 Pink None
E_; E+; 7 Blue None
I * 8 Purple White
) ) 9 Grey Black
) (+) 10 White Black
=) (+) 11 White Red
=) ) 12 Yellow | Red
=) +) 13 Orange | Red
) *) 14 Yellow Black
(:) (:) 15 Pink | Black
E_; E+; 16 Yellow White
I *) 17 White None
) ) 18 Grey None
-) ) 19 Orange | Black
) ) 20 Red White
21 Brown White
) =) 22 Pink Red
Positive  Negative 23 Grey Red
common  common 24 Black White
25 White None

common or negative common can be used.

Specifi ed Layout

@5pins) [ O ) Mixed wiring of single and double wiring can be specified on
) the manifold specification sheet. The maximum number of

21

double, 3-position and 4-position.

COM.

stations is determined according to the number of solenoids.
The total number of solenoids should be 24 or less. 1 solenoid
is required for 2-position single, and 2 solenoids for 2-position

O
2

GVVZS3000-21A-1[1P40]

D-sub connector/cable

Cable
length (L) Assembly part no. Note
Im GVVZS3000-21A-160 | 60°angled
3m GVVZS3000-21A-260 | 60°angled
5m GVVZS3000-21A-360 | 60°angled
8m GVVZS3000-21A-460| 60°angled
3m GVVZS3000-21A-2 Standard
5m GVVZS3000-21A-3 Standard
8m GVVZS3000-21A-4 Standard
Shielded cable
Cable
length (L) Assembly part no. Note
1m GVVZS3000-21A-1S Shieled
3m GVVZS3000-21A-2S Shieled
5m GVVZS3000-21A-3S Shieled
8m GVVZS3000-21A-4S Shieled
20m | GVVZS3000-21A-5S | Made to order
° 60° angled Standard
2 8

53.5
2- M2.6

25 a ®=T2$
41 g
N
o—Hr: x
ksl I I T
53
Electrical characteristics
Item Property
Conductor resistance /km, 20 °C Max. 57
Voltage limit VV, 5 minute, AC 1500
Insulation resistance MQ/km, 20 °C 20
Standard

D-Sub connector cable assembly (option)
015
AXT100-DS25- 030 (According to MIL-C2430 8)

* Please contact SMC for details.




puginunit. Series VQC4000

VQC4000
Kit (D-sub connector kit)

o
o
o
<

VV5QC41 8)

o
Gtations) @ @ @ -@ & -©-@ @@ =
" " 3/4"

1/4", 3/8 3(R) port
C6, C8, C10, C12, N7, N9, N11 -
4(A), 2(B) port 1/2" 5
/1(P) port Q

R20 (Min. bending inner radius) @ .. T | -
ol Ve o 0 :
- [Te)

3l ~ \JJ Q} { ol K| © S °
oi ® ~ S
¥ ﬁﬁﬁ%ﬁﬁﬁ%ﬁﬁ% S ¢ =

™~ 0 ol © =
i ]
s el ~ S —
33.5 IS
External pilot port 37.5 §
45.2 @
D-sub connector cable assembly (25P) S
@)
/ AXT100-DS25-015: 1.5 m | ———
. =
/ AXT100-DS25-030: 3 m Applicable connector: D-sub connector (25P) 'g =
/ AXT100-DS25-050: 5 m (Conforms to MIL-C-24308) °'E
s
L2 o=
R
27 L1 6.5 [
—
Indicator light P=25 65.5 Manual override i
32
<]
= e — asg
I—j v| [v|alv|gv|alv|alv gV C o8
o § g
) |le|o|lo|la|lal|e | &
b| 0| 0| b|O|O| OO e
™ ™
F Il mimnemymimdm, 98
~
,_Q‘°L ::aI:I»::UmU 8
N [HI) > B
g % b | ® | & ] 1 O
- o
_— N = >
Manual release for switching connector direction -
.‘é‘
o]
@
=)
£

Dimensions [mm]

L e 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 =
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506 E
L2 164.5 189.5 214.5 239.5 264.5 289.5 314.5 339.5 364.5 389.5 414.5 439.5 464.5 489.5 514.5 539.5 3

Formula: L1= 25n + 106, L2 = 25n + 139.5 n: Stations (Maximum 16 stations) =

—

c

kel

3]

=

@

c

<}

O
—

Exploded View
of Manifold

I

Specific Product
Precautions

l

SMC 2

N



Series VQC4000

VQC4000
Kit (Flat ribbon cable kit)

 Using our fl at ribbon cable for electrical connections greatly
reduces labour, while it also minimises wiring and saves space.

» We use fl at ribbon cables whose connectors (26P and 20P)
conform to MIL standards, and are therefore widely compatible
with many standard commercial models.

* Top or side entry for the connector can be changed freely,
allowing for changes even after mounting, to meet any changing
needs for space.

Electrical Wiring Specifi cations Cable Assembly
- 20 1
Flat ribbon cable connector AXT100-FC 26 2
Double wiring (connected to SOL. A 3
260 025 and SOL. B) is used for the internal i i
240 023 wiring of each station regardless of Type 26P flat ribbon cable connector assemblies can be ordered
220 021 valve and option types. with manifolds. Refer to manifold ordering.
200 019 Mixed single and double wiring are
180 017 available as options. )
iig Sig Refer to special wiring specifica- 28AWG Terminal no.
120 011 tions (options) below. Red
10009 _
80 0O7 —
6005 Connector terminal number ag
4003 N 8
2001 0
\Triangle mark indicator position 8%
<26P> <20P>
Terminal Terminal (15.6)
no. no.
SOL.A 1 SOL.A 1 L
Station 1 [ SOL.B 2 Station 1 { SOL.B 2
~~~~SOL.A 3 e SOL.A 3
Station 2 { SOL.B , Station2 { SOL.B 4 Flat ribbon cable connector assemblies
_ SOL.A 5 ' SOL.A 5 Cable Part no.
Station 3 [ SOL.B 6 Station 3 { SOL.B 6 length (L) 26P 20P
) L ~~SOLA, 4 ) L _~~nSOLA 5 15m AXT100-FC26-1 AXT100-FC20-1
saiona { [ sous, , Swions {[ sosl 3m AXT100-FC26-2 AXT100-FC20-2
station s [ L ~~SOLA, 4 Station 5 { L~ SOLA, g 5m AXT100-FC26-3 AXT100-FC20-3
SOL.B SOL.B - -
—""———0 10 10 # When using a standard commercial connector, use a type 26P
. L ~SOLA, 4y . L ~~SOLA, 44 connector conforming to MIL-C-83503 or a type 20P with strain relief.
Station 6 { L ~SOLB, 4 Station 6 { L ~~SOLB, 5 * Cannot be used for transfer wiring.
~~SOLA o 45 ~~~~SOLA 13 * Lengths other than the above is also available. Please contact SMC
Station 7 [ SOL.B Station 7 { SOL.B for details.
14 14
SOL.A SOL.A
225 15 VNS A eV
Station 8 { SOLB " Station 8 { soLB. . Connector Manufacturers Example
~~SOLA 17 ~SOLA 47 - Hirose Electric Co., Ltd.
Station 9 [ SOLB , 44 Station 9 { SOLB, 44 - Sumitomo/3M Limited
SOL.A 19 - Fujitsu, Ltd.
Station 10{ SOLB, | COM. , 49 - Japan Aviation Electronics Industry, Ltd.
~~~~SOL.A 21 COM. 20 - J.S.T. Mfg. Co., Ltd.
Station 11[ SOL.B 2 - Oki Electric Cable Co., Ltd.
Station 12 { s’ B
SOL.B 24
— COM., 55 \ Special Wiring Specifi cations (Option) \
COM. 2
COM COM
%0021 coMm CcCoM
240 023
220 Q21 \ / . .
200 019 200 019 Mixed single and double
180 017 180 017 wiring are available as
160 015 160 015 options. The maximum
140 013 140 013 number of manifold stations
120 011 120 011 is determined by the number
100 09 100 09 of solenoids. Count one
80 0O7 80 O7 point for a single solenoid
60 OS5 60 0Os type and two points for a
4 3 4 % 3 double solenoid type. The
2 z 1 2 1 total number of solenoids
(points) must not exceed 24.
(For 26P) (For 20P)
23

O
2



VQC4000

Kit (Flat ribbon cable kit)

puginunit. Series VQC4000

IP40 compliant

VV5QC41

tations)-(D- - @-&-©-@-®D

Flat ribbon cable connector assembly (26P)

AXT100-FC26-1:1.5m

AXT100-FC26-2: 3 m

AXT100-FC26-3:5m

G0 | 0 | 60

3/4"
3(R) port

1/2"

N
" G G RG] G DG PG G DG DG Y vl o
. R R rRdIE
[T} N — .
o O m w (I 5
¢ A5 1O000000 0B ¢
~ 0 o ©
0 o <l g
4 1/8" - 27.9 N
PE. port 335
1/8" 375
External pilot port -
1/4", 3/8" A5.2,
C6, C8, C10, C12, N7, N9, N11 Applicable connector:
4(A), 2(B) port Flat ribbon cable connector (26P)
L2 (Conforms to MIL-C-83503)
27 L1 6.5
Indicator ight Fo2, 655 Manual override
L | 1
ST T BT FTHPTR TR TRTeT [ Te=
(2]
i) v i) v i) v
V‘T ] JNININ-IN- AN AN AN ol o
- uN Impiraaeara 38
0 @ %_ :u guauau augu gu@u
NS o || S
b | o = r
75\ | | [ = L JE:‘
Manual release for switching connector direction S
Dimensions [mm]
L e 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 164.5 189.5 2145 | 239.5 | 2645 | 289.5 | 3145 | 3395 | 3645 | 3895 | 4145 | 4395 | 4645 | 489.5 | 5145 | 539.5
Formula: L1 = 25n + 106, L2 = 25n + 139.5 n: Stations (Maximum 16 stations)
24

O

IE)SF;IOMdaerﬂf;EW IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConstruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l



Series VQC4000
g Qc4000

Kit (Terminal block box kit)

* This kit has a small terminal block inside a junction
The provision of a G 3/4 electrical entry allows
connection of conduit fi  ttings.

Terminal Block Connection

box.

Step 1. How to remove terminal block cover
Loosen the 4 mounting screws (M4) and remove the
terminal block cover.

ﬁ Terminal block cover

Mounting screw (M4)

Step 2. The diagram below shows the terminal block wiring.
All stations are provided with double wiring
regardless of the valves which are mounted.
Connect each wire to the power supply side, according
to the markings provided inside the terminal block.

M3 screw

Gasket

Electrical entry

2xG3/4
Step 3. How to replace the terminal block cover
Securely tighten the screws to the torque shown in the
table below, after confirming that the gasket is installed
correctly.
Proper tightening torque [N-m] * Applicable crimped terminal: 1.25-3S,1.25Y-3,1.25Y-3N,1.25Y-3.5

* Name plate: VVQ5000-N-T
* Drip proof plug assembly (for G 3/4): AXT100-BO6A

0.7t0 1.2

Electrical Wiring Specifi  cations (Conforms to IP67)

Station 7

78 6 ©l

Standard wiring Special Wiring Specifi cations (Option) \
Terr%inal Mixed single and double wiring are available as
’ options. The maximum number of manifold stations
Station 1{ 1A is determined by the number of solenoids. Count
1B one point for a single solenoid type and two points
2A for a double solenoid type. The total humber of
Station 2 { B solenoids (points) must not exceed 20.
! 3A 1. How to Order
Stat|on3{ 38 Indicate option symbol "-K" in the manifold part
A number and be sure to specify station positions for
Station 4 { single or double wiring on the manifold specification
4B sheet.
Station 5 { oA 2. Wiring specifi cations
58 Connector terminal numbers are connected from
Statione{ 6A solenoid station 1 on the A side in the order
6B indicated by the arrows without skipping any
{ 7A terminal numbers.

The internal wiring is double (con-
nected to SOL. A and SOL. B) for Station 8 8A
all stations regardless of the type 8B
of valve or options. 9A
Mixed single and double wiring Station 9 98
are available as options.
. 10A
Station 10 108
COM (12

25

O
2



VQC4000

Kit (Terminal block box kit)

puginunit. Series VQC4000

IP67 compliant

VV5QC41
G- D@ @@ - @ DB @
3/4"
3(R) port
1/2"
2% G 3/4 1(P) port
Conduit port - = 1 I =
@ olo|lo|lo|lo|o|o T
i N
® L [o_oo-op.oo_ oo oo oo oo .o ¢ vl o
[To) + yanY (_ m|w| o
S 71O 0000000 { RISER
W o ol §3 @ @ @ @ @ LIlo o
<~ < = 0 <
ﬁ m_ “”9_ oo~ ojo EQQE olo ~ o|o u*o B
= 1/8" ﬁT Slp=
- External pilot port - 27.9 N
33.5
PE. port 375
1/4", 3/8" 45.2
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
L2
79.5 L1 6.5
7 Indicator light P=25_ 655
Manual override
—LE ¢
v v alvgalv]alv|alv alv ;m
OFE®
d (o | 0|0 |d|d|d ;]
N L
JRIRININIRS mm o °
o™ o™
g | IR 3 8
g (i mmmm 5
o /’4@ ® D | o Lo :]
< —— w | b [ &
@ 5 | ©
2x M5 / 3 101
Mounting hole
Dimensions [mm]
L o1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 217 242 267 292 317 342 367 392 417 442 467 492 517 542 567 592
Formula: L1 = 25n + 106, L2 = 25n + 192 n: Stations (Maximum 16 stations)
26

O
2

IE)E)F;IOMdaerﬂf:)/IEW IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConstruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l



Series VQC4000

VQC4000
Kit (Lead wire kit)

e Direct electrical entry type

¢ |P67 enclosure is available with use of cables with
sheath and waterproof connectors.

Electrical Wiring Specifi cations

Lead wire specifi cations Lead wire length
Lead wire
0.3 mm? x 25 cores \ As the standard electrical wiring specification VV5QC41 08 C12 LD
R used is for 12 stations or less, double wiring
i (connected to SOL. A and SOL. B) is used for Lead wire length
N the internal wiring of each station regardless 0 06m
' of valve and option types. a ll c
| o - Mixed single and double wiring are available = m
L - as options. 28 30m
A Refer to special wiring specifications (options) Electrical characteristics
o below. ltem Characteristic
\ Sheath Conductor resistance | g 1o
Colour: Urban white Q/km, 20°C oriess
Terminal Lead wire Dot ! !
no. colour marking Insulation resistance 5 or more
Stati l{ SOLA 1 Black None MQ/km, 20 °C
ation
SOLB , 14 Yellow Black Note) Cannot be used for
‘ SOL.A | 2 Brown None transfe_r wiring. i
Station 2{ SOL.B ) The minimum bending
15 Pink Black radius for cables is 20 mm.
SOL.A
Stati 3{ o 3 Red None
ation
SOLB , 44 Blue White
Stati 4{ SOLA o 4 Orange None
ation
SOLB 17 Purple None
Station 5{ SOLA 5 Yellow None
i
SOL.B o 18 Grey None
Stati 6{ SOL.A o 6 Pink None
ation
SOL.B o 19 Orange Black
Stati 7{ SOLA o 7 Blue None
ation
SOLB 20 Red White
Stati 8{ SOLA o 8 Purple White
ation
SOLB o 21 Brown White
Stati g{ SOLA o 9 Grey Black
ation
SOLB ; 5 Pink Red
Station 10{ SOLA 19 White Black
iol
SOLB 23 Grey Red
Station ll{ SOLA 11 White Red
i
SOL.B o 24 Black White
Stati 12{ SOLA o 12 Yellow Red
ation
SOL.B o 25 White None
CoMm. 13 Orange Red

Special Wiring Specifi cations (Option) \

Mixed single and double wiring are available as options. The maximum number of
manifold stations is determined by the number of solenoids. Count one point for a
single solenoid type and two points for a double solenoid type. The total number of
solenoids (points) must not exceed 24.

27

O
2



puginunit. Series VQC4000

VQC4000
Kit (Lead wire kit)

VV5QC41
[D side| G} (D @@ @-®-®©-@-® @
3/4"
3(R) port
1/2"
/1(P) port
® ® ® ¥
@ T
® @ [Te} N
N~ mDDDDDDDDDDDDDD ™ —
o o E =L O OO 52 8 8
[ . 4
N Y | | LJ ™
S = AT IOOOOOIOI0 .
«©
<)
L/e" 1/8" A
External pilot port
PE. port
1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
L2
48 L1 6.5
Indicator light
P=25 65.5 Manual override
° v| |v|gv|av|av|av|sv —F
] ES &
i) & & '
JNININ-ININ-IN-2NJ ol o 3
(A A T T I e
e — —
0 || nuaubumun :unu; e
: = e =
N~ (o2}
5] £1 =
=8} T T
i S
c E
D™
3E
o 0
ER
S 1S
33
Dimensions [mm]
L 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 1855 | 210.5 | 2355 | 260.5 | 2855 | 310.5 | 3355 | 360.5 | 3855 | 4105 | 4355 | 460.5 | 4855 | 5105 | 5355 | 560.5
Formula: L1 = 25n + 106, L2 = 25n + 160.5 n: Stations (Maximum 16 stations)
28

O
2

IE)SF;IOMdaerﬂf;EW IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConstruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

I

Specific Product
Precautions

l



Series VQC4000

VQC4000

Kit (Circular connector kit)  ElseyMeelnlelF=Tg)s

¢ Use of circular connectors helps streamline wiring
procedure to save labour.

¢ [P67 enclosure is available with use of waterproof
multiple connectors.

Electrical Wiring Specifi cations

Cable Assembly

Multiple connector

Double wiring (connected to
SOL.A and SOL.B) is used for
the internal wiring of each
station regardless of valve and
option types. Mixed single and
double wiring are available as
options. Refer to special wiring
specifications (options) below.

Terminal
no.
~~SOL.A

SOL.B

SOL.A

SOL.B
SOL.A

SOL.B

-~ SOL.A

SOL.B
-~ SOL.A

SOL.B

SOL.A 1

~~SOL.B 12

SOL.A

[
{
{
[
{
{
(s
{
[
{
{
{

=

Station 1

Station 2

Station 3

Station 4

© 00N O U WN

Station 5

Station 6

Station 7 SOL.B

-~ SOL.A 15

SOL.B

Station 8 16

e~ SOL.A 17
Station 9 SOL.B

SOL.A 19

Station 10 SOL.B

) L)

-~ SOL.A 21

Station 11 SOLB, 5,
| ~~~SOLB

~SOL.A 23

SOL.B

Station 12 "

COM. 25
COM. 26

Special Wiring Specifi cations (Option) \

Mixed single and double wiring are available as an option. The maximum number
of manifold stations is determined by the number of solenoids. Count one point for
a single solenoid type and two points for a double solenoid type. The total number
of solenoids (points) must not exceed 24.

29

O

015
GAXT100-MC26- 030 (According to DIN47100)
050

Type 26P circular connector cable assemblies can be ordered
with manifolds. Refer to manifolds ordering.

. Terminal |Lead wire Do_t
) no. colour | marking
S 1 White None
— j - 2 Brown | None
— < 3 Green None
— 4 Yellow None
5 Grey None
6 Pink None
7 Blue None
8 Red None
9 Black None
10 Violet None
11 Grey Pink
12 Red Blue
13 White Green
14 Brown Green
15 White Yellow
16 Yellow Brown
17 White Grey
18 Grey Brown
19 White Pink
20 Pink Brown
Electric characteristics 21 White Blue
22 Brown Blue
ltem Property 23 White | Red
g?k”n‘:f‘gg’iées'swnce Max. 57 24 Brown | Red
— 25 White Black
Voltage limit 1500 # Terminal No. 26 is connected
V, 5 minutes, AC A
to 25 inside the connector.
Insulation resistance 20
MQ/km, 20 °C

Circular connector cable

assemblies
Cable Assembly part no.
length (L) 26P
1.5m GAXT100-MC26-015
3m GAXT100-MC26-030
5m GAXT100-MC26-050

Circular connector cable assembly (option)
015
AXT100-MC26- 030 (According to MIL-C2430 8)

* Please contact SMC for details.




puginunit. Series VQC4000

M VQC4000
Kit (Circular connector kit)

o
o
o
<
VV5QC41 &)
o
[0 side] Gaiony D @@ @ & ®- D@ @ >
3/4"
3(R) port
Circular connector (26 pins) 1/2" g
made by CONINVERS 1(P) port 2
£
M27 Male thread [—2—
= o~
~ L] @ @ n H
o) T ( M w| o o
ol ~ = \J ¥ ol K| @ = S
Yy S /“"SB SINdlia| il =
0 ol <@ | o—
3 "R c
E/t Ipilotport 418 < £
xternal pilot por 3]
priotp PE. port 33 =
37.5 2
8
1/4", 3/8" 45.2
C6, C8, C10, C12, N7, N9, N11 =
4(A), 2(B) port 23
SE
L2 e
25
48 L1 6.5 i
—
Indicator light 8,
85
P=25 65.5 Manual override S
=g
(NN
=] mmmﬂk - &
v| [v|8|v|g[v|g|Vv|8|v |8V 5—- | —
[e)]
17} i) 5] 1) B B S;’
<J «J o o o 0 J <J 8
™ ™
il ! 39 B
UL EE L L L O
o1~ b+ O 1 B+ O b1 P © (@4
D | @ o >
%=£| e | ® nnF E::
o
— =
-
)
Q
(o))
£
| W —
Circular connector cable assembly
AXT100-MC26-015: 1.5 m o
AXT100-MC26-030: 3 m -*g
©
\AXTlOO-MCZG-OSO: 5m =
| —
c
kel
Dimensions [mm] 3
L 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 ‘Q
L1 | 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506 3
| ——

L2 1855 | 2105 | 2355 | 2605 | 2855 | 3105 | 3355 | 360.5 | 3855 | 4105 | 4355 | 460.5 | 4855 | 5105 | 5355 | 560.5
Formula: L1 = 25n + 106, L2 = 25n +150.5 n: Stations (Maximum 16 stations)

Exploded View
of Manifold

I

Specific Product
Precautions

l

30

O
2



Series VQC4000
Construction

Plug-in Unit

Metal seal type

J

*:}{

777

J

vQcaio WO
513
RDPIR2)

=4

®?@
’ \

3 L

vQcazoo DG
513
RUPIR2)

vacasoo @ ®

513
(RL(P)(R2)

vQcaaoo G

L%

AT

513
(RL(P)(R2)

vQcasoo B6

Rubber seal type

| 4 -
SR ITArA

G

VQC4101

(A (®)
42

ol

513
(R1)(P)(R2)

A

vQcazor G

ol

513
(RL)(P)(R2)

.

vocaszor @6

513
(RL)(P)R2)

vQcado1 4 E)

A

1

513
(R1)(P)(R2)

vacasor BE)

513 513
(RL(PY(R2) (R1)(P)(R2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminium die-casted 1 Body Aluminium die-casted
2 | Spool/Sleeve Stainless steel 2 | Spool valve Aluminium, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

A
V118C1-0B
E
Coil type

[I: Coil rated voltage
Example) 24 V DC: 5

A
V118C1-0B
E
Coil type

[: Coil rated voltage
Example) 24 V DC: 5

a Pilot valve A: Single/With light 4 Pilot valve A: Single/With light
assembly B: Double, 3-position/With light assembly B: Double, 3-position/With light
| — | Standard (0.95W E: Single, Double, 3-position/ | — | Standard (0.95W E: Single, Double, 3-position/
Without light Low wattage type O4W)] | yithout light
31 Y
2 SNC



Series VQC4000

0007D0A

f Manifold

-
D-side end plate assembly

Exploded V

e|jobuis eyu

plojlueiN

auo0IzZznJ}so)

plojiuew
|9p 0sojds3

onopo.d [ap
ayayoads
Iuoizneaaid

000SO0A

e|jobuis enu

piojiueiN

[u0oIZznNiso)

plojiuew
|ap osojds3

onopoud |ap
ayauloads
Juoiznesald

p»side end plate assembly

Manifold block assembly

Housing assembly and S| Unit

S(EX600, EX250, EX126), F, P, T

Kit corrispondente

o AR
,|>AY~\ /nb

Note) There are two kinds of manifold blocks available, 2 stations integrated

type and 1 station type. 2 stations integrated type is used for even sta-

tions while 2 stations integrated type and 1 station type are combined [ ————

for odd stations.

©

5 stations (Odd number) [ 2 stations | 2 stations |lstation]
6 stations (Even number) | 2 stations [ 2 stations | 2 stations |

Kit corrispondente

S(EX500, EX260), L, M

009X3

00SX3

09¢X3

0G¢X3

9¢TX3

(10103UU02 gns-q)

(reuas) w1 s

WM 4

(2190 uoqau 1eid)
M d

(00|q reujwia L)

L

(311m pea)

LD

(10108UU0D IejN2lID)

N

32

\)



Series VQC4000

Manifold Assembly Part No.

Housing Assembly and Sl Unit/Input Block

No. Description Part no. Note
EX600-SDN1A DeviceNet™, Negative common (PNP)
EX600-SDN2A DeviceNet™, Positive common (NPN)
EX600-SMJ1 CC-Link, Negative common (PNP)
EX600-SMJ2 CC-Link, Positive common (NPN)
EX600-SPR1A PROFIBUS DP, Negative common (PNP)
EX600-SPR2A PROFIBUS DP, Positive common (NPN)
EX600-SEN1 EtherNet/IP™ (1 port), Negative common (PNP)
EX600-SEN2 EtherNet/IP™ (1 port), Positive common (NPN)
EX600-SEN3 EtherNet/IP™ (2 port), Negative common (PNP)
1 S! Unit EX600-SEN4 EtherNet/IP™ (2 port), Positive common (NPN)
EX600-SEC1 EtherCAT®, Negative common (PNP)
EX600-SEC2 EtherCAT®, Positive common (NPN)
EX600-SPN1 PROFINET, Negative common (PNP)
EX600-SPN2 PROFINET, Positive common (NPN)
EX600-WEN1 Note) | Base module EtherNet/IP™, Negative common (PNP)
EX600-WEN?2 Note) | Base module EtherNet/IP™, Positive common (NPN))
EX600-WPN1 Note) | Base module PROFINET, Negative common (PNP)
EX600-WPN2 Note) |  Base module PROFINET, Positive common (NPN)
EX600-WSV1 Note) | Remote module, Negative common (PNP)
EX600-WSV2 Note) | Remote module, Positive common (NPN)
EX600-DXNB NPN input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXPB PNP input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXNC NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs
EX600-DXNC1 NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXPC PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs
Digital Input Unit EX600-DXPC1 PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXND NPN input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXPD PNP input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXNE NPN input, D-sub connector, 25 pins, 16 inputs
EX600-DXPE PNP input, D-sub connector, 25 pins, 16 inputs
EX600-DXNF NPN input, Spring type terminal box, 32 pins, 16 inputs
EX600-DXPF PNP input, Spring type terminal box, 32 pins, 16 inputs
2 EX600-DYNB NPN output, M12 connector, 5 pins (4 pcs.), 8 outputs
EX600-DYPB PNP output, M12 connector, 5 pins (4 pcs.), 8 outputs
- . EX600-DYNE NPN output, D-sub connector, 25 pins, 16 outputs
Digital Output Unit -
EX600-DYPE PNP output, D-sub connector, 25 pins, 16 outputs
EX600-DYNF NPN output, Spring type terminal box, 32 pins, 16 outputs
EX600-DYPF PNP output, Spring type terminal box, 32 pins, 16 outputs
EX600-DMNE NPN input/output, D-sub connector, 25 pins, 8 inputs/outputs
Digital Input/Output Unit EX600-DMPE PNP i'nput/output, D-Sl.Jb connector,' 25 pins, 8 in.puts/o.utputs
EX600-DMNF NPN input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
EX600-DMPF PNP input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
Analogue Input Unit EX600-AXA M12 connector, 5 pins (2 pcs.), 2-channel input
Analogue Output Unit EX600-AYA M12 connector, 5 pins (2 pcs.), 2-channel output
Analogue Input/Output Unit EX600-AMB M12 connector, 5 pins (4 pcs.), 2-channel input/output
EX600-ED2 M12 power supply connector, B-coded
EX600-ED2-2 M12 connector, 5 pins, Max. supply current 2 A, with DIN rail mounting bracket
EX600-ED3 7/8 inch power supply connector
3 End plate EX600-ED3-2 7/8 inch connector, 5 pins, Max. supply current 8 A, with DIN rail mounting bracket
EX600-ED4 M12 power supply connector IN/OUT, A-coded, Pin arrangement 1
EX600-ED4-2 M12 connector, (4 pins/5 pins) IN/OUT, with DIN rail mounting bracket
EX600-ED5 M12 power supply connector IN/OUT, A-coded, Pin arrangement 2
EX600-ED5-2 M12 connector, (4 pins/5 pins) IN/OUT, with DIN rail mounting bracket
4 Valve plate EX600-ZMV1 Enclosed parts: Round head screws (M4 x 6) 2 pcs., Round head screws (M3 x 8) 4 pcs.
EX500-S103 EtherNet/IP™, PROFINET, Negative common (PNP)
5 SI Unit EX500-Q001 DeviceNet™, PROFIBUS DP, EtherNet/IP™, Positive common (NPN)
EX500-Q101 DeviceNet™, PROFIBUS DP, EtherNet/IP™, Negative common (PNP)

Note) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.

33

O

SvVC




Manifold Assembly Part No.

Exploded View of Manifold ~ Series VQC4000

Housing Assembly and Sl Unit/Input Block

No. Description Part no. Note
EX260-SDN1 DeviceNet™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SDN2 DeviceNet™, M12 connector, 32 outputs, Positive common (NPN) -
EX260-SDN3 DeviceNet™, M12 connector, 16 outputs, Negative common (PNP) 5
EX260-SDN4 DeviceNet™, M12 connector, 16 outputs, Positive common (NPN) %,
EX260-SRP1 PROFIBUS DP, M12 connector, 32 outputs, Negative common (PNP) b t%
EX260-SRP2 PROFIBUS DP, M12 connector, 32 outputs, Positive common (NPN)
EX260-SRP3 PROFIBUS DP, M12 connector, 16 outputs, Negative common (PNP) -
EX260-SRP4 PROFIBUS DP, M12 connector, 16 outputs, Positive common (NPN) g
EX260-SRP5 PROFIBUS DP, D-sub connector, 32 outputs, Negative common (PNP) g
EX260-SRP6 PROFIBUS DP, D-sub connector, 32 outputs, Positive common (NPN) —
EX260-SRP7 PROFIBUS DP, D-sub connector, 16 outputs, Negative common (PNP) c
EX260-SRP8 PROFIBUS DP, D-sub connector, 16 outputs, Positive common (NPN) %
EX260-SMJ1 CC-Link, M12 connector, 32 outputs, Negative common (PNP) %
EX260-SMJ2 CC-Link, M12 connector, 32 outputs, Positive common (NPN) §
6 S1 Unit EX260-SMJ3 CC-Link, M12 connector, 16 outputs, Negative common (PNP) —
EX260-SMJ4 CC-Link, M12 connector, 16 outputs, Positive common (NPN) E -
EX260-SEC1 EtherCAT®, M12 connector, 32 outputs, Negative common (PNP) _i g
EX260-SEC2 EtherCAT®, M12 connector, 32 outputs, Positive common (NPN) § g
EX260-SEC3 EtherCAT®, M12 connector, 16 outputs, Negative common (PNP) u%“é
EX260-SEC4 EtherCAT®, M12 connector, 16 outputs, Positive common (NPN) | ———
EX260-SPN1 PROFINET, M12 connector, 32 outputs, Negative common (PNP) s .,
EX260-SPN2 PROFINET, M12 connector, 32 outputs, Positive common (NPN) § é
EX260-SPN3 PROFINET, M12 connector, 16 outputs, Negative common (PNP) % g
EX260-SPN4 PROFINET, M12 connector, 16 outputs, Positive common (NPN) a
EX260-SEN1 EtherNet/IP™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SEN2 EtherNet/IP™, M12 connector, 32 outputs, Positive common (NPN)
EX260-SEN3 EtherNet/IP™, M12 connector, 16 outputs, Negative common (PNP) 8
EX260-SEN4 EtherNet/IP™, M12 connector, 16 outputs, Positive common (NPN) 8
EX260-SPL1 EtherNet POWERLINK, M12 connector, 32 outputs, Negative common (PNP) O
EX260-SPL3 EtherNet POWERLINK, M12 connector, 16 outputs, Negative common (PNP) 9
EX250-SPR1 PROFIBUS DP, Negative common (PNP)
EX250-SMJ2 CC-Link, Positive common (NPN)
EX250-SAS3 AS-Interface, 8 in/8 out, 31 slave modes, 2 power supply systems, Negative common (PNP) =
EX250-SAS5 AS-Interface, 4 in/4 out, 31 slave modes, 2 power supply systems, Negative common (PNP) 3
7 Sl Unit EX250-SAS7 AS-Interface, 8in/8 out, 31 slave modes, 1 power supply system, Negative common (PNP) ED
EX250-SAS9 AS-Interface, 4 in/4 out, 31 slave modes, 1 power supply system, Negative common (PNP)| B2
EX250-SCA1A CANopen, Negative common (PNP)
EX250-SDN1 DeviceNet™, Negative common (PNP) )
EX250-SEN1 EtherNet/IP™, Negative common (PNP) %
EX250-IE1 M12, 2 inputs g
8 Input block EX250-1E2 M12, 4 inputs —
EX250-IE3 M8, 4 inputs s
9 End plate assembly EX250-EA1 Direct mountlng ‘g
EX250-EA2 DIN rail mounting 3
10 | Sl Unit EX126D-SMJ1 CC-Link, Positive common (NPN) é
11 Terminal block plate VVQC1000-74A-2 For EX126 S| Unit mounting —
12 D-sub connector housing assembly VVQC1000-F25-1 F kit, 25 pins é 5
13 Flat ribbon cable housing assembly VVQC1000-P26-1 P k?t’ 26 p?ns 5 "%
VVQC1000-P20-1 P kit, 20 pins =
14 | Terminal block box housing assembly VVQC1000-T0-1 T kit L%B
VVQC1000-L25-0-1 L kit with 0.6 m lead wire | ou—
15 Lead wire housing assembly VVQC1000-L25-1-1 L kit with 1.5 m lead wire g ©
VVQC1000-L25-2-1 L kit with 3.0 m lead wire £
16 | Circular connector housing assembly VVQC1000-M26-1 M kit, 26 pins % §
%D.
B—

O

SVC 34



Series VQC4000

Manifold Assembly Part No.

D-side end plate assembly Manifold block assembly
(7 D-side end plate assembly part no. (9 Manifold block assembly part no.
VVQC4000-3A-[2] g VVQC4000-1 [A]-[D]-[C6]
Option Thread type
= Standard Type (Thread port only)
s Bl{|lt-|n silencer, For 1 station — Re
Direct exhaust For 2 stations Note 2) E G
Note 1) Tie-rods (2 pcs.) for addi- T NPTF
Thread type tional stations included. N NPT
— Re Note 2) Bottom ported type is .
E G available only for 1 sta- e Port size
l T '\,‘\I'TIFF tion. Symbol Port size
Kit type - Wiring specifi cations ® S tos
F, P, T, S (EX126, EX250, EX600) kit % pDouble —_— 5180 g?o
L, M, S (EX260, EX500) kit S @l C12 (012
. Note 3) Single wiring is N7 g 14 -
U-side end plate assembly available only for 1 ’\ll\lfl gggﬁ
@0 U-side end plate assembly part no. station. o5 iz
03 |3/8"
VVQC4000-2A-1 g B | L4 botiom ported
Option Replacement Parts
— Standard
s Built-in silencer, A [ Coil rated voltage
Direct exhaust | | V118 'DE Example) 24 V DC: 5
Pilot valve 'Q A: Single/With light
Thread type VQC4000 assembly | $Coil type B: Double, 3-position/With light
— Rc E: Single, Double, 3-position/
F G ow wattage type 04 W) || \without light
T NPTF
N NPT

(9 Tie-rod assembly part no. (2 units)
‘ VQC4000

VVQC4000-TR-CJ

Note 1) Please order when reducing the number
of manifold stations. When increasing the
number of stations, additional orders are
not required since they are included in the
manifold block assembly.

Note 2) Number of stations, 02 to 16

35

O
2



Exploded View of Manifold ~ Series VQC4000

List of Valves, Options, and Mounting Bolts

Number

of optios Valve and options Bolt part no. (Bcs) Note Option mounting diagram
Single valve AXT632-17-4 3 = Valve =
9 (M3 x 37)
O 1=} 1=} 1=}
— — ]
Blanking plate AXT632-38-1 .
(VVQ4000-10A- 1) (M3 x 14) 4 | For manifold Blanklg plat il
Valve + Individual SUP spacer (D AXT632-17-10 (M3 x 62) 3 For manifold
(VVQ4000-P- ¢ - %) 2) AXT632-17-19 (M3 X 26) 2
Valve + Individual EXH spacer (D AXT632-17-10 (M3 x 62) 3 For manifold
(VVQ4000-R- 5-§3) 2 AXT632-17-19 (M3 x 26) 2
Valve + Restrictor spacer (D AXT632-17-10 (M3 x 62) 3 @\ @
(VVQ4000-20A- 1) (2) AXT632-17-19 (M3 x 26) 2 | Not necessary when mounting the sub-plate. = =
Valve + Release valve spacer (D AXT632-17-10 (M3 x 62) 3 : Valve
(VWQ4000-24A- 1 D) For manifold
5 (2 AXT632-17-19 (M3 X 26) 2 spacer &
1 | Valve + SUP stop valve spacer (D AXT632-17-10 (M3 x 62) 3 U [T [J©
(VVQ4000-37A- 5) (@ AXT632-17-19 (M3 x 26) 2| Not necessary when mounting the sub-plate.
Valve + Double check spacer with residual pressure exhaust | (D AXT632-17-11 (M3 x 87) 3
(VVQ4000-25A-3) (2 AXT632-41-1 (M3 x 54) 2| Not necessary when mounting the sub-plate.
Valve + Interface regulator (1) AXT632-17-11 (M3 x 87) 3
A
(ARBQ4000-008 - 5) (2 AXT632-17-8 (M3 x 52) 2| Not necessary when mounting the sub-plate.
| |
AXT632-41-4 (M3 x 42 3 :
Blanking plate + SUP stop valve @ ( ) ) Blanking plate ] _(2)
For manifold S
(Top) (Bottom) pacer
(2) AXT632-17-19 (M3 x 26) 2 [N I R N
Valve + Individual SUP + Individual EXH (1) AXT632-17-11 (M3 x 87) 3
(Top) (Bottom) For manifold
(Bottom) (Top) (2 AXT632-17-8 (M3 x 52) 2
Valve + Restrictor + Individual SUP or Individual EXH| (1) AXT632-17-11 (M3 x 87) 3 | For manifold
(Top) (Top) The individual EXH cannot be
(Bottom) (Bottom) (2) AXT632-17-8 (M3 x 52) 2| mounted on the top.
Valve + SUP stop valve + Individual SUP, (1) AXT632-17-11 (M3 x 87 3
(Top) Individual EXH or ( ) For manifold ONg
Restrictor (Bottom) | (2) AXT632-17-8 (M3 x 52) 2 = =
Valve + Double check spacer with + Individual SUP or | (1) AXT632-17-14 (M3 x 112) 3 Valve
residual pressure exhaust  Individual EXH Eor manifold 4]
(Top) (Bottom) (2 AXT632-41-2 (M3 x 78) 2 Spacer (Top)
2 | Valve + Interface regulator + Individual SUP, Individual EXHor | (1) AXT632-17-14 (M3 x 112) 3 | For manifold Spacer (Bottom) ]
(Top) Restrictor The individual EXH and restrictor oo o oUd
(Bottom) (2) AXT632-41-2 (M3 x 78) 2| can be mounted on the top.
Valve + Restrictor + Double check spacer with | (1) AXT632-17-14 (M3 x 112) 3
(Top) residual pressure exhaust For manifold
(Bottom) (2) AXT632-41-2 (M3 x 78) 2
Valve + Double check spacer with + Interface regulator | (1) AXT632-17-16 (M3 x 137) 3
residual pressure exhaust (Top) For manifold
(Bottom) (2 AXT632-41-3 (M3 x 103) 2
o
1 -
) N (D AXT632-17-17 (M3 x 66) 3 O—/EIB'ankmg plate l@@
Blanking plate + SUP(s_lgcc))%B/alve + Incéggittizln?)UP For manifold Spacer (Top) -
(2 AXT632-17-8 (M3 x 52) 2 Spacer (Bottom)
oo 8] oo
Valve + SUP stop valve (Top) (D AXT632-17-14 (M3 x 112) 3
+ Individual SUP (Middle, Bottom) For manifold
+ Individual EXH (Middle, Bottom) (2) AXT632-17-13 (M3 x 77) 2
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 ®\ P
exhaust (Top) + Individual SUP (Middle, Bottom) For manifold = =
+ Individual EXH (Middle, Bottom) (2) AXT632-41-3 (M3 x 103) 2 Valve
Valve + Spacer (Top): Interface regulator (D) AXT632-17-16 (M3 x 137) 3 | For manifold s (Top) ]
3 Spacer (Middle): “Individual SUP or Individual EXH'/*Restrictor” The individual EXH and restrictor pacer (Top i
Spacer (Bottom): “Restrictor’Individual SUP or Individual EXH’ | (2 AXT632-41-3 (M3 x 103) 2| can be mounted on the top. Spacer (Middle)
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 Spacer (Bottom)UL
exhaust (Top) + SUP stop valve (Middle) For manifold oo ] oo
+ Individual SUP (EXH) (Bottom) (2 AXT632-41-3 (M3 x 103) 2
Vglve +lInterface regulator (Top) * Double check spacer | (1) AXT632-17-20 (M3 x 162) 3 | For manifold
with residual pressure exhaust (Middle) available as special order
+ Individual SUP (EXH) (Bottom) (2 AXT632-41-5 (M3 x 128) 2 P
Note) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.
36

SvVC

O

IE):)?I:/Idaer?if:J/IEW IConstruction T Manifold ISingIe Unit

Specific Product
Precautions

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Precautions

Specific Product

l



Series VQC4000

Al

Specific Product Precautions 1

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on the SMC website, http://www.smc.eu

] Continuous Duty \

| Valve Mounting

A Warning

When the product is continuously energised for a long
period of time (10 minutes or longer), select the low
wattage type (DC specification). The AC type cannot
be continuously energised for 10 minutes or longer. If
anything is unclear, please contact SMC.

] Manual Override

A Warning

Since connected equipment will operate when the
manual override is activated, confi rm that conditions
are safe prior to activation.

B VQC4000

Push type (Tool required)
Bore g5

Push down the manual override
button with a small screwdriver,
etc., until it stops.

The manual override will return
when released.

Push down the manual override
button with a small flat head
screwdriver until it stops, and
turn it clockwise 90° to lock it.

Turn it counterclockwise to release it.

Locking type (Tool required)
b

Bore g5

s

Locking type (Manual)
d) 1

PUSH H

=] TURN

DeTrock]

Push down the manual override
button with a small flat head
screwdriver or with your finger
until it stops, and turn it
clockwise 90° to lock it. Turn it
counterclockwise to release it.

3 mm

A\ Caution
Do not apply excessive torque when turning the
locking type manual override. (0.1 N-m or less)

37

O

/\ Caution

After confi rming that the gasket is installed correctly,
securely tighten the mounting screws according to the
tightening torque shown below.

Mounting screw (M3)
Proper tightening torque [N-m] H i
0.8to 1.2

] Replacement of One-touch Fittings

/\ Caution

Cylinder port fi ttings are available in cassette type and
can be replaced easily. Fittings are secured with a
retaining clip that is inserted from the top side of the
valve. After removing the valve, remove the clip with a
flat head screwdriver to replace the fi ttings. To mount a
fitting, insert the fitting assembly until it stops and
reinsert the retaining clip

to its designated position. N
| "\ Clip
Applicable | Fitting assembly part no.
tube O.D. VQC4000

[2]3) VVQ4000-50B-C6
28 VVQ4000-50B-C8
@10 VVQ4000-50B-C10
@12 VVQ4000-50B-C12
@ 1/4" | VVQ4000-50B-N7
@ 5/16" | VVQ4000-50B-N9
@ 3/8" | VVQ4000-50B-N11

] Installation and Removal of Light Cover \

/A Caution

Installation/Removal of light cover

* Removal
Open the cover by inserting a small flat head screwdriver into
the slot on the side of the pilot assembly (see drawing below),
lift the cover out about 1 mm and then pull off. If it is pulled off
at an angle, the pilot valve may be damaged or the protective
O-ring may be scratched.

« Installation
Place the cover straight
over the pilot assembly
so that the pilot valve is
not touched, and push it
until the cover hook
locks without twisting
the protective O-ring.
(When pushed in, the
hook opens and locks
automatically.)

SvVC



Series VQC4000
Specific Product Precautions 2
Be sure to read this before handling. Refer to the back cover for Safety Instructions.

For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC
Products” and the Operation Manual on the SMC website, http://www.smc.eu

] Replacement of Pilot Valve

/A Caution

* Removal

1) Remove the mounting screw
that holds the pilot valve using
a small screwdriver.
* Installation
1) After confirming the gasket is
correctly placed under the
valve, securely tighten the

bolts with the proper torque Aside / \M

shown in the table below.

Ey Light assembly

= Refer to page 31 for pilot valve assembly part number.

Proper tightening torque [N-m]
0.1t00.13

Note) The light circuit boards: A side is

orange and the B side is green.

It must be mounted on the pilot
. . Lo Lo

valve in accordance with the

mounting indicators.
9 O

Mounting
indicator

] Internal Wiring Specifi cations

A\ Caution
Q\J—(ﬂ

o 8
SoL g .
s e
O
LED: Orange COM: +(-)
DC: Single
A side: — (+) B side: — (+)
O O O O
u S U
SoL 2 T soL
©
>
: : 0 O 0 O L
A side LED: Orange COM: +(-) B side LED: Green

DC: Double

Note) Coil surge voltage generated when OFF is about —60 V. Please contact
SMC separately for further suppression of the coil surge voltage.

How to Calculate the Flow Rate

For obtaining the flow rate, consult SMC.

38

Exploded View . . ] _
I of Manifold IConstructlon IMamfoId Ismgle Unit

Specific Product
Precautions

—

Exploded View . ) ) _
I of Manifold IConStructlon I Manifold ISlngIe Unit

Specific Product
Precautions

l



Al

Series VQC4000

Specific Product Precautions 3

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on the SMC website, http://www.smc.eu

Serial Wiring EX500/EX260/EX250/EX126 Precautions

AWarning

1.

3.

.Do not use in explosive environments,

. Do not modify these products. Modifi

These products are intended for use in general
factory automation equipment.

Avoid using these products in machinery/equipment which
affects human safety, and in cases where malfunction or
failure can result in extensive damage.

in the
presence of infl ammable gases, or in corrosive
environments. This can cause injury or fi  re.

Work such as transporting, installing, piping, wiring,
operation, control and maintenance should be
performed by knowledgeable and qualified
personnel only. As handling involves the risk of a
danger of electrocution, injury or fi  re.

. Install an external emergency stop circuit that can

promptly stop operation and shut off the power supply.

cations done to
these products carry the risk of injury and damage.

A\ Caution

1. Read the Operation Manual carefully, strictly

39

observe the precautions and operate within the
range of the specifi cations.

.Do not drop these products or submit them to

strong impacts. This can cause damage, failure or
malfunction.

. In locations with poor electrical conditions, take

steps to ensure a steady fl ow of the rated power
supply. Use of a voltage outside of the specifi  cations
can cause a malfunction, damage to the Unit,
electrocution or fi re.

. Do not touch connector terminals or internal circuit

elements when current is being supplied. There is a
danger of malfunction, damage to the Unit or
electrocution if connector terminals or internal circuit
elements are touched when current is being supplied.

Be sure that the power supply is OFF when adding or
removing manifold valves or input blocks or when connecting
or disconnecting connectors.

. Operate at an ambient temperature that is within the

specifi cations. Even when the ambient temperature
range is within the specifications, do not use in
locations where there are rapid temperature changes.

. Keep wire scraps and other extraneous materials

from getting inside these products. This can cause
fire, failure or malfunction.

. Give consideration to the operating environment

depending on the type of enclosure being used.

To achieve IP67 protection, provide appropriate wiring between
all Units using electrical wiring cables, communication
connectors and cables with M12 connectors. Also, provide
waterproof caps when there are unused ports, and perform
proper mounting of Input Units, input blocks, SI Units and
manifold valves. Provide a cover or other protection for
applications in which there is constant exposure to water.

. Use the proper tightening torques.

There is a possibility of damaging threads if tightening
exceeds the tightening torque range.

. Provide adequate protection when operating in

locations such as the following:

- Where noise is generated by static electricity

- Where there is a strong electric field

- Where there is a danger of exposure to radiation
- When in close proximity to power supply lines

O

11.

12.
13.

14.

15.

16.
17.

/\ Caution

10. When these products are installed in equipment,

provide adequate protection against noise by using
noise fi Iters.

Since these products are components whose end
usage is obtained after installation in other
equipment, the customer should confi  rm conformity
to EMC directives for the fi nished product.

Do not remove the name plate.

Perform periodic inspections and confi  rm normal
operation, otherwise it may be impossible to
guarantee safety due to unexpected malfunction or
erroneous operation.

Take great care since the Sl Unit side surface of the
EX260-SPNO may become hot, causing burn hazard.
Do not use in places where there are cyclic
temperature changes.

In case that the cyclic temperature is beyond normal temperature
changes, the inside product unit is likely to be adversely effected.
Do not use in direct sunlight.

Do not use in direct sunlight. It may cause malfunction or damage.
Do not use in places where there is radiated heat
around it.

Such a place is likely to cause malfunction.

|

Power Supply Safety Instructions

/\ Caution

1

2.

. Operation is possible with a single power supply or a

separate power supply. However, be sure to provide
two wiring systems (one for solenoid valves, and one
for Input and Control Units). When it is UL compliant,
use a class 2 power supply unit in accordance with
UL1310 for a combined direct current power supply.

Select the proper type of enclosure according to the
environment of operation.

IP65/67 protection class is achieved when the following
conditions are met.

1) The Units are connected properly with wiring cable for power
supply, communication connector, and cable with M12 connector.
2) Suitable mounting of each Unit and manifold valve.

3) Be sure to mount a seal cap on any unused connectors.

If using in an environment that is exposed to water splashes,
please take measures such as using a cover.

For IP40 protection class, do not use in atmospheres with
corrosive gas, chemicals, sea water, water, steam, or where
there is direct contact with any of these.

When EX260-SPR5/6/7/8 are connected, the enclosure of the
manifold should be 1P40.

|

Cable Safety Instructions

/\ Caution

SvVC

1. Avoid miswiring, as this can cause a malfunction,

damage and fi re in the Unit.

. To prevent noise and surge in signal lines, keep all

wiring separate from power lines and high voltage
lines. Otherwise, this can cause a malfunction.

. Check wiring insulation, as defective insulation can

cause damage to the Unit when excessive voltage
or current is applied.

. Do not bend or pull cables repeatedly, and do not

place heavy objects on them or allow them to be
pinched. This can cause broken lines.



Al

Series VQC4000

Specific Product Precautions 4

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on the SMC website, http://www.smc.eu

EX600 Precautions \

|

Design / Selection \

|

Mounting \

AWarning

1.

2.

Do not use beyond the specifi cation range.

Using beyond the specification range can cause a fire, mal-

function, or damage to the system.

Check the specifications before operation.

When using for an interlock circuit:

* Provide a multiple interlock system which is oper-
ated by another system (such as mechanical pro-
tection function).

» Perform an inspection to confi
properly.

Otherwise, this may cause possible injuries due to malfunction.

rm that it is working

/A Caution

1.

When applicable to UL, use a Class 2 power supply
unit conforming to UL1310 for direct current power

supply.

. Use within the specifi ed voltage range.

Using beyond the specified voltage range is likely to cause the
product to be damaged or to malfunction.

. The power supply for the unit should be 0 V as the

standard for both power supply for output as well
as power supply for control/input.
+24V

I Power supply for output
fl—g o

= Power supply for control/input
[

+24V

I Power supply for output
fl—g o

= Power supply for control/input
T—o -24V

. Do not install in places where it can be used as a

foothold.
Applying any excessive load such as stepping on the product
by mistake or placing a foot on it, will cause it to break.

. Keep the surrounding space free for maintenance.

When designing a system, take into consideration the amount
of free space needed for performing maintenance.

. Do not remove the name plate.

Improper maintenance or incorrect use of Operation Manual
can cause equipment failure or malfunction. Also, there is a
risk of losing conformity with safety standards.

. Beware of inrush current when the power supply is

turned on.

Some connected loads can apply an initial charge current
which will trigger the over current protection function, causing
the Unit to malfunction.

O

1.

2.

3.

4.

5.

/A Caution

When handling and assembling Units:
* Do not touch the sharp metal parts of the connec-
tor or plug.
» Do not apply excessive force to the Unit when dis-
assembling.
The connecting portions of the Unit are firmly joined with seals.
* When joining Units, take care not to get fi  ngers
caught between Units.
Injury can result.

Do not drop, bump, or apply excessive impact.
Otherwise, this can cause damage, equipment failure or mal-
function.

Observe the tightening torque range.

Tightening outside of the allowable torque range will likely
damage the screw.

IP67 cannot be guaranteed if the screws are not tightened to
the specified torque.

When lifting a large size Manifold Solenoid Valve
Unit, take care to avoid causing stress to the valve
connection joint.

The connection joint with the Unit may be damaged.

Because the product may be heavy, carrying and installation
should be performed by more than one operator to avoid
strain or injury.

When placing a manifold, mountitonafl  at surface.

Torsion in the whole manifold can lead to trouble such as air
leakage or contact failure.

|

Wiring

1.

2.

3.

SvVC

/A Caution

Provide the grounding to maintain the safety of the
reduced wiring system and to improve the noise
immunity.

Provide a specific grounding as close to the Unit as possible
to minimise the distance to grounding.

Avoid repeatedly bending or stretching the cable
and applying a heavy object or force to it.

Wiring applying repeated bending and tensile stress to the
cable can break the circuit.

Avoid miswiring.

If miswired, there is a danger of malfunction or damage to the
reduced wiring system.

40

Exploded View . . ] _
of Manifold IConstructlon I Manifold ISlngIe Unit

[

Specific Product
Precautions

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Specific Product
Precautions

l



Series VQC4000
Specific Product Precautions 5

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on the SMC website, http://www.smc.eu

\ EX600 Precautions \

’ Operating Environment \

/A Caution

| Wiring |

/A Caution

4. Do not wire while energising the product. 2. Provide adequate protection when operating in lo-

There is a danger of malfunction or damage to the reduced
wiring system or input/output device.

5. Avoid wiring the power line and high pressure line
in parallel.

Noise or surge produced by signal line resulting from the pow-
er line or high pressure line could cause a malfunction.

Wiring of the reduced wiring system or input/output device
and the power line or high pressure line should be separated
from each other.

por. When connected to the EX600-DOOE or EX600-DOOF,
manifold enclosure is IP40.

Also, the Handheld Terminal conforms to IP20, so prevent for-
eign matter from entering inside, and water, solvent or oil from
coming in direct contact with it.

41

ZSNC

cations such as the following.

Failure to do so may cause a malfunction or equipment failure.
The effect of countermeasures should be checked in individu-
al equipment and machine.

1) Where noise is generated by static electricity etc.
2) Where there is a strong electric field
3) Where there is a danger of exposure to radiation

4) When in close proximity to power supply lines

around it.
Such places are likely to cause a malfunction.

L . 3. Do not use in an environment where oil and chemi-

6. Check. for. the vylrlng msulatpn. S . : cals are used.
gﬁ;en(:tg/eetvllr;zuﬁté?&i(rfglgtagtc".\;'tgg;hsggggu(;;sr’n'%%rc:getrhglsrg: Operating in environments with coolants, cleaning solvents,
duced wiring system or i’nputloutput device due to excessive various o_|Is or chemlca_lls may cause adver_se effepts (damage,

w malfunction) to the Unit even in a short period of time.
voltage or current. ! ] ]

7. When the reduced wiring system is installed in ;4. Do not use in an environment wherc_e t_he product
machinery/equipment, provide adequate protection : cogld be exposed to cgrroswe ga; or liquid. i
against noise by using noise fi  Iters etc. 3 This may damage the Unit and cause it to malfunction.

Noise in signal lines may cause a malfunction. . 5. Do not use in locations with sources of surge gen-

8. When connecting wires of input/output device or 3 eratlon.. o )

Handheld Terminal, prevent water, solvent or oil Installation of .the. Unit in an area aroqnd th.e equipment

L . | (electromagnetic lifters, high frequency induction furnaces,
from entering inside from the connecter section. welding machine, motors, etc.), which generates the large
Otherwise, this can cause damage, equipment failure or mal- surge voltage could cause to deteriorate an internal circuitry
function. element of the Unit or result in damage. Implement counter-

9. Avoid wiring patterns in which excessive stress is measures against the surge from the generating source, and
applied to the connector. : avoid touching the lines with each other.

This may cause equipment failure or malfunction due to con- | 6. Use the product type that has an integrated surge
tact failure. 3 absorption element when directly driving a load
: which generates surge voltage by relay, solenoid
_ _ valves or lamp.
Operating Environment When a surge generating load is directly driven, the Unit may
. be damaged.

Awamlng 1 7. The product is CE marked, but not immune to light-

1. Do not use in an atmosphere containing an infl  am- ning strikes. Take measures against lightning
mable gas or explosive gas. } strikes in your system.

Use in such an atmosphere is likely to cause a fire or explo- 8. Keep dust, wire scraps and other foreign matter
sion. This system is not explosion-proof. from entering inside the product.

A C . This may cause equipment failure or malfunction.

aUtlon ' 9. Mount the Unit in such locations, where no vibra-
1. Select the proper type of enclosure according to the } tion or shock is affected.
environment of operation. This may cause equipment failure or malfunction.
IP65/67 is achieved when the following conditions are met. ' 10. Do not use in places where there are cyclic tem-
1) P_r(_)vide appropriate Wi_ring_ between Units using electrigal perature changes.
VI\\/III;_ISQ cables, communication connectors and cables with In case that the cyclic temperature is beyond normal tempera-
connectors. ! ture changes, the internal Unit is likely to be adversely affect-
2) Suitable mounting of each Unit and manifold valve. ! ed.
3) Bg su.re to mouht a seal cap qn any unused connectors. 11. Do not use in direct sunlight.
If using in an environment that is exposed to water splashes, This may cause equipment failure or malfunction.
please take measures such as using a cover. !
When the enclosure is IP40, do not use in an operating envi- 1 12. Observe the ambient temperature range.
ronment or atmosphere where it may come in contact with This may cause a malfunction.
corrosive gas, chemical agents, seawater, water, or water va- | 13.Do not use in places where there is radiated heat



Series VQC4000

Al

Specific Product Precautions 6

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC

Products” and the Operation Manual on the SMC website, http://www.smc.eu

\ EX600 Precautions \

] Adjustment / Operation \

] Maintenance \

A Warning

1. Do not perform operation or setting with wet hands.
There is a risk of electrical shock.

<Handheld Terminal>

2. Do not apply pressure to the LCD.
There is a possibility of the crack of LCD and injuring.

3. The forced input/output function is used to change
the signal status forcibly. When operating this func-
tion, be sure to check the safety of the surround-
ings and installation.

This may cause, injuries or equipment damage.

4. Incorrect setting of parameters can cause a mal-
function. Be sure to check the settings before use.
This may cause injuries or equipment damage.

A\ Caution

1. Use a watchmakers’ screwdriver with thin blade for
the setting of each switch of the Sl Unit.
When setting the switch, do not touch other unre-
lated parts.
This may cause parts damage or malfunction due to a short circuit.

2. Provide adequate setting for the operating conditions.
Failure to do so could result in malfunction.
Refer to the Operation Manual for setting of the switches.

3. For details on programming and address setting,
refer to the manual from the PLC manufacturer.
The content of programming related to protocol is designed by
the manufacturer of the PLC used.

<Handheld Terminal>

4. Do not press the setting buttons with a sharp point-
ed object.
This may cause damage or equipment failure.

5. Do not apply excessive load and impact to the set-
ting buttons.
This may cause damage, equipment failure or malfunction.
‘F When the order does not include the Sl Unit, a valve plate which ‘
| connects the manifold and S| Unit, is not mounted. Use attached !
| valve holding screws and mount the valve plate. !
| (Tightening torque: 0.6 to 0.7 N-m)

Screw tightened parts
: 4 places

A Warning

1. Do not disassemble, modify (including circuit board
replacement) or repair this product.
Such actions are likely to cause injuries or equipment failure.

2. When an inspection is performed,
e Turn off the power supply.
« Stop the air supply, exhaust the residual pressure
in piping and verify that the air is released before
performing maintenance work.

Unexpected malfunction of system components and injury
can result.

A\ Caution

1. When handling and replacing Units:

* Do not touch the sharp metal parts of the connec-
tor or plug.

» Do not apply excessive force to the Unit when dis-
assembling.
The connecting portions of the Unit are firmly joined with seals.

e When joining Units, take care not to get fi ngers
caught between Units.
Injury can result.

2. Perform periodic inspection.
Unexpected malfunction in the system composition devices is
likely to occur due to malfunction of machinery or equipment.
3. After maintenance, make sure to perform an appro-
priate functionality inspection.

In cases of abnormality such as faulty operation, stop opera-
tion. Unexpected malfunction in the system composition
devices is likely to occur.

4. Do not use benzine and thinner for cleaning Units.

Damage to the surface or erasure of the display can result.
Wipe off any stains with a soft cloth.

If the stain is persistent, wipe off with a cloth soaked in a dilute
solution of neutral detergent and wrung out tightly, and then
finish with a dry cloth.

Other

/A Caution

1. Refer to the catalogue of each series for Common
Precautions and Specifi ¢ Product Precautions on
manifold solenoid valves.

B Trademark
DeviceNet™ is a trademark of ODVA.
EtherNet/IP™ is a trademark of ODVA.

EtherCAT® is registered trademark and patented technology, licensed by Beckhoff Automation GmbH, Germany.

-~
Z

SvVC

42

ingle Unit

IConstruction I Manifold IS

Exploded View
of Manifold

[

Specific Product
Precautions

—

IEéglﬁﬂd;rﬁngW IConStruction I Manifold ISingIe Unit VQC5000

Specific Product
Precautions

l



Base Mounted

Plug-in: Single Unit

Series VQC5000 ce

Model
Flow-rate characteristics Response time [ms]
Series  |Configuration Model ;22 1- 42 (P> AB) 412 > 5/3 (AIB > EA/EB) | g1andard: Lowtyvvattage W[ek'g]ht
’ ; pe:
Cmishay] b | cv |@ [”;‘”;‘e(é‘)NR)] Clmistay] b | Cv |Q “m’:e(SNR” 0.95W | iy
| sinal Metal seal |[VQC5100 12 0.14 | 2.9 2782 14 0.18 | 34 3316 35 38 0.59
ingle
:% . Rubber seal [ VQC5101 16 0.33 | 44 4148 17 0.31 | 4.7 4350 40 43 0.58
E}_ Doubl Metal seal [VQC5200 12 0.14 | 2.9 2782 14 0.18 | 34 3316 20 23 0.62
o~ | Double
Rubber seal [ VQC5201 16 033 | 44 4148 17 031 | 4.7 4350 25 28 0.60
Closed |Metalseal |VQC5300 11 024 | 2.6 2696 11 0.23 | 2.8 2681 50 53 0.65
VOC5000 centre | Rubber seal VQC5301 12 12 033 | 34 3111 13 0.37 | 3.7 3462 60 63 0.58
| Exhaust Metal seal [VQC5400 12 0.13 | 2.9 2767 14 0.18 | 34 3316 50 53 0.65
:% centre | Rubber seal | VQC5401 14 0.39 | 3.9 3781 16 035 | 45 4203 60 63 0.58
(% Pressure | Metal seal | VQC5500 12 0.23 | 2.9 3824 13 0.24 | 3.3 3187 50 53 0.65
centre | Rubber seal | VQC5501 13 0.32 | 34 3348 14 0.40 | 3.9 3808 60 63 0.58
Double |Metal seal |VQC5600 8.0 — — 1731 8.5 — — 1839 62 65 117
check | Rubber seal | VQC5601 8.3 — | — | 1796 9.0 — | — | 1947 75 78 1.10
Note 1) Value for valve on sub-plate
Note 2) Cylinder port 1/2: Value for valve on sub-plate
Note 3) Based on JIS B 8375-1981. (Supply pressure: 0.5 MPa {5.1 kgf/lcm?}, with indicator light and surge voltage suppressor,
¥ " clean air. This will change depending on pressure and air quality.) The value when ON for the double type.
{ . 5 Note 4) Table: Without sub-plate, With sub-plate: Add 0.65 kg.
[ Note 5) These values have been calculated according to ISO 6358 and indicate the flow rate under standard conditions
‘"i ; E - -.'* with an inlet pressure of 0.6 MPa (relative pressure) and a pressure drop of 0.1 MPa.
- i [
- Plug-in unit . .
I.,| E-"-_ Standard Specifi cations
Valve construction Metal seal Rubber seal
Symbol Fluid Air/Inert gas
2-position single 3-position closed centre Max. operating | Standard (DC and AC) 1.0 MPa
(ﬁ)(g) (ﬁ)(g) 0 pressure Low wattage type (DC) '
c
2 Min. Single 0.10 MPa 0.20 MPa
[ZEM 8 operating Double 0.10 MPa 0.15 MPa
513 513 E ressure _positi
RDPIR2) ROPYR2) S p 3-position 0.15 MPa 0.20 MPa
2-position double (Metal) ~ 3-position exhaust centre @ Proof pressure 1.5 MPa
e NG % Ambient and fl uid temperature -5 t0 50 °C Note )
MEX} ﬁ%q .\H H/ % > Lubrication Not required
A e Manual override Push type/Locking type (Tool required) Option/Locking type (Manual)
(RL)(P)YR2) (R15)(é)(3R2) Impact/Vibration resistance 150/30 m/s2 Note 2)
2-position double (Rubber) 3-position pressure centre Enclosure Dust-tight (IP67 compatible) Note 3)
A) (B A) (B
(4)(2) “» Coil rated voltage 12,24V DC
mﬂﬂ@ g § Allowable voltage fl uctuation +10 % of rated voltage
513 RN 5 § Coil insulation type Class B or equivalent
(RL)(P)(R2) (R1)(P)(R2) ] g Power consumpiion |24 V DC 0.95, (0.4 low voltage type)
3-position douPE!;e check 2w 12V DC 0.95, (0.4 low voltage type)
2 Note 1) Use dry air to prevent condensation when operating at low temperatures.
% Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction
and at the right angles to the main valve and armature in both energised and de-
513 energised states every once for each condition. (Values at the initial period)
RI(P)R2) Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was
performed at both energised and de-energised states in the axial direction and at
the right angles to the main valve and armature. (Values at the initial period)
Note 3) Only applicable to S, T, L and M kits
43

SvVC

O



el singe unit: Series VQC5000

N\
m

How to Order Valves S
o
<
o
A \/QC5 [1/0(0] |-|5 1- S
. lThread type
Type of actuation — Rc E
2-position single 3-position closed centre N NPT g
A) (B =
“®© NS T | NPTF 2
1 MM 3 F G | 0 —
513 513 .
RL(P)R2) (RLP)R2) e Port size o
2-position double 3-position exhaust centre Without sub-plate -“%
(A (B) (A)(B) - (For manifold) <
8 il il 04 112 =
© 4
| oI || ¢ | AL —
. e . c
513 513 ® Porting specifi cations S
2 (R1)(PXR2) (R1)(P)(R2) gS. dp od °
2-position double 3-position pressure centre — Ice porte g
(A)@B) (A)(B) B Bottom ported @
5 42 42 S
8 5 . ©
& mﬂ ¢ Manual override | c—
=
513 513 . ; . ; . ; )
RUPYR?) RIPYR?) — Nondocking | & (LTOOCO'T':‘EQ i ¢ (L;;;E,'Sgl;y"e >3
Note) For double check 3-position double check pT Ityp ed ‘ q E c
type, refer to the (A)(B) (Tool required) © i S=
catalogue of the 4 2 O L%‘B
VQ4000/5000 series | 6 E%] NS —
on the website
www.smc.eu . 513 g »
(R1)(P)(R2) Bs
asg
o ©
=g
Body e e
wn
0: Plug-in Seal® e Light/Surge voltage suppressor
sub-plate 0 Metal seal — Yes
1 | Rubber seal E | Without light, with surge voltage suppressor
Function e .
oD | Standard (0.95 W) ¢ Coil voltage
Y Low wattage type (0.4 W) S 24V DC
R Note 2) External pilot 6 12vDC

Note 1) When the power is energised continuously,
refer to “Specific Product Precautions 1” on
page 73.

Note 2) For details about external pilot type, refer to the
catalogue of the VQ4000/5000 series on the
website www.smc.eu . In addition, external pilot
type cannot be combined with a double check
spacer.

Note 3) When multiple symbols are specified, indicate
them alphabetically.

How to Order Sub-plates

C€

IConstruction T Manifold ISingIe Unit VQC5000 [

=
QLo
VQ5000-PW-| 04| [-0Q £3
_ o] | £s
Porting specifi cations Thread type %?_
— Side ported — Rc i °
B Bottom ported N NPT | |
Port size -,I:- NZTF : Replacement of pilot valve assembly .‘,ﬁ g
12 : (Voltage) _ =
' - Refer to page 71 for pilot valve assembly : § o &
! part numbers. N B
' - Refer to page 74 for replacement method. : | &
e e

O



Series VQC5000

Plug_;-in Type

Conduit terminal

2-position single: VQC510 ¢

S

1/8" 27.5 | 27.5 1/8"
Bottom ported drawing PE. port L—»“l <—j41 External pilot port
112"

1(P), 4(A), 2(B), 5(R1), 3(R2) port

g 2] 2y e
3| =
28 '
35|
3| @ |
S & ©
| < G| | )
Slg G172 e /QE! @ EFe
X | ~|
< Electrical ent T
g ry J m,\HS
e 7 ® 4 ooy
© @l m
g & g}

I T @)

18.4

194.8
2 195 73
73.2 105.8 59.5
59.5 4(A) port_17.5 135 2(B) port
3/8" 275 | 275 Indicator light 10.0|_ M5 x 0.8 Ground screw
5(R1), 3(R2) port g 1
] - Py I N]
yi YR NIk IB ==
B B o
B = L S : gl 8|3
(o)
@- AIVARNEI| g o 5 P
€ OZANAL T & @me o 8 oy
Beooecec]
175 13,5 1/2" 35 53 2X@6.5
35 53 1(P), 4(A), 2(B) port Manual override Mounting hole
2-position double: VQC520 ¢ 3-position double check: VQC560 ¢
3-position closed centre: VQC530 ¢
3-position exhaust centre: VQC540 9
3-position pressure centre: VQC550 9
= ‘ = j = ‘ T
| £ % & BT
G2 g7 S B.O= z F ; i
Electrical entry N 49 D]
- {} i wl G 12 =
< &1 o<
‘O_O;i Yol ]| xS Elctical entry tH: -d
18" 275 |.27.5 18" TE T }9,@ B
PE. port 41 41 External pilot port E@ ] 0 g;'%
v : \ als
1(P), 4(A), 2(B), 5(R1), 18" 275]275 \
3(R2) port PE. port ) a1 a1 18"
. . 12 External pilot port
Indicator light 1(P), 4(A), 2(B), 5(R1),
2 194.8 (200.3) 3(R2) port
73 (78.5)
105.8 59.5 Indicator light
4(A) port 17.5 13.5 2(B) port 2 213.5
91.7
=3t (), 105.8 59.5
© ? T (Aport) 17.5 135 (B porl)
JORE= = #81e1 Q| 8| B |
. =+ E
jui - > | § o © :
. BE § 8 B¢ I e [— 1 ale Sk
35 53 2X@65 [ J R .
Manual override Mounting hole ¢ ] / |mle o oo

35 | 53 2x@6.5
Numbers inside () are for metal seal 3-position type. Manual override Mounting hole

45 Z;SNC



onopoud |ap onopoud [ap
pjojiuew ayayiads plojiuew ayayads
OOO#OO> ejobuis enu plojiue au0IZn1IsoD 9p 0so(ds3 U0IZTEo3)g OoomUO> e|jobuis enu plojiue auoIZnNsoD jop osoids3 0IZITE0a14

46

)



Base Mounted

Plug-in Unit

Series VQC5000 ce

How to Order Manifold

VV5QCS5 1-/08

03

TDO0

1]

(2]

©

F ..

®

VV5QC51-[12

03

SDQ

Kit

PETE

Series VQC5000

Base mounted plug-in

0 Stations
01 1 station
12 12 stations

The minimum or maximum number of stations differs

depending on the electrical entry. (Refer to @)

Note) In the case of compatibility with the S kit/As-
Interface, the maximum number of solenoids is
as shown below, so please be careful of the
number of stations.

8 in/8 out: Maximum 8 solenoids
4 in/4 out: Maximum 4 solenoids

s . [rside]

[Dside] statons -1 23

« Stations are counted from station 1 on the D-side.

9 Cylinder port size

03 3/8
04 1/2
B Bottom ported 1/2
CM Mixed
9 Thread type
— Rc
F G
N NPT
T NPTF

@ End plate type
(Enter only for EX600-compliant S kit.)

Without end plate

M12 power supply connector, B-coded

7/8 inch power supply connector

M12 power supply connector INJOUT, A-coded, Pin arrangement 1

[LIESAIINTE]

M12 power supply connector INJOUT, A-coded, Pin arrangement 2

Note) Without Sl Unit, the symbol is —.
# The pin layout for "4" and "5" pin connector is
different.

47

Enter only for
EX600-compliant S kit

6]

S| Unit output polarity

Enter only for
-EX250-compliant S kit

Sl Unit output polarity

EX250 integrated-type (for I/O) serial transmission system

DeviceNet™ | PROFIBUS DP | AS-Interface CANopen EtherNet/IP™
Nil |+ COM — — — — —
N |-COM O O O O O
Ut i ek : EX260 integrate_d-type (for output) serial transmission system :
DeviceNet™|PROFIBUS DP| CC-Link |EtherCAT |[PROFINET|EtherNet/IP™ (Etiemet POWERLNK| 1O-Link
Nil [+ COM O O O O O O — —
N |-COM O O O O O O O O

Sl Unit output polarity

EX500 Gateway Decentralized
System 2 (128 points)

EX500 Gateway Decentralized System (64 points)

EtherNet/IP™ | PROFINET DeviceNet™ PROFIBUS DP EtherNet/IP™
Nil |+ COM — — O O O
N |-COM O O O O O
EX600 integrated-type (for 1/0O) serial transmission system (Fieldbus system)
S| Unit output polarit EtherNet/[P™| PROFINET i
NIt OUTPUL POTAMY 5 iceNet™| PROFIBUS DP| C.C-Link | EtvenNetlP™ | EtherCAT|PROFINET| compatite | compatie | YVir€1€ss
wireless hase|wireless base| remote
Nil |+ COM O O O O ©) ©) ©) ©) ©)
N |-COM O O O O O O O O O
* Leave the box blank for without SI Unit (SDOL], SD60).
@ /0 unit stations © 1nput block type

(Enter only for EX600-compliant S kit.)

— None

1 1 station

9 9 stations
Note 1) Without SI Unit, the symbol is —.

Note
Note

Note

2) Sl Unit is not included in I/O Unit stations.

3) When I/O Unit is selected, it is shipped
separately, and assembled by customer. Refer
to the attached operation manual for mounting
method.

4) Refer to page 41 for details about the enclosure.

Number of input blocks
Enter only for S kit compliant with EX250.)

Symbol No. of blocks
= Without SI Unit (SDO)
0 Without input block
1 With 1 input block
4 With 4 input blocks
8 With 8 input blocks

SvVC

O

(Enter only for S kit compliant with EX250.)

— Without input block

1 M12, 2 inputs

2 M12, 4 inputs

3 M8, 4 inputs
@ Input block COM

(Enter only for S kit compliant with EX250.)

PNP sensor input
or without input block

NPN sensor input

m Option

None

K| Special wiring specifications (except for double wiring)

N With name plate (available for T kit only)




el pug-inunie: Series VQC5000

6 Kit type/Electrical entry/Cable length

* Numbers in parentheses represent the maximum number of solenoids in the case of mixed single and double wiring. The total numbe r
of solenoids determines the maximum number of stations. When ordering mixed wiring, please add the option symbol “-K”.

Kit

(Serial transmission kit

Kit

(Serial transmission kit: EX500 gateway-type)

Kit
(Serial transmission kit:

Construction I Manifold ISingIe Unit VQC4000

Kit

(Serial transmission kit:

EX126 integrated-type (for output) )

Kit
(Flat ribbon cable kit)

IP40 compliant

Note) For a 20P flat ribbon cable, the cable assembly must be ordered separately.

PDOQ | Flat ribbon cable kit (26P) without cable
PD1 | Flatribbon cable kit (26P) with 1.5 m cable 10 12 stations
IP67 compliant PD2 | Flatribbon cable kit (26P) with 3.0 m cable (16 stations, 24 points)
PD3 | Flat ribbon cable kit (26P) with 5.0 m cable
s 1 to 8 stations . . X 1o 8 stations
SDVB | Serial kit for CC-LINK ‘ (16 stations, 16 points) PDC | Flat ribbon cable kit (20P) without cable Note)

(16 stations, 16 points)

Kit

(D-sub connector kit)

Kit

(Circular connector kit)

FDO

D-sub connector kit (25P) without cable

FD1

11012 stafions

FD2

)
D-sub connector kit (25P) with 1.5 m cable
D-sub connector kit (25P) with 3.0 m cable

(16 statons, 24 points)

FD3

D-sub connector kit (25P) with 5.0 m cable

Kit
(Terminal block box kit)

Kit
(Lead wire kit)

MDO)| Circular connector kit (26P) without cable

MD | Circular connector kit (26P) with 1.5 m cable | 11912 satons LDO | Lead wire kit, 0.6 m lead wire V012

MD2)| Circular connector kit (26P) with 3.0 m cable |(16iaions, 4 pos) . ] tolosions  |LD1 | Lead wire kit, 1.5 m lead wire |5 i
Terminal block box kit . . sars, 24 pors)

MD3)| Circular connector kit (26P) with 5.0 m cable DO (6staons 20paits) || D2 | Lead wire kit, 3.0 m lead wire

+ The maximum number of solenoids displayed in parentheses is applied to the special wiring specification (Option “-K”).
Note 1) When using the Il Unit with 32 outputs use the GW Unit compatible with the EX500 Gateway Decentralised System 2 (128 points).
Note 2) When selecting SI Units with SDTC or SDTD specifications, there are limits to the supply current from the SI Unit to the input block or valve. For details, refer to the catalogue on the website www.smc.eu .
Note 3) When selecting D-sub S kit specifications only, IP40 is compatible. (All other SI Units are IP67 compliant.)
Note 4) For the SI Unit part no., refer to page 50.
Note 5) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.

ZSNC

48

(Fieldbus system) EX260 integrated-type
1 EX600 integrated- (for output))
type (for /O .
ype ( ) SI Unit: EX260
IP40 compliant
Sl Unit: EX600 IP67 compliant
IP67 compliant ) -
Sl Unit: EX500  [symbol| ~ Protocol Number of | Communicaton Stations
. outputs connector
SDB0__[ Serial kit without SI Unit IR [SDOA|  Serial Kit without ST Unit 110 16 statons
SD60 DeviceNet™ —— - SQA ) 32 (16 stations, 24 points)
SD6N__| PROFIBUS-DP SDOA | Serial kit without SI Unit SOp| PeviceNet™ ¢ M2 g saios 16 staons i) i
=06y O 5 ng:] ((ssevc\;ia:ts[;ecemrahsed 1to 8 stations | SNA 32 M12 11012 stations (16 stations, 24 points) =
™ fenio | n n
SIDlezl= EtherNel/IPm ( por) 1to 12 stations | SDA2 DyeviceNet"? PROFIBUS DP 16 Outputs | (16 stations, |SNB 16 1108 stations (16 stations, 16 points) o
SDEEA | EtherNet/IP™ (2 port) (16 stations, ) ' 16 points)  [SNC PROFIBUS DP 27 110 12 statons (16 sations, 24 points) >0
SD6D EtherCAT® 24 points) EtherNet/IP™ K=l D-sub Note 2) - . SE
SD6F PROFINET - SND 16 1108 stations (16 stations, 16 points) % =
EX500 Gateway Decentralised 1 to 12 stations 10 12 satons (16 siaions, 24 point 8=
SDBWE | EtherNetllP™ compatible wireless hase "™ ; Note 1) L ISVA| cCLink 32 M12 0 12 statons (16 sations, 24 points) g=
SDG6WF | PROFINET compatible wireless base "= SDAS | system 2(126 points) 32 Outputs | (16 stations, SVB - 16 1108 stations (16 stations, 16 points) |.|>j [}
SD6WS | Wireless remote "¢ PROFINET, EtherNet/IP™ 24 points) SDA o |32 12 11012 tatns (16 saons, 24 pos) | .
Kit SDB EtherCAT 16 1108 stations (16 stations, 16 points) -
. . .. . 1o 12 stations (16 stations, 24 points) S w
Serial transmission kit: EX250 integrated-type (for 1/O |SFA| 32
( 9 type ( ) SFB PROFINET 16 M12 1108 stations (16 stations, 16 points) § .5
- as
SEA 32 1o 12 stations (16 stations, 24 points) o ®
SEB EtherNet/IP™ 16 M12 1108 stations (16 stations, 16 poins) -"qa:cﬂg
EtherNet 32 1012 stations (16 stations, 24 points =%
V12 Tto 12 staions (16 24 points) a
POWERLINK 16 1108 stations (16 stations, 16 points) | [ .
8 6 6
SDO Serial kit without SI Unit
SDQ DeviceNet™ 1to 12 stations
SDN PROFIBUS-DP (16 stations, 24 points)
SDV CC-LINK
SDTA AS-Interface, 8 infout, 31 slave modes, 2 power supply systems 1 to 4 stations (8 stations, 8 points)
SDTB AS-Interface, 4 infout, 31 slave modes, 2 power supply systems 10 2 stations (4 stations, 4 points)
SDTC Note 1) | AS-Interface, 8 infout, 31 slave modes, 1 power supply system 1104 stations (8 stations, 8 points)
SDTD Note 1) | AS-Interface, 4 infout, 31 slave modes, 1 power supply system 1to 2 stations (4 stations, 4 points)
S| Unit: EX250 IP67 compliant SDY CANopen 110 12 stations
SDZEN EtherNet/IP™ (16 stations, 24 points)

IConStruction I Manifold ISingIe Unit VQC5000

Exploded View
of Manifold

Specific Product
Precautions

l



Series VQC5000

How to Order Valves

VQC5

0

1
o

ol -5
00 00606

Series VQC5000 I
0 Type of actuation 0 Seal type @ Manual override
2-position single 3-position exhaust centre 0 Metal seal —: Non-locking
(‘2 (ZB) (A‘% (ZB) 1 Rubber seal push type (Tool required)
| e | AT | @i
S B — — D] Standard (0.95 W)
(R1)(P)(R2) (R1) (P)(R2) Y Low wattage type (0.4 W)
R External pilot
2-position double (Metal) 3-position pressure centre Note 1) When the power is energised con-
(Ai (2B) (A‘% (28) tinuously, refer to “Specific Product
i 5 Precautions 1” on page 73.
EEM Note 2) For details about external pilot type, B: Locking type (Tool required)
513 5113 refer to the catalogue of the {
(R1) (P)(R2) (R1) (P)(R2) VQ4000/5000 series on the website O
2 www.smc.eu . In addition, external
2-position double (Rubber) 3-position double check pilot type cannot be combined with a -
(/-\3 (ZB) (Az% (ZB) double check spacer.
Note 3) When multiple symbols are speci-
mﬂ 6 fied, indicate them alphabetically.
513 513 i
(RD(P)(R2) (R (P)(R2) © coi voliage
” [ 5 ] 24V DC Note) | C: Locking type (Manual)
3-position closed centre l 6 [ 12V DC l '
A) (B
¢ 3 (2 ) Note) S kit is only available for 24 V DC. ]
3 O Lighusurge
51 voltage suppressor
(RD(P)(R2)

How to Order Manifold Assembly

Yes
E Without light, with surge voltage suppressor

Example (VV5QC51-JSD6L])

Digital Input Unit

Digital Output Unit

2-position single

EX600-DXPD
End plate Note)

Sl Unit Note)

EX600-DYPB

EX600-SDN1A

VQC5100-51 (3 sets)

2-position double

VQC5200-51 (2 sets)

__I/0 Unit
stations

© © © © ]

o] 7] ] @ 7]

o] o} o P <]

e

Q

[©] [©]

=

Manifold Specifi cations

elec)

#VQC5200-51 -
#EXB00-DXPD:--wvveevveeernns 1 set
#EXB00-DYPB:++++vvvevne: 1 set

VV5QC51-0503SD6Q2N2: -1 set (S kit 5-station manifold base part number)
#VQCH100-51-r-cvnevneenens 3 sets (2-position single part number)

--2 sets (2-position double part number)

1/0 Unit part number (Station 1)

1/0 Unit part number (Station 2)

+ The asterisk denotes the symbol for assembly.
+ Prefix it to the part numbers of the valve etc.

The valve arrangement is numbered as the 1st station from the D side.
Under the manifold part number, state the valves to be mounted, then the 1/0 Units in
order from the 1st station as shown in the figure above. If the arrangement becomes

complicated, specify on a manifold specification sheet.

Note) Do not enter the Sl Unit part number and the end plate part number together.

5---Valve stations

Piping specifications Note 2) | Applicable 5-station
Series Base model Connection type Port Port size Note 1) Applicable solenoid weight
direction | 1,3 (P, R) 2,4(AB) stations valve )]
WF kit: D-sub connector . F,L,M,P kit
-D side PP
WP kit: Flat ribbon cable P12 R 1/2 308112 (1 to 12 StatlonS) 4150
WT kit: Terminal block box Side ; T kit VQC5000-51 | - S kit
VQC5000 | VV5QC51-CI00] - o (Re, &, NPTINPTF) | Re, G, NPTINPTE) {1 16 12 stations (Without Uni)
WS kit: Serial transmission S kit VQC5LI01-51 | . Not including
HL kit: Lead wire P: 3/8 R: 3/8 11012 staions: EX250, EX260 valve weight.
o (Rc, G, NPT/NPTF) O EIS
HM kit: Circular connector Bottom 1/2 Lto 12 aons: XS0, EX600
(Rc, G, NPTINPTF)

Note 1) One-touch fittings in inch sizes are also available.
Note 2) As an optional specification, the maximum number of stations can be increased by special wiring specifications.

49

P
Z

SvVC




el pug-inunie: Series VQC5000

i o
S| Unit Part Number Table S
=
EX600 Integrated type (For Input/Output) EX126 (@)
Sl Unit part no. Symbol| Applicable protocol Sl Unit part no. Page o
Symbol Applicable protocol : E = Page i pp - P P 4 >
Negative common (PNP) | Positve common (NPN) SDVB| CC-Link, Positive common (NPN) |  EX126D-SMJ1 34
SD6Q)| DeviceNet™ EX600-SDN1A | EX600-SDN2A
SD6N| CC-Link EX600-SMIL | EX600-SMJ2 EX500 Gateway Decentralised System 2 (128 points)
X X S| Unit part no. £
SD6V | PROFIBUS DP EX600-SPR1A | EX600-SPR2A Symbol| Applicable protocol : P Page S
SD6ZE| EtherNet/IP™ (1 port) EX600-SEN1 | EX600-SEN2 Negative common (PNP) P
SD6EA| EtherNet/IP™ (2 port) EX600-SEN3 | EX600-SEN4 EtherNet/IP™ =2
SDA3 EX500-S103 33 £
SD6D| EtherCAT® EX600-SEC1 | EX600-SEC2 33 PROFINET | € (7]
SD6F| PROFINET EX600-SPN1 | EX600-SPN2 EX500 ) .
SDBWE| EtherNet/IP™, compatible wireless base ') | EX600-WEN1 | EX600-WEN2 GateVYay Decentralised System (64 p.omts) -
SDBWI| PROFINET, compaible ireless base ' | EX600-WPNL | EX600-WPN2 )| AR _ SO0Ek oo S o
SD6WS| Wireless remote No©) EX600-WSNL | EX600-WSN2 protocol Positive common (NPN) | Negative common (PNP) <
Note) The wireless system is suitable for use only in a country where it is in accordance with DeviceNet™ =
the Radio Act and regulations of that country. SDA2| PROFIBUS DP EX500-Q001 EX500-Q101 33 —
EX260 EtherNet/IP™ c
o
Symbol Applicable Nurgfher : S! Unit parF o: Communication Page EX250  Integrated type (For Input/Output) 8
protocol | oufputs [Negative common (PNP) | Posiive common (NPN)| — connector =
SQA 32 |EX260-SDN1 | EX260-SDN2 Symbol Applicable protocol Sl Unit part no.| Page 5
DeviceNet™ O
SQB 16 |EX260-SDN3|EX260-SDN4 M12 SDQ | DeviceNet™, Negative common (PNP) | EX250-SDN1 —
SNA 32 |EX260-SPR1 |EX260-SPR2 SDN | PROFIBUS DP, Negative common (PNP)| EX250-SPR1 %
SNB 16 |EX260-SPR3 | EX260-SPR4 SDV | CC-Link, Positive common (NPN) EX250-SMJ2 S g
PROFIBUS DP - o 'E
ore 32 |EX200-SPRY [EXZO0-SPR. Desub SDTA (inmon, 1 s matepoer sy st =250 SAS3 ik
SND 16 | EX260-SPR7 | EX260-SPR8 S e Mot e ppy(iNP) 8%
-Interface, Negative common , )
SVA CC-Link 32 |EX260-SMJ1 | EX260-SM12 M12 SIS (4in/4 out, 31 slave modes, 2 power supply systems) EX250-SASS 34 | ————
SVB 16 |EX260-SMJ3 | EX260-SMJ4 - =
33 sSDTC AS-Interface, Negative common (PNP), EX250-SAS7 S w»
SDA EtherCAT® 32 |EX260-SEC1 | EX260-SEC2 M12 (8in/8 out, 31 slave modes, 1 power supply system) 25
=
SDB 16 | EX260-SEC3 | EX260-SEC4 SDTD AS-Interface, Negative common (PNP), EX250-SAS9 £ §
SFA PROFINET 32 |EX260-SPN1 | EX260-SPN2 M12 (4in/4 out, 31 slave modes, 1 power supply system) ga
SFB 16 | EX260-SPN3 | EX260-SPN4 SDY | CANopen, Negative common (PNP) EX250-SCA1A &
SEA EtherNet/IP™ 32 |EX260-SEN1 | EX260-SEN2 M12 SDZEN| EtherNet/IP™, Negative common (PNP) | EX250-SEN1
SEB 16 |EX260-SEN3 | EX260-SEN4 - - - -
herNet | 32 |EX260-SPLL For details about the EX series refer to their catalogues on the website www.
SGA EtherNe - — M12 smc.eu and the Operation Manual. Please download the Operation Manual
SGB |POWERLINK]| 16 |EX260-SPL3 — via SMC website, http:/Awww.smc.eu

Manifold Options

For details about options, refer to the catalogue of the VQ4000/5000 series on the website www.smc.eu .

Blanking plate assembly
VVQ5000-10A-1

Individual SUP spacer
VVQ5000-P-1-33

Individual EXH spacer
VVQ5000-R-1-33

EXH block plate
VVQ5000-16A-2

Restrictor spacer
VVQ5000-20A-1

SUP stop valve spacer
VVQ5000-37A-1

SUP block plate
VVQ5000-16A-1

VVQ5000-25A-1

Double check spacer with residual pressure exhaust

Interface regulator

(P, A, B port regulation)
A

ARBQ5000-00-8-1

50

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Specific Product
Precautions

l



Series VQC5000

VQC5000
Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System
VV5QC51

S kit (Serial transmission kit: EX600)
Power supply with M12 connector

1/2" M5 x 0.8 Ground screw
|
= 3(R) port .1
® =
== == —] o~ o e o Ho s oo o ol o] F S
© A\ A\ T P
g Bt el e eral Nl lenlenlenlen o B8l ©
|| —] p— oY ale Y als N dlo N do o i
3 /| 34 5
1/2" 1. 695 | 345
1(P) port 48
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
L2
314" 5.5 47n2+ 82.5 L1 10
1(P), 5(R1), 3(R2) port 4.4 8
26 47 X n2 47 595 P=41
End plate
Power connector 47 Manual override
] ] 'U = —
m= TTTTTUTT 218 I
g g 8 ; w7 |E |
©i= « Sl e XV 0 (] o m m ! E S g & B
[i g o P b b b o ,j © = 2 |2 q
1|97 &6 'n drrdrdrd hd [ "¢l | RESIES =
Tecd = A A m IEER ) TR I
=~
a0 QD © 1/O Unit L a L_Jq uq L_Jq uq L_Jo (; % é S
b @/%i 0 FE terminal/  Communication 5 Dy P4 P DL Pao P b £ é ]
L = connector & / o Lo Lo, = RS 2 0 -
12
Indicator light
21
Valve plate
47.5
1/8" Sl Unit
PE. port o
Communication connector
Connector for Handheld Terminal
Dimensions [mm]
L n 1 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569

L2 216 257 298 339 380 421 462 503 544 585 626 667
Formula: L1 =41n +77, L2 = 41n + 175 * L2 is the dimension without I/O Unit. Add 47 mm for each additional I/O Units.  “n." is number of /O Units. n: Stations (Maximum 12 stations)

51

O
2



el pug-inunie: Series VQC5000

VQC5000

Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System

VV5QC51

S kit (Serial transmission kit: EX600)
Power supply with 7/ 8 inch connector

3/4"

11.5

56.6

[Dside) Gations)- (D @ @ @B ®-@

1/2" M5 x 0.8 Ground screw
3(R) port t

54

)
)
)
)
)
)
1P
69
117

VanWa

O\

VanWa
D
Y
U
51

55.5

19

16.5

s B2 = e P D4 ‘

w
IS

17
22

1(P) port 18
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port

L2

55

1(P), 5(R1), 3(R2) port

P—

&

1=
o o

29.5

47nz + 82.5 L1 10

26

8
47 X n2 47 59.5 P=41

End plate

D

o
=1

VAR

;

o N
i)

1/8"
PE. port

Connector for Handheld Terminal

IEéﬂlﬁﬁd:rﬂfmigw IConstruction I Manifold ISingIe Unit VQC4000

ﬂ»‘ Manual override

106
90

[oe)

FE terminal

Specific Product
Precautions

\v:\
.

s

107.8

184.5
(3-position: Metal seal type)
180

126.8

g

1/0 Unit

Communication S
connector c

il

L
]
|/
—J
=0
)
—J
p -}
i |/
: —J
p -}
;}, =
H ] 3
o
’ —J <
ke o
14—
—J
[+]
59.2 | 46.8
179
179
(Single, Double, 3-position: Rubber seal type)

L

Dimensions

Indicator light
Communication
connector Power connector

718" connector (5 pins)

Sl Unit | | Valve plate

IConStruction I Manifold ISingIe Unit VQC5000 [

[mm]

L

n

1

2

g

Exploded View
of Manifold

4 ) 6 7 8 9 10 11 12

L1

118

159

200

I

241 282 323 364 405 446 487 528 569

L2

216

257

298

339 380 421 462 503 544 585 626 667

Formula: L1 =41n +77, L2 = 41n + 175 = L2 is the dimension without I/O Unit. Add 47 mm for each additional I/O Units. * “n." is number of /0 Units. n: Stations (Maximum 12 stations)

Precautions

Specific Product

l

SMC >

O



Series VQC5000
VQC5000

Kit (Serial transmission kit): For EX500 Gateway-type Serial Transmission System

IP67 compliant

VV5QC51

S kit (Serial transmission kit: EX500)

1/2"
3(R) port

Communication connector C1

o
©

53.7

(M12 Female thread)
[}
HF
[}

Communication connector C2
(M12 Male thread)

1/2"
1(P) port

M5 x 0.8 Ground screw
=
?1 N~
PN BB AN B2 AN B2 AN Bj2 N B2 A B b
A% A\ \'% ol o 7
o — 5| ©
anY Van | Wany o | 8
o\ aln Y aln Y alo \ala el W |
34 PRSI
—
69.5
34.5
48
3/8", 1/2" 68.5 1/8"

4(A), 2(B) port

External pilot port

L2
L1 10
35 59.5 P=41
Indicator light
Manual override
Y DY O YOOy d % O = I~
P v a|v a|v a|v, alv = (]
= 3 = |2
0| © Lo © g |=
@ g B i) i} ! - § 8
q A = - el Pp| P| P o z |2
+)8 =] o|lo|EWR S
1] q T q 9 : : z 51-0 9]
o e =
1] a . Q 9 -~ s S
q D’% Sl Unit b| b| b i i L o o s |3
= [:] [:] =4 =%
12
21
47.5
1/8"
PE. port
3/4"
1(P). 5(R1). 3(R2) port
Dimensions [mm]
L 0 1 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 163 204 245 286 327 368 409 450 491 532 573 614

Formula: L1 = 41n + 77, L2 = 41n + 122 n: Stations (Maximum 12 stations)

53

O



el pug-inunie: Series VQC5000
VQC5000

Kit (Serial transmission kit): For EX260 Integrated-type (Output) Serial Transmission System

VV5QC51
S kit (Serial transmission kit: EX260)

1/2"
3(R) port

M5 x 0.8 Ground screw

117

L 2Sle ol o o o ol oo ool

76.5
19

A

AV

Va

Va
69

53.7
)
U
AY
L
Y
L
51

55.5

15.5
17
22

34

69.5 345

1/2"
1(P) port

48

3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port

L2
35.2 L1 10

595 P=41

Indicator light

Manual override

IEéﬂlﬁﬁd:rﬂfmigw IConstruction I Manifold ISingIe Unit VQC4000

i
el

<

<
o]
<
]}
<
o}
'z <

61

©
29.5
107.8

Specific Product
Precautions

| —
o
106
179
179

(Single, Double, 3-position: Rubber seal type)

184.5
(3-position: Metal seal type)

%

-
(3]
il

-
IHA
29.5

1/8"
PE. port

fffffffffffffffffffffffffffffffffffffffffffffffff

3/4" L
1(P), 5(R1), 3(R2) port i <Communication connector D-sub> i

Dimensions [mm]
L v 1 2 8 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 163.2 204.2 245.2 286.2 327.2 368.2 409.2 450.2 491.2 532.2 573.2 614.2
Formula: L1 = 41n + 77, L2 = 41n + 122.2 n: Stations (Maximum 12 stations)

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Precautions

Specific Product

l

54

O
2



Series VQC5000
ISy vacs000

Kit (Serial transmission kit): For EX250 Integrated-type (I/O) Serial Transmission System

VV5QC51
S kit (Serial transmission kit: EX250)

[Dside ] Gatons)- (D @~ @)@ ®®)- (D [Uside]

1/2"
ax Mz 3(R) port M5 x 0.8 Ground screw
4 x M8 -
) e P C e e e e A S
Q@ ous
oo @@ o N> N R SZa N ol g
©la :(©) . ) VA n Nl WA n o 8
[ ©: o\ ala Y ala N ala N alo Y ala @
ISR
2 x M12 34 g N
M3 69.5 -
1/2" - 34.5
1(P) port 48
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
L2
55 124.5 L1 10
59.5 P=41
Indicator light
Manual override
I8 3] 1Y T Y H% He =z |
— = g
T3 © = = °
w| 2 i Sni 5 | ]
[«)) ' t——— = [}
q €\©E é NS b b pT T b 5= 2 |2 g
+ ) ol o|EWVS
nod|\V e a aDaDqDo R RS ¢|B
—| |2 ©0|=
g © g
=] o a5 c
o q S q q q q o = = o
o g |E
q L/ AN © ) b l 3 L 3 L o o = |8 q
M o :] :] = |a
LAl = I i e Iy E= £l H o
12 ZS| Unit
21 Input block
47.5
1/8"
PE. port
3/4"
1(P), 5(R1), 3(R2) port
Dimensions [mm]
L ma 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 237 278 319 360 401 442 483 524 565 606 647 688

Formula: L1 = 41n + 77, L2 = 41n + 196 (For one input block. Add 21 mm for each additional input block.) n: Stations (Maximum 12 stations)

55

O
2



el pug-inunie: Series VQC5000
VQC5000

Kit (Serial transmission kit): For EX126 Integrated-type (Output) Serial Transmission System IP67 compliant §
S
VV5QC51 @)
S kit (Serial transmission kit: EX126) 9
1/2" o
@ 3(R) port c%
o o
— M5 x 0.8 Ground screw
~ —{7 e ~ 8lo /~ 8o ~ Blo ~ Blp ~ 8o~ 8 & 5 k=]
S|l o I \Y% Uw % ol o ~ L
-
5| @ 7 WaN L Jaru It ol gl C g
a o N o N ala N alo N ol N g =
33.5 ol =l Y [——
34 sl =
- 5
69.5 345 B
/2" E
1(P) port 48 2
o
3/8", 1/2" 68.5 1/8" O
4(A), 2(B) port External pilot port —
s
L2 S35
L1 10 35
8=
59.5 P=41 L%“S
Indicator light -
Manual override é 2}
: Ss
: g
DT e T EY %% H z 1o 0 8
\—c = 1 —| S L
© s |2 @' DO
o 2 o Zls o &
@ = ?\" B L @ i § % N _
g @a - P P ° T nls B @' o
n | E q o 22238 e |
50 oy | = .
nooq g o S £ |5 =)
| €DMer— b LBLBLE . 213 - G
A9 = | E= £ ls SH =
12 Sl Unit 55.5 >
” 117
475
1/8" =
PE. port Q
3/4" 2
1(P), 5(R1), 3(R2) port | Y E—
o
o
=
©
s
| ————
c
S
Dimensions [mm] é
L~ 1 2 3 4 5 6 7 8 9 10 11 12 g
L1 | 118 159 200 241 282 323 364 405 446 487 528 569 O
—

L2 223.8 264.8 | 305.8 | 346.8 | 387.8 | 428.8 | 469.8 | 510.8 | 551.8 | 592.8 | 633.8 | 674.8
Formula: L1 =41n + 77, L2 = 41n + 182.8 n: Stations (Maximum 12 stations)

Exploded View
of Manifold

Precautions

Specific Product

l

56

O
2



Series VQC5000
VQC5000

Kit (D-sub connector kit)

IP40 compliant

« Using our D-sub connector for electrical connections greatly reduces
labour, while it also minimizes wiring and saves space.

» We use a D-sub connector (25P) that conforms to MIL standards and is
therefore widely compatible with many standard commercial models.

 Top or side entry for the connector can be changed freely, allowing for
changes even after mounting, to meet any changing needs for space.

Electrical Wiring Specifi cations

Connecto

r Cable

D-sub connector

O

)

ol
1o o5

150

o o
170

1o O
150 o7
200 o8
A0 g
20 ol0

230 oll

240 ol2 '/
ol3

250

# \When using a valve with no polarity, either positive

If alignment is not specified, the internal wiring is double
wiring (connected to SOL. a and SOL. b) regardless of

number of stations, valve and option types.

Connector terminal no.

Lead wire no. Polarity
Terminal |Lead wire Dot
=) () no. colour | marking
©) *)
-) (+) 1 Black None
=) +) 2 Brown None
) (+) 3 Red None
) (+) 4 Orange | None
) ) 5 Yellow None
) (:) 6 Pink None
E_; E+; 7 Blue None
I * 8 Purple White
) ) 9 Grey Black
) (+) 10 White Black
=) (+) 11 White Red
=) ) 12 Yellow | Red
=) +) 13 Orange | Red
) *) 14 Yellow Black
(:) (:) 15 Pink | Black
E_; E+; 16 Yellow White
I *) 17 White None
) ) 18 Grey None
-) ) 19 Orange | Black
) ) 20 Red White
21 Brown White
) =) 22 Pink Red
Positive  Negative 23 Grey Red
common  common 24 Black White
25 White None

common or negative common can be used.

Specifi ed Layout

@5pins) [ O ) Mixed wiring of single and double wiring can be specified on
) the manifold specification sheet. The maximum number of

57

double, 3-position and 4-position.

COM.

stations is determined according to the number of solenoids.
The total number of solenoids should be 24 or less. 1 solenoid
is required for 2-position single, and 2 solenoids for 2-position

O
2

GVVZS3000-21A-1[1P40]

D-sub connector/cable

Cable
length (L) Assembly part no. Note
Im GVVZS3000-21A-160 | 60°angled
3m GVVZS3000-21A-260 | 60°angled
5m GVVZS3000-21A-360 | 60°angled
8m GVVZS3000-21A-460| 60°angled
3m GVVZS3000-21A-2 Standard
5m GVVZS3000-21A-3 Standard
8m GVVZS3000-21A-4 Standard
Shielded cable
Cable
length (L) Assembly part no. Note
1m GVVZS3000-21A-1S Shieled
3m GVVZS3000-21A-2S Shieled
5m GVVZS3000-21A-3S Shieled
8m GVVZS3000-21A-4S Shieled
20m | GVVZS3000-21A-5S | Made to order
° 60° angled Standard
2 8

53.5
2- M2.6

25 a ®=T2$
41 g
N
o—Hr: x
ksl I I T
53
Electrical characteristics
Item Property
Conductor resistance /km, 20 °C Max. 57
Voltage limit VV, 5 minute, AC 1500
Insulation resistance MQ/km, 20 °C 20
Standard

D-Sub connector cable assembly (option)
015
AXT100-DS25- 030 (According to MIL-C2430 8)

* Please contact SMC for details.




VQC5000

Kit (D-sub connector kit)

el pug-inunie: Series VQC5000

IP40 compliant

VV5QC51

1/2" 3/8", 1/2"
3(R) port 4(A), 2(B) port
R20 (Min. bending inner radius) a4 i i i i i :\ M5 x 0.8 Ground screw
¥
o AN Blo AN Bla AN Bln Hm{}m S
-
ol ™ — ' oo L %
©| ™| [n a [Te}
0 o [Te)
2] 1] Bl@ 2] 2] 4] Bl@ 2] } '
(e} 0| N
— 34 Gl N
1/2" "'
D-sub connector cable assembly (25P) 69.5 1(P) port 345
AXT100-DS25-015: 1.5 m
AXT100-DS25-030: 3 m 1/g" : 48
AXT100-DS25-050: 5 m External pilot port 65
L2
43.5 L1 10
59.5 P=41
Indicator light
Manual override
ST PV wﬂ iy z o
g 3 | |5 |3
0| @ r oy © g |2
CR=RY I & [ [] -] [ [ i t— é 2
d S T pT T T P P 15— 2 |o
it L ol ol E 0| S
g\ d amd Mo R R2 ¢|3
-mm @ []][] D D [] (DHH:?-’-E.E
=} o o a5 =
p o N q q q o = = S
= ‘@
] olE 2 oy Prznpmbi lbi" &m £ |2
L= = o = 2 O o O S 0 o 2 = e
4112 /Manual release for switching connector direction
21
47.5
1/8"
PE. port
3/4"
1(P), 5(R1), 3(R2) port
Dimensions [mm]
L 0 1 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 1715 2125 25885! 294.5 55 376.5 417.5 458.5 499.5 540.5 581.5 622.5

Formula: L1 = 41n +77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)

O
2

179

Applicable connector:
D-sub connector (25P)

(Conforms to MIL-C-24308)

58

IE)ér;lﬁﬂd:rﬁf:)/lgw IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Specific Product
Precautions

l



Series VQC5000
VQC5000

Kit (Flat ribbon cable kit)

IP40 compliant %

 Using our fl at ribbon cable for electrical connections greatly
reduces labour, while it also minimizes wiring and saves space.

» We use fl at ribbon cables whose connectors (26P and 20P)
conform to MIL standards, and are therefore widely compatible
with many standard commercial models.

* Top or side entry for the connector can be changed freely,
allowing for changes even after mounting, to meet any changing
needs for space.

Electrical Wiring Specifi cations

|
=

Cable Assembly

Flat ribbon cable connector

Double wiring (connected to SOL. A
260 025 and SOL. B) is used for the internal
240 023 wiring of each station regardless of
220 D21 valve and option types.
200 019 Mixed single and double wiring are
180 017 available as options.
160 0O15 . .. g
140 013 Refer to_spemal wiring specifica-
120 011 tions (options) below.
100 O 9
8007
6005 \Connector terminal number
4003
2001

\Triangle mark indicator position

<26P> <20P>
Terminal Terminal
no. no.
SOL.A 1 SOL.A 1
Station 1 [ SOL.B 2 Station 1 { SOL.B 2
L ~~nSOLA, 5 | ~~SOLA_
Station 2 { SOL.B 4 Station 2 { SOL.B 4
|  ~~~~SOL.B
SOL.A 5 SOL.A 5
Station 3 [ SOL.B 6 Station 3 { SOL.B 6
L ~~SOLA, 5 | ~SOLA_
Station 4 { SOL.B s Station 4 { SOL.B s
|  ~~~~SOL.B |  ~~~~SOL.B
SOL.A 9 SOL.A 9
Station 5 [ SOL.B 10 Station 5 { SOLB, 19
) SOL.A 1n ) SOL.A 11
Station 6 { SOL.B 12 Station 6 { SOLB _ 4,
22D o — YN o
_ [ SOL.A 13 _ { SOLA | 45
Station 7 SOL.B 14 Station 7 SOLB, 14
) SOL.A 15 ) SOLA 5
Station 8 { SOL.B 16 Station 8 { SOL.B 16
|  ~~~~SOL.B | ~~~~SOL.B
Station 9 { o v Station 9 { s ¥
SOL.B 18 ation SOLB , 44
SOL.A 19
Station 10 {
SOLB 4 | COM. ;44
SOL.A COM.
. — N EE o L———o0
Station 11 [ SOLB ;; 20
I ~~~~S0L.B
SOL.A 23
Station 12 [ °
SOL.B 24
| COM. [ o
COM. 26
59

O

20 1

Type 26P flat ribbon cable connector assemblies can be ordered
with manifolds. Refer to manifold ordering.

28AWG Terminal no.

Red

30 (20P)
37.5 (26P)

%ﬁ
e

(15.6)

Flat ribbon cable connector assemblies

Cable Part no.
length (L) 26P 20P
1.5m AXT100-FC26-1 AXT100-FC20-1
3m AXT100-FC26-2 AXT100-FC20-2
5m AXT100-FC26-3 AXT100-FC20-3

+ When using a standard commercial connector, use a type 26P
connector conforming to MIL-C-83503 or a type 20P with strain relief.

* Cannot be used for transfer wiring.

* Lengths other than the above is also available. Please contact SMC
for details.

Connector Manufacturers Example

- Hirose Electric Co., Ltd.

- Sumitomo/3M Limited

- Fujitsu, Ltd.

- Japan Aviation Electronics Industry, Ltd.
- J.S.T. Mfg. Co., Ltd.

- Oki Electric Cable Co., Ltd.

Special Wiring Specifi cations (Option) \

CcoM COM

260 025 coMm COM

240 023

220 D21 \ / . .

200 019 200 019 Mixed single and double

180 017 180 017 wiring are available as

160 015 160 015 options. The maximum

140 013 140 013 number of manifold stations

120 011 120 011 is determined by the number

100 09 100 09 of solenoids. Count one

80 0O7 80 O7 point for a single solenoid

60 OS5 60 0Os type and two points for a

4 3 4 3 double solenoid type. The

2 % 1 2 % 1 total number of solenoids
(points) must not exceed 24.

(For 26P) (For 20P)



el pug-inunie: Series VQC5000
VQC5000

- - - - O
Kit (Flat ribbon cable kit)  JEZIOReelglel [Tl 8
=
VV5QC51 &)
(0510 | G- (D (@ @D (®)®-(® [Uside) 4
1/2" 3/8", 1/2"
3(R) port 4(A), 2(B) port \ -
o
-]
5 5 i i i M5 x 0.8 Ground screw Q
(o))
¥ 7 ~ £
= Ve A Bz o A~ 8o A~ Bl mm_é}m ] = N
N~ Gl H Te)
8| 5| o = g ol 8
n - [Te}
\ \ i) ] (u] iz ] i) ] ] o] i ; ' Lo
' o
IN 2
2l s 3 of £
1/2" — g
Flat ribbon cable connector assembly (26P) 69.5 1(P) port 345
AXT100-FC26-1:1.5m - —
AXT100-FC26-2: 3m us _ 48 s
AXT100-FC26-3: 5 m External pilot port a5 8
- >
@
L2 5
O
43.5 L1 10 | —
=
= [}
595 R=4] Applicable connector: s g
Indicator light Flat ribbon cable connector (26P) 3 'E
) (Conforms to MIL-C-83503) 8=
Manual override o5
<
[
5 VISR T ER TSP A EF = % —
— b = o =
| o o © g = 1] ot g “
@ g B & 5] i} i} i i} J _:— % § § i g S
d " E al @ b b b b 5= 2 |2 P gpas
@E ol o|E VS o e |[B) =~ o8
o a J (¢ 9 N NE g o ~ S o
e ™ ol 7 5 K= ! D
o o S = c &
q dl b b l b i L o o s |8 q
oft 3 s [ gl gt g
= = — L LN LN - ~ a = o
12 it ohi racti =
Manual release for switching connector direction 8
475 o
>
1/8"
PE. port
3/4"
1(P), 5(R1), 3(R2) port g
o]
Q@
[o))
£
| Y E—
k=]
o
s
]
=
Dimensions [mm] —
L 0 1 2 3 4 ) 6 7 8 9 10 11 12 _5
L1 118 159 200 241 282 323 364 405 446 487 528 569 g
L2 171.5 212.5 25815! 294.5 B3515! 376.5 417.5 458.5 499.5 540.5 581.5 622.5 Q
Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations) 8
[p——

Exploded View
of Manifold

Specific Product
Precautions

l

SMC o0

O



Series VQC5000
g Q5000

Kit (Terminal block box kit)

* This kit has a small terminal block inside a junction
The provision of a G 3/4 electrical entry allows
connection of conduit fi  ttings.

Terminal Block Connection

box.

Step 1. How to remove terminal block cover
Loosen the 4 mounting screws (M4) and remove the
terminal block cover.

ﬁ Terminal block cover

Mounting screw (M4)

Step 2. The diagram below shows the terminal block wiring.
All stations are provided with double wiring
regardless of the valves which are mounted.
Connect each wire to the power supply side, according
to the markings provided inside the terminal block.

M3 screw

Gasket

Electrical entry

2xG3/4
Step 3. How to replace the terminal block cover
Securely tighten the screws to the torque shown in the
table below, after confirming that the gasket is installed
correctly.
Proper tightening torque [N-m] * Applicable crimped terminal: 1.25-3S,1.25Y-3,1.25Y-3N,1.25Y-3.5

* Name plate: VVQ5000-N-T
* Drip proof plug assembly (for G 3/4): AXT100-BO6A

0.7t0 1.2

Electrical Wiring Specifi  cations (Conforms to IP67)

Station 7

78 6 ©l

Standard wiring Special Wiring Specifi cations (Option) \
Terr%inal Mixed single and double wiring are available as
’ options. The maximum number of manifold stations
Station 1{ 1A is determined by the number of solenoids. Count
1B one point for a single solenoid type and two points
2A for a double solenoid type. The total humber of
Station 2 { B solenoids (points) must not exceed 20.
) 3A 1. How to Order
Stat'°”3{ 38 Indicate option symbol "-K" in the manifold part
A number and be sure to specify station positions for
Station 4 { single or double wiring on the manifold specification
4B sheet.
Station 5 { oA 2. Wiring specifi cations
58 Connector terminal numbers are connected from
Stations{ 6A solenoid station 1 on the A side in the order
6B indicated by the arrows without skipping any
{ 7A terminal numbers.

The internal wiring is double (con-
nected to SOL. A and SOL. B) for Station 8 8A
all stations regardless of the type 8B
of valve or options. 9A
Mixed single and double wiring Station 9 9B
are available as options.
. 10A
Station 10 108
COM (12

61

O
2



VQC5000

Kit (Terminal block box kit)

el pug-inunie: Series VQC5000

IP67 compliant

VV5QC51
(D side ] Gaans)(D- (@ @@ ®(@®)~(® [Uside]
1/2" 3/8", 1/2"
3(R) port 4(A), 2(B) port)\
P —
\ M5 x 0.8 Ground screw
\
@ ¥ zﬁanmazﬁanmazﬁaz}\a f’ :
Sl e |8 A\ 2R N A\ ol o 7
~ i o 2 3
) ) Fan | e yary - 3
< —ﬁ a 2\ nla " ala a '
o N N
— 2 ‘35, 34 3 N
1/2n i
695 1(P) port 345
1/8" 48
External pilot port
68.5
L2
(7.1) 88.7 L1 10
59.5 P=41
© Indicator light
o N )
o v 9 ‘ Manual override
b UYUE Y EE Y SV Oy =
€ i o b
— o) 2 . NENEN
oo “ B a a d M9 R RE ¢
=] : S >
na of o o = £
|9 L PP PLRLE(] Loy ) | 1
T ) B =3
[ It T - ez8
A9 = 3 py =
12
21
47.5
1/8"
PE. port
3/4"
1(P), 5(R1), 3(R2) port
Dimensions [mm]
L i 1 2 8 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 223.8 | 2648 | 305.8 | 346.8 | 387.8 | 428.8 | 469.8 | 510.8 | 551.8 | 555.8 | 596.8 | 637.8

Formula: L1 =41n + 77, L2 = 41n + 182.8 n: Stations (Maximum 12 stations)

O

(3-position: Metal seal type)

192.8

IEéﬁl&d:rﬂfgligw IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Specific Product
Precautions

l

62



Series VQC5000

VQC5000
Kit (Lead wire kit)

e Direct electrical entry type

¢ |P67 enclosure is available with use of cables with
sheath and waterproof connectors.

Electrical Wiring Specifi cations

Lead wire specifi cations Lead wire length
Lead wire
0.3 mm? x 25 cores\ As the standard electrical wiring specification VV5QC51 08 C12 LD
R used is for 12 stations or less, double wiring
i (connected to SOL. A and SOL. B) is used for Lead wire length
N the internal wiring of each station regardless 0 06m
' ! of valve and option types. a ll c
| o - Mixed single and double wiring are available = m
L - as options. 28 30m
A Refer to special wiring specifications (options) Electrical characteristics
o below. ltem Characteristic
\ Sheath Conductor resistance | g 1o
Colour: White Q/km, 20°C oriess
Terminal Lead wire Dot ! !
no. colour marking Insulation resistance 5 or more
Stati 1{ SOLA 1 Black None MQ/km, 20 °C
ation
SOLB , 14 Yellow Black Note) Cannot be used for
‘ SOL.A | 2 Brown None transfe_r wiring. i
Station 2{ SOL.B ) The minimum bending
15 Pink Black radius for cables is 20 mm.
SOL.A
Station 3{ ° 3 Red None
SOLB , 44 Blue White
Station 4{ SOL.A o 4 Orange None
SOLB 17 Purple None
Station 5{ SOLA 5 Yellow None
SOL.B o 18 Grey None
Station 6{ SOLA O 6 Pink None
i
SOL.B o 19 Orange Black
Station 7{ SOLA o 7 Blue None
i
SOLB 50 Red White
Station 8{ SOL.A o 8 Purple White
SOLB o 21 Brown White
Station 9{ SOL.A o 9 Grey Black
SOLB ; Pink Red
Station 10{ SOLA 19 White Black
SOLB 23 Grey Red
Station 11{ SOLA 11 White Red
SOL.B o 24 Black White
Stati 12{ SOLA o 12 Yellow Red
ation
SOL.B o 25 White None
CoMm. 13 Orange Red

Special Wiring Specifi cations (Option) \

Mixed single and double wiring are available as options. The maximum number of
manifold stations is determined by the number of solenoids. Count one point for a
single solenoid type and two points for a double solenoid type. The total number of
solenoids (points) must not exceed 24.

63

O
2



el pug-inunie: Series VQC5000

VQC5000
Kit (Lead wire kit)

VV5QC51

[558) G- (D@~ @@~ &~ [Usise

1/2" 3/8", 1/2"
3(R) port 4(A), 2(B) port

1
# 1\ M5 x 0.8 Ground screw
\
o A 8o A Blo }m - 5

2 B2 Bz )|

69

60
53.7
51
55.5

15|
a
n
2] (a1} 2] [} 2] (a1} 2] [} 2] (o] E) !

19
18
17
22

15.5

34

12"
69.5 1(P) port

1/8" 48
External pilot port

w
»
3

68.5

L2
43.5 L1 10
59.5 P=41

Indicator light

Manual override

ST T

@J i

IE)ér;lﬁﬂd:rﬂf:)/lgw IConstruction I Manifold ISingIe Unit VQC4000

61

184.5
(3-position: Metal seal type)
179

106

mlﬂ
D
123.3
o O

Specific Product
Precautions

=]
o
=] @
295
107.8
U
124
—f—1—
Q

179
179
(Single, Double, 3-position: Rubber seal type)

N

A

P

1]
[
2
fil
29.5
A
H

47.5

Lead wire length:
0.6m,1.5m,3m

1/8"

PE. port
3/4"

1(P), 5(R1), 3(R2) port

Dimensions [mm]
L 0 1 2 5 4 ) 6 7 8 9 10 11 12

L1 118 159 200 241 282 323 364 405 446 487 528 569

L2 171.5 2125 253.5 294.5 335.5 376.5 417.5 458.5 499.5 540.5 581.5 622.5
Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)

IConStruction I Manifold ISingIe Unit VQC5000

Exploded View
of Manifold

Specific Product
Precautions

l

SMC 64

O



Series VQC5000

VQC5000
Kit (Circular connector kit)

¢ Use of circular connectors helps streamline wiring
procedure to save labour.

¢ [P67 enclosure is available with use of waterproof
multiple connectors.

Electrical Wiring Specifi cations Cable Assembly
. 015 )
Multiple connector GAXT100-MC26- 030 (According to DIN47100)
Double wiring (connected to 050
SOL.A and SOL.B) is used for Type 26P circular connector cable assemblies can be ordered
the internal wiring of each with manifolds. Refer to manifolds orderin
station regardless of valve and : 9-
option types. Mixed single and
double wiring are available as . )
options. Refer to special wiring L Terminal | Lead wire Do_t
specifications (options) below. (60) (o colour | marking
1 White None
— ] 5 2 Brown None
— < 3 Green None
4 Yellow None
Terminal 5 Grey None
no. 6 Pink None
—SLA, 7 BI N
Station 1 [ soLB, ue one
SOLA 8 Red None
Station 2 [ soLB, , 9 Black | None
SOL.A 5 10 Violet None
Station 3 [ SOL.B 6 11 Grey Pink
SOL.A 7 12 Red Blue
Station 4 [ SOLB, g4 13 White | Green
) [ -~ SOLA, g 14 Brown | Green
Station 5 Mw%o 10 15 White | Yellow
) — o 11 16 Yellow | Brown
Station 6 SOL.B 12 -
f SOLA ° 17 White Grey
Station 7 { SOLB , 14 18 Grey Brown
SOLA, 15 19 White Pink
| ~~~SOLA
Station 8 { SOLB , 46 20 Pink Brown
SOL.A . . 21 White Blue
) — o 17 Electric characteristics
Station 9 SOLB g 22 Brown Blue
. | SOLA_ g ltem RICREI) 23 White | Red
Station 10 [ SOL.B Conductoz resistance Max. 57 24 Brown Red
SOL.A Q/km, 20 °C -
. — " —>-—0 21 — 25 White Black
Station 11 [ SOLB, 5, Voltage limit - -
t SOLA V. 5 minutes. AC 1500 # Terminal No. 26 is connected
. —"""———0 23 : - - to 25 inside the connector.
Station 12 SOLB . o4 Insulation resistance 20
| COM. | e MQ/km, 20 °C
COM. 26
Circular connector cable
assemblies
Cable Assembly part no.
length (L) 26P
1.5m GAXT100-MC26-015
3m GAXT100-MC26-030
5m GAXT100-MC26-050
Special Wiring Specifi cations (Option) ‘ Circular connector cable assembly (option)
015
Mixed single and double wiring are available as options. The maximum number of AXT100-MC26- 823 (According to MIL-C2430 8)
manifold stations is determined by the number of solenoids. Count one point for a )
single solenoid type and two points for a double solenoid type. The total number of * Please contact SMC for details.
solenoids (points) must not exceed 24.

65

O
2



el pug-inunie: Series VQC5000

VQC5000
Kit (Circular connector kit)

o
o
(@)
<
VV5QC51 8
[0 side ) Gitons)(D (2 (@@ ®®)(® [Uside] S
1/2" 3/8", 1/2"
3(R) port i4(A), 2(B) port
Circular connector (26 pins) g
made by CONINVERS M5 x 0.8 Ground screw P
=)
cu:r, o AN Blo AN Blo AN Blo AN Blo mmé}a Fd ‘E (%
o ™~ g 1 o vl = o
O ol @ 7o)
n + Tel
Bla 2] 1] 2] 1] 2] [=1] 2] 1] 2] '
! k]
of of ~ o] o S
Al | 34 %) ~ L
1/2" =
69.5 1(P) port 345 =
1/8" 48 | —
External pilot port S
68.5 %
2
L2 2
S
43.5 L1 10 O
59.5 P=41 r =
QLo
Indicator light >9o
2<
Manual override 3 g
26
AL ARL @% iy H g
8 o —
=] o
— |:|
®

184.5
(3-position: Metal seal type)
179

——
)
106

123.3

Specific Product
Precautions

=)
o o
s =} @
29.5
107.8
I
1]
\. O
ere—{—F—=
L]
0
()
o
\{l
179
179
(Single, Double, 3-position: Rubber seal type)

g = 0 #74 P & @ P l i o (=2} 0 D—
—UA9E = = i I Y B 3 B = 8]
12 o
o
21 o
L0
475 (©)
1/8" Circular connector cable assembly (>}
"PE. port / AXT100-MC26-015: 1.5 m
314" / AXT100-MC26-030: 3 m
1(P), 5(R1), 3(R2) port / AXT100-MC26-050: 5 m
:‘é‘
=)
Q@
[o))
£
| Y E—
k=]
. . o
Dimensions [mm] =
L o 1 2 3 4 5 6 7 8 9 10 11 12 =
L1 118 159 200 241 282 323 364 405 446 487 528 569 —
L2 1715 | 2125 | 2535 | 2945 | 3355 | 376.5 | 4175 | 4585 | 499.5 | 540.5 | 5815 | 622.5 S
Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations) 'g
B
c
S
O
[p——

Exploded View
of Manifold

Specific Product
Precautions

l

SMC 66

O



Series VQC5000
Construction

Plug-in Unit

Metal seal type ;@ /}D ;@ Rubber seal type | /;D % ?
=

TOHET

A)(B
VQC5100 (4)(2) VQC5101 (2)(2)
513 513
(R1)(PYR2) RH(PXR2)

PrF i
T

“ |

A)(B
VQC5201 (4)(2)

A)(B
VQC5200 )

eI E il

513
(RL(PXR2)

513
(RLYP)R2)

P PP E po Ll F
-] LA )
| ; 1 |

]
@ |

VQC5300 (A)(B) VQC5400 (A)(B) VQC5301  (A)(B) VQC5401 (A)(B)
4 2 4 2 4 2 4 2
AT ATy || AL
513 513 513 513
R1L)PYR2) (R1)P)R2) (R1)(PXR2) (R1)(P)R2)
VQC5500 (A)(B A)(B
Q (4)(2) VQC5501 (4)(2)
513 513
R(PYR2) RL(PYR2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminium die-casted 1 Body Aluminium die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminium, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts Replacement Parts

[ Coil rated voltage [I: Coil rated voltage
Example) 24 V DC: 5

A A
V118[1-[B Example) 24 V DC: 5 V118[-[1B
4 Pilot valve E A: Single/With light 4 Pilot valve E A: Single/With light
Coil type assembly Coil type B: Double, 3-position/With light

assembly B: Double, 3-position/With light
| — [ Standard (0.95W E: Single, Double, 3-position/ | — | Standard (0.95W E: Single, Double, 3-position/
Low wattage type (0.4 W) Without light

Low wattage type (0.4 W) Without light

67

O
2



f Manifold

L]
D-side end plate assembly

Series VQC5000
Exploded V

000720OA nn m_mc_m% plojiue % co_samcoo_

plojiueIA JO
MBI papojdx3

|

suonneosald plojuep Jo
1npoi o_,,_omgm_ 000SD0OA nn m_mc_w# plojiue # co_uo:.:mcoo— MBI papojdxa

|

suonnessid
10npold aN10ads

ol

p»side end plate assembly

‘ Manifold block assembly

Housing assembly and S| Unit

009X3

00SX3

09¢X3

0G¢X3

9¢TX3

(reuas) w1 s

(10103UU02 gns-q)

WM 4

(2190 uoqau 1eid)
M d

(00|q reujwia L)

L

(311m pea)

LD

(10108UU0D IejN2lID)

N

68

\)



Series VQC5000

Manifold Assembly Part No.

Housing Assembly and Sl Unit/Input Block

No. Description Part no. Note
EX600-SDN1A DeviceNet™, Negative common (PNP)
EX600-SDN2A DeviceNet™, Positive common (NPN)
EX600-SMJ1 CC-Link, Negative common (PNP)
EX600-SMJ2 CC-Link, Positive common (NPN)
EX600-SPR1A PROFIBUS DP, Negative common (PNP)
EX600-SPR2A PROFIBUS DP, Positive common (NPN)
EX600-SEN1 EtherNet/IP™ (1 port), Negative common (PNP)
EX600-SEN2 EtherNet/IP™ (1 port), Positive common (NPN)
EX600-SEN3 EtherNet/IP™ (2 port), Negative common (PNP)
1 S! Unit EX600-SEN4 EtherNet/IP™ (2 port), Positive common (NPN)
EX600-SEC1 EtherCAT®, Negative common (PNP)
EX600-SEC2 EtherCAT®, Positive common (NPN)
EX600-SPN1 PROFINET, Negative common (PNP)
EX600-SPN2 PROFINET, Positive common (NPN)
EX600-WEN1 Note) | Base module EtherNet/IP™, Negative common (PNP)
EX600-WEN?2 Note) | Base module EtherNet/IP™, Positive common (NPN))
EX600-WPN1 Note) | Base module PROFINET, Negative common (PNP)
EX600-WPN2 Note) |  Base module PROFINET, Positive common (NPN)
EX600-WSV1 Note) | Remote module, Negative common (PNP)
EX600-WSV2 Note) | Remote module, Positive common (NPN)
EX600-DXNB NPN input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXPB PNP input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXNC NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs
EX600-DXNC1 NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXPC PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs
Digital Input Unit EX600-DXPC1 PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXND NPN input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXPD PNP input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXNE NPN input, D-sub connector, 25 pins, 16 inputs
EX600-DXPE PNP input, D-sub connector, 25 pins, 16 inputs
EX600-DXNF NPN input, Spring type terminal box, 32 pins, 16 inputs
EX600-DXPF PNP input, Spring type terminal box, 32 pins, 16 inputs
2 EX600-DYNB NPN output, M12 connector, 5 pins (4 pcs.), 8 outputs
EX600-DYPB PNP output, M12 connector, 5 pins (4 pcs.), 8 outputs
- . EX600-DYNE NPN output, D-sub connector, 25 pins, 16 outputs
Digital Output Unit -
EX600-DYPE PNP output, D-sub connector, 25 pins, 16 outputs
EX600-DYNF NPN output, Spring type terminal box, 32 pins, 16 outputs
EX600-DYPF PNP output, Spring type terminal box, 32 pins, 16 outputs
EX600-DMNE NPN input/output, D-sub connector, 25 pins, 8 inputs/outputs
Digital Input/Output Unit EX600-DMPE PNP i'nput/output, D-Sl.Jb connector,' 25 pins, 8 in.puts/o.utputs
EX600-DMNF NPN input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
EX600-DMPF PNP input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
Analogue Input Unit EX600-AXA M12 connector, 5 pins (2 pcs.), 2-channel input
Analogue Output Unit EX600-AYA M12 connector, 5 pins (2 pcs.), 2-channel output
Analogue Input/Output Unit EX600-AMB M12 connector, 5 pins (4 pcs.), 2-channel input/output
EX600-ED2 M12 power supply connector, B-coded
EX600-ED2-2 M12 connector, 5 pins, Max. supply current 2 A, with DIN rail mounting bracket
EX600-ED3 7/8 inch power supply connector
3 End plate EX600-ED3-2 7/8 inch connector, 5 pins, Max. supply current 8 A, with DIN rail mounting bracket
EX600-ED4 M12 power supply connector IN/OUT, A-coded, Pin arrangement 1
EX600-ED4-2 M12 connector, (4 pins/5 pins) IN/OUT, with DIN rail mounting bracket
EX600-ED5 M12 power supply connector IN/OUT, A-coded, Pin arrangement 2
EX600-ED5-2 M12 connector, (4 pins/5 pins) IN/OUT, with DIN rail mounting bracket
4 Valve plate EX600-ZMV1 Enclosed parts: Round head screws (M4 x 6) 2 pcs., Round head screws (M3 x 8) 4 pcs.
EX500-S103 EtherNet/IP™, PROFINET, Negative common (PNP)
5 SI Unit EX500-Q001 DeviceNet™, PROFIBUS DP, EtherNet/IP™, Positive common (NPN)
EX500-Q101 DeviceNet™, PROFIBUS DP, EtherNet/IP™, Negative common (PNP)

Note) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.

69

O

SvVC




Manifold Assembly Part No.

Exploded View of Manifold ~ Series VQCSOOO

Housing Assembly and Sl Unit/Input Block

No. Description Part no. Note
EX260-SDN1 DeviceNet™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SDN2 DeviceNet™, M12 connector, 32 outputs, Positive common (NPN) -
EX260-SDN3 DeviceNet™, M12 connector, 16 outputs, Negative common (PNP) 5
EX260-SDN4 DeviceNet™, M12 connector, 16 outputs, Positive common (NPN) %,
EX260-SRP1 PROFIBUS DP, M12 connector, 32 outputs, Negative common (PNP) b t%
EX260-SRP2 PROFIBUS DP, M12 connector, 32 outputs, Positive common (NPN)
EX260-SRP3 PROFIBUS DP, M12 connector, 16 outputs, Negative common (PNP) -
EX260-SRP4 PROFIBUS DP, M12 connector, 16 outputs, Positive common (NPN) g
EX260-SRP5 PROFIBUS DP, D-sub connector, 32 outputs, Negative common (PNP) g
EX260-SRP6 PROFIBUS DP, D-sub connector, 32 outputs, Positive common (NPN) —
EX260-SRP7 PROFIBUS DP, D-sub connector, 16 outputs, Negative common (PNP) c
EX260-SRP8 PROFIBUS DP, D-sub connector, 16 outputs, Positive common (NPN) %
EX260-SMJ1 CC-Link, M12 connector, 32 outputs, Negative common (PNP) %
EX260-SMJ2 CC-Link, M12 connector, 32 outputs, Positive common (NPN) §
6 S1 Unit EX260-SMJ3 CC-Link, M12 connector, 16 outputs, Negative common (PNP) —
EX260-SMJ4 CC-Link, M12 connector, 16 outputs, Positive common (NPN) E -
EX260-SEC1 EtherCAT®, M12 connector, 32 outputs, Negative common (PNP) _i g
EX260-SEC2 EtherCAT®, M12 connector, 32 outputs, Positive common (NPN) § g
EX260-SEC3 EtherCAT®, M12 connector, 16 outputs, Negative common (PNP) u%“é
EX260-SEC4 EtherCAT®, M12 connector, 16 outputs, Positive common (NPN) | ———
EX260-SPN1 PROFINET, M12 connector, 32 outputs, Negative common (PNP) s .,
EX260-SPN2 PROFINET, M12 connector, 32 outputs, Positive common (NPN) § é
EX260-SPN3 PROFINET, M12 connector, 16 outputs, Negative common (PNP) % g
EX260-SPN4 PROFINET, M12 connector, 16 outputs, Positive common (NPN) a
EX260-SEN1 EtherNet/IP™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SEN2 EtherNet/IP™, M12 connector, 32 outputs, Positive common (NPN)
EX260-SEN3 EtherNet/IP™, M12 connector, 16 outputs, Negative common (PNP) 8
EX260-SEN4 EtherNet/IP™, M12 connector, 16 outputs, Positive common (NPN) 8
EX260-SPL1 EtherNet POWERLINK, M12 connector, 32 outputs, Negative common (PNP) O
EX260-SPL3 EtherNet POWERLINK, M12 connector, 16 outputs, Negative common (PNP) 9
EX250-SPR1 PROFIBUS DP, Negative common (PNP)
EX250-SMJ2 CC-Link, Positive common (NPN)
EX250-SAS3 AS-Interface, 8 in/8 out, 31 slave modes, 2 power supply systems, Negative common (PNP) =
EX250-SAS5 AS-Interface, 4 in/4 out, 31 slave modes, 2 power supply systems, Negative common (PNP) 3
7 Sl Unit EX250-SAS7 AS-Interface, 8in/8 out, 31 slave modes, 1 power supply system, Negative common (PNP) ED
EX250-SAS9 AS-Interface, 4 in/4 out, 31 slave modes, 1 power supply system, Negative common (PNP)| B2
EX250-SCA1A CANopen, Negative common (PNP)
EX250-SDN1 DeviceNet™, Negative common (PNP) )
EX250-SEN1 EtherNet/IP™, Negative common (PNP) %
EX250-IE1 M12, 2 inputs g
8 Input block EX250-1E2 M12, 4 inputs —
EX250-IE3 M8, 4 inputs s
9 End plate assembly EX250-EA1 Direct mountlng ‘g
EX250-EA2 DIN rail mounting 3
10 | Sl Unit EX126D-SMJ1 CC-Link, Positive common (NPN) é
11 Terminal block plate VVQC1000-74A-2 For EX126 S| Unit mounting —
12 D-sub connector housing assembly VVQC1000-F25-1 F kit, 25 pins é 5
13 Flat ribbon cable housing assembly VVQC1000-P26-1 P k?t’ 26 p?ns 5 "%
VVQC1000-P20-1 P kit, 20 pins =
14 | Terminal block box housing assembly VVQC1000-T0-1 T kit L%B
VVQC1000-L25-0-1 L kit with 0.6 m lead wire | ou—
15 Lead wire housing assembly VVQC1000-L25-1-1 L kit with 1.5 m lead wire g ©
VVQC1000-L25-2-1 L kit with 3.0 m lead wire £
16 | Circular connector housing assembly VVQC1000-M26-1 M kit, 26 pins % §
%D.
B—

O

SVC 70



Series VQC5000

Manifold Assembly Part No.

Housing Assembly and Sl Unit/Input Block
Refer to pages 33 and 34 in this catalogue.

D-side end plate assembly

(7 D-side end plate assembly part no.

VVQC5000-3A-2 F

Thread type

Rc

G

NPTF

Z|H|m

NPT

U-side end plate assembly

@0 U-side end plate assembly part no.

VVQ5000-2A- 1 F -L-W

Thread type
— Rc
F G
T NPTF
N NPT

Mounting screw — U-side
@D Screw part no.

AXT632-60-3 ‘ M8 x 30 ‘

71

O

Manifold block assembly

(8 Manifold block assembly part no.

VvvQC5000-1[A]-[D]-[ ]

Thread type
Type (Thread port only)
— [ Re
Note) Tie-rods (2 pcs.) F G
for additional T NPTF
stations included. N NPT
Wiring specifi _cations @ ® Port size
D Double wiring Symbol Port size
S Single wiring 03 [3/8"
04 [1/2"
B 1/2" bottom ported

Replacement Parts

A

V118[]1-[1B

Pilot valve 'Q E
VQC5000 assembly | ¢Coil type

[I: Coil rated voltage
Example) 24 V DC: 5
A: Single/With light
B: Double, 3-position/With light

[ — [ standard (0.95 W,

E: Single, Double, 3-position/

Without light

(9 Tie-rod assembly part no. (2 units)
‘ VQC5000

VVQC5000-TR-[J

Note 1) Please order when reducing the number
of manifold stations. When increasing
the number of stations, additional orders
are not required since they are included
in the manifold block assembly.

Note 2) Number of stations, 02 to 16




Exploded View of Manifold ~ Series VQCSOOO

List of Valves, Options, and Mounting Bolts

Number of

aptons Valve and options Bolt part no. (Sctsy.) Note Option mounting diagram
Single valve AXT632-25-4 4 = =
9 (M4 x 50) Valve
O 1=} 1=} 1=} 1=}
Blanking plate AXT632-25-8 .
(VVQ5000-10A- %) (M4 x 17) 4 | For manifold Ianmg Iat
Valve + Individual SUP spacer (1) AXT632-25-5 (M4 x 82) 4 For manifold
1_03
(VVQS5000-P-5 - 04) (2) AXT632-25-10 (M4 x 34) 2
Valve + Individual EXH spacer (1) AXT632-25-5 (M4 x 82) 4 )
VVO5000-R- L - %3 For manifold
WQ st o4 (2) AXT632-25-10 (M4 x 34) 2
Valve + Restrictor spacer (1) AXT632-25-5 (M4 x 82) 4 @\
1
(VVQ5000-20A-5) (2) AXT632-25-10 (M4 x 34) 2 | Not necessary when mounting the sub-plate. = = ;@
Val
Valve + Release valve spacer (1 AXT632-25-5 (M4 x 82) 4 For manifold ae
1
(VVQ5000-24A- 5 D) (2) AXT632-25-10 (M4 x 34) 2 - Sgaczf u%l
Valve + Double check spacer (D) AXT632-25-6 (M4 x 114) 4
1 with residual pressure exhaust
(VVQ5000-25A- 2) (2) AXT632-66-1 (M4 x 64) 2 | Not necessary when mounting the sub-plate.
Valve + SUP stop valve spacer (D AXT632-25-5 (M4 x 82) 4
1
(VVQ5000-37A-5) (2) AXT632-25-10 (M4 X 34) 2 | Not necessary when mounting the sub-plate.
Valve + Interface regulator (1) AXT632-25-6 (M4 x 114) 4
A
(ARBQ5000-00 B- %) (2) AXT632-66-1 (M4 x 64) 2 | Not necessary when mounting the sub-plate.
(D AXT632-25-4 (M4 x 50) 4 ==
Blanking plate + SUP stop valve . Blanking plate /®
For manifold —g‘%g
(Top) (Bottom) Spacer
(2) AXT632-25-10 (M4 x 34) 2 muoTomuy
Valve + Individual SUP + Individual EXH (1) AXT632-25-6 (M4 x 114) 4
(Top) (Bottom) For manifold
(Bottom) (Top) (2) AXT632-25-11 (M4 X 66) 2
Valve + Restrictor + Individual SUP or Individual EXH | (1) AXT632-25-6 (M4 x 114) 4 | For manifold
(Top) (Top) * The individual EXH cannot
(Bottom) (Bottom) (2) AXT632-25-11 (M4 X 66) 2 | be mounted on the top. <1\ !
Valve + SUP stop valve + Individual SUP, (1) AXT632-25-6 (M4 x 114) 4 P
(Top) Individual EXH or For manifold ] =
Restrictor (Bottom) (2 AXT632-25-11 (M4 x 66) 2 Valve
Valve + Double check spacer with + Individual SUP or | () AXT632-25-7 (M4 X 146) 4 Spacer (Top) =
residual pressure exhaust  Individual EXH @ For manifold Spacer (Bottom) L
5 (Top) (Bottom) AXT632-66-2 (M4 x 96) 2 oo O 0O
Valve + Interface regulator + Double check spacer with | (1) AXT632-25-14 (M4 x 178) 4
(Top) residual pressure exhaust For manifold
(Bottom) (2) AXT632-66-3 (M4 x 128) 2
Valve + Interface regulator + Individual SUP, (1) AXT632-25-7 (M4 x 146) 4 | For manifold
(Top) Individual EXH or * The individual EXH and restrictor
Restrictor (Bottom) | (@ AXT632-66-2 (M4 x 96) 2 | cannot be mounted on the top.
o el
AXT632-25-5 (M4 x 82 4 .
Blanking + SUP stop  + Individual © 632-25-5 (M4 x 82) Blanking plate _] 2
plate valve SUP For manifold Spacer (Top) -
(Top) (Bottom) Spacer (Bottom)
(2) AXT632-25-11 (M4 X 66) 2 ey e
Valve + SUP stop valve (Top) + Individual @ AXT632-25-7 (M4 x 146) 4
SUP (Middle, Bottom) + Individual EXH For manifold ®\ ;@
(Middle, Bottom) (2) AXT632-25-12 (M4 x 98) 2 EJ. =
Valve + Double check spacer with residual pressure | (1) AXT632-25-14 (M4 x 178) 4 Single valve
3 exhaust (Top) + Individual SUP (Middle, Bottom) For manifold Spacer (Top) =
+ Individual EXH (Middle, Bottom) (2) AXT632-66-3 (M4 x 128) 2 I
Spacer (Middle)
Valve + Spacer (Top): Interface regulator (1) AXT632-25-14 (M4 x 178) 4 | For manifold i
Spacer (Middle): “Individual SUP or Individual EXH’/*Restrictor” # The individual EXH and restrictor Spacer (Bottom)
(2) AXT632-66-3 (M4 x 128) 2| cannot be mounted on the top. R

Spacer (Bottom): “Restrictor"“Individual SUP or Individual EXH"

Note) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.

SvVC

O

72

IE):JFIZIRAd:rﬂf:)/IEW IConstruction I Manifold ISingIe Unit VQC4000

Specific Product
Precautions

IConStruction I Manifold ISingIe Unit VQC5000 [

Exploded View
of Manifold

Precautions

Specific Product

l



Series VQC5000
Specific Product Precautions 1
Be sure to read this before handling. Refer to the back cover for Safety Instructions.

For 3/4/5 Port Solenoid Valve Precautions, refer to “Handling Precautions for SMC
Products” and the Operation Manual on the SMC website, http://www.smc.eu

] Valve Mounting

A\ Caution

] Continuous Duty \

A Warning

When the product is continuously energised for a long
period of time (10 minutes or longer), select the low
wattage type (DC specification). The AC type cannot
be continuously energised for 10 minutes or longer. If
anything is unclear, please contact SMC.

After confi rming that the gasket is installed correctly,
securely tighten the mounting screws according to the
tightening torque shown below.

Proper tightening torque [N-m]
1t01.8

] Manual Override

AWarning

Mounting screw (M4)

Since connected equipment will operate when the
manual override is activated, confi rm that conditions
are safe prior to activation.

H VQC5000
Push type (Tool required)
Bore 26.1
Push down the manual override
P button with a small screwdriver,
o~ etc., until it stops.

The manual override will return
when released.

] Lead Wire Connection

/\ Caution

button with a small flat head « If the junction cover (1) of the sub-plate is removed, you can see

screwdriver until it stops, and . . .
d) turn it clockwise 90° mpmck it. the plug-in type terminal block 2) mounted inside the sub-plate.
Bore 26.1 Turn it counterclockwise to

release it.

@PUSH phay

= TURN

(D " TLock]

Locking type (Manual) Push down the manual override
button with a small flat head
screwdriver or with your finger
until it stops, and turn it

d) * The terminal block is marked as follows. Connect wiring to each

14 mm i
clockwise 90° to lock it. Turn it of the power supply terminals.
counterclockwise to release it. Terminal block _
Vodel marking A COM B T
odel
PUSH 4 ; :
VQC510; A side COM — —
GD) TURN vQC5209 A side coMm B side —
u]
. LOCK 3
A\ Caution vQC5409 A side COoM B side —
Do not apply excessive torque when turning the 6

locking type manual override. (0.1 N-m or less
9 byp ( ) Note 1) There is no polarity. It can also be used as —COM.

Note 2) The sub-plate is double wired even for the VQC5102.

Locking type (Tool required) Push down the manual override | Plug-in sub-plate (With terminal block)
* Applicable terminal: 1.25-3s, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5

73

O
2






A\ Safety Instructions

== == e e e - — = —-—-—---

labels of “Caution,”

These safety instructions are intended to prevent hazardous situations and/or
equipment damage. These instructions indicate the level of potential hazard with the
“Warning”

or “Danger .” They are all important notes for safety

and must be followed in addition to International Standards (ISO/IEC)*1), and other

safety regulations.
Caution indicates a hazard with a low level of risk 1
which, if not avoided, could result in minor or moderate
injury.

/\ Caution:
A\ Warning :
A\ Danger :

Warning indicates a hazard with a medium level of risk
which, if not avoided, could result in death or serious
injury.

Danger indicates a hazard with a high level of risk
which, if not avoided, will result in death or serious injury. I

R e L Ty |

AWarning

1. The compatibility of the product is the responsibility of the person

who designs the equipment or decides its specifications.

Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs the
equipment or decides its specifications based on necessary analysis and test results.
The expected performance and safety assurance of the equipment will be the
responsibility of the person who has determined its compatibility with the product. This
person should also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly. The assembly,
operation and maintenance of machines or equipment including our products must be
performed by an operator who is appropriately trained and experienced.

3.Do not service or attempt to remove product
machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed
after measures to prevent falling or runaway of the driven objects have been
confirmed.

2. When the product is to be removed, confirm that the safety measures as mentioned
above are implemented and the power from any appropriate source is cut, and read
and understand the specific product precautions of all relevant products carefully.

3. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in
a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation,
space, shipping, vehicles, military, medical treatment, combustion and recreation, or
equipment in contact with food and beverages, emergency stop circuits, clutch and
brake circuits in press applications, safety equipment or other applications unsuitable
for the standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property, or animals
requiring special safety analysis.

4.Use in an interlock circuit, which requires the provision of double interlock for possible
failure by using a mechanical protective function, and periodical checks to confirm
proper operation.

N

and

IN

#1) 1SO 4414: Pneumatic fluid power — General rules relating to systems.
1SO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
1SO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and
Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1.The warranty period of the product is 1 year in service or 1.5 years
after the product is delivered, wichever is first.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly
our responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty
terms and disclaimers noted in the specified catalogue for the particular
products.

#2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum
pad or failure due to the deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly
prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries
involved in the transaction. Prior to the shipment of a SMC product to
another country, assure that all local rules governing that export are known
and followed.

A\ Caution

1. The product is provided for use in manufacturing industries.

The product herein described is basically provided for peaceful use in manufacturing
industries.

If considering using the product in other industries, consult SMC beforehand and exchange
specifications or a contract if necessary.

If anything is unclear, contact your nearest sales branch.

A\ Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been qualified by
type approval tests relevant to the metrology (measurement) laws of each country.
Therefore, SMC products cannot be used for business or certification ordained by the
metrology (measurement) laws of each country.

SMC Corporation (Europe)

’ A Safety Instructions

Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

Austria @ +43(0)2262622800  www.smc.at office@smc.at Lithuania @ +3705 2308118 www.smelt.It info@smclt.lt

Belgium @ +32(0)33551464  www.smc.be info@smc.be Netherlands @& +31(0)205318888  www.smc.nl info@sme.nl

Bulgaria & +359 (0)2807670  www.smc.hg office@smc.hg Norway @& +47 67129020 Www.Smc-norge.no post@sme-norge.no

Croatia @ +385(0)13707288  www.smc.hr office@sme.hr Poland @ +48 222119600 www.sme.pl office@sme.pl

Czech Republic & +420 541424611  www.smc.cz office@sme.cz Portugal @& +351 214724500  www.smc.eu apoioclientept@smc.smces.es
Denmark B +45 70252900 www.smedk.com smc@smedk.com Romania @ +40 213205111 WWW.smcromania.ro smcromania@smcromania.ro
Estonia @ +372 6510370 www.smepneumatics.ee  smc@smepneumatics.ee | Russia @& +7 8127185445 www.sme-pneumatikru - info@sme-pneumatik.ru
Finland & +358 207513513 www.smcfi smcfi@sme.fi Slovakia & +421(0)413213212  www.smc.sk office@smc.sk

France @ +33(0)164761000  www.sme-france.fr info@smc-france.fr Slovenia @ +386 (073885412 www.Smc.Si office@sme.si

Germany @ +49 (0)61034020  www.smc.de info@smc.de Spain @& +34 945184100 WWW.Smc.eu post@sme.smees.es

Greece @+302102717265  www.smchellas.gr sales@smchellas.gr Sweden 2 +46 (0)86031200  www.smc.nu post@sme.nu

Hungary @ +36 23513000 www.sme.hu office@sme.hu Switzerland @ +41(0)523963131  www.smc.ch info@sme.ch

Ireland % +353 (0)14039000  www.smcpneumatics.ie  sales@smcpneumatics.ie | Turkey @+902124890440  www.smepnomatik.com.tr  info@smcpnomatik.com.tr
Italy @ +39 0292711 www.smcitalia.it mailbox@smcitalia.it UK @ +44(0)845 1215122 www.smc.uk sales@smc.uk

Latvia & +371 67817700 Www.smc.lv info@sme.lv

SMC CORPORATION _Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Phone: 03-5207-8249 FAX: 03-5298-5362

1st printing XW printing XW 00 Printed in Spain

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.



